


Table Of Contents

Product Series Information 3
General Assembly Terms & Tips 5
General Assembly Instructions 8
Technical Data 14
Aluminum Extrusions 17
Structural Shapes 20
Machining Services 22
Fasteners 28
Corner Brackets 35
Gusset Corner Brackets 40
Joining Strips 41
Joining Plates 43
45° Supports 50
Hinges 51
Latches 61
Linear Motion 62
Door Handles 63
Door Glides 64
Panels 65
Retainers 66
Panels Mount Block 67
Clamps 68
Feet 69
End Mount Base Plates 71
T-Slot Mount Base Plates 73
End Mount Caster Base Plates 75
T-Slot Mount Caster Base Plates 76
Pressure Manifolds 77
Access Hole Jigs 78
Endcaps 79
Casters 80
Accessories 82
Assembly Tools 85
Index 87

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca -2- 514.576.8037



Product Series Information Product Series Information

Faztek Product Series 40 Series
Faztek offers extrusions and components in four specific series - 10, 13, 15, and 40. Each series contains a grouping of compatible extrusion profiles, 40 Series extrusions and components are based on metric units. This series is also commonly used for applications such as larger guarding projects,
components, accessories and fasteners. The following pages provide a general overview of each product series. partitions, work stations and many others.
10 Series All 40 Series extrusion profiles share these characteristics:
10 Series extrusions and components are primarily used for light-weight applications where heavy loads are not applied. Common product uses may « Based on 40mm increments
include machine guards, small carts, racks, end of arm tooling, testing equipment and much more. + 8.13mm T-slot opening
* 20mm center line
All 10 Series extrusion profiles share these characteristics: « Smooth surface profile (no alignment grooves)
» Based on 1.00” increments
* 0.25” T-slot opening Prefix Category
* 0.50” center line 40AC Accessories
* Both smooth and alignment groove profiles available 40BP Base Plates
Prefix Category 40CB Corner Brackets
10AC Accessories 40FA Fasteners
108P Base Plates 40FF Floor-To-Frame
10CB Corner Brackets 20H Hinges
10QE Extrusions 40JP Joining Plates/Strips
10FA Fasteners 40QE Smooth Extrusions
10FAC Fastener Combos 40SP Supports
10FF Floor-To-Frame
10HI Hinges
10JP Joining Plates/Strips Grooved vs. Smooth Extrusion Profiles
. : Faztek offers T-slotted aluminum extrusions in both grooved and smooth profiles. Although both types are functionally
10LM Linear Motion L ) . - )
the same, there are certain instances where a smooth profile may suit your application better than a grooved profile, and
10MA Machining Service vice versa.
10MFA Metric Fasteners
- Smooth profiles are great for use in highly visual applications such as tradeshow displays, marketing displays, and
10QE Smooth Extrusions advertising units. Other applications where cleanliness is a high priority are also best suited with smooth profiles, since
10SP Supports there are no groves to collect dust and debris. Some examples may include markets such as food, medical, agricultural ™
10SS Structural Shapes and other similar industries.
15 Series
15 Series extrusions and components are the most popular within the Faztek product line-up. Common product uses may include machine guards,
perimeter guards, machine bases, testing equipment, conveyors, work stations, mezzanines, material handling units and much more. The Use of Metric Fasteners with Fractional Extrusion Profiles
i . . o Using metric assembly tools? Accustomed to metric fasteners? Faztek
All 15 Series extrusion profiles share these characteristics: offers a large selection of metric fasteners and T-nuts which are
* Based on 1.50" increments compatible with all of our T-Slotted extrusions, even fractional profiles!
+ 0.315” or 0.320” T-slot opening
* 0.75" center line _ _ Choose from metric:
» Both smooth and alignment groove profiles available « Screws
Prefix Category . 'Iioltrs] .
15AC Accessories * Anchor Fasteners
* End Fasteners
15BP Base Plates
15CB Corner Brackets
15QE Extrusions
15FA Fasteners
15FAC Fastener Combos
15FF Floor-To-Frame
15HI Hinges
15JP Joining Plates/Strips
15LM Linear Motion
15MA Machining Service
15MFA Metric Fasteners
15QE Smooth Extrusions
15SP Supports
158M Smooth Extrusions
15SS Structural Shapes

514.576.8037 -3- www.Faztek.ca www.Faztek.ca -4 - 514.576.8037



General Assembly Tips & Tricks General Assembly Tips & Tricks

General Assembly Terms & Tips Aligning Extrusions
When assembling projects with Faztek extrusions and components, it is very important to “think ahead” and plan before starting your project. The time it Aligning extrusions properly ensures a clean aesthetic look and proper assembly. When connecting extrusions, align the grooves on each profile to
takes to assemble depends greatly on the size and scope of your project; however a quick overview and basic planning can reduce time and eliminate make a clean 90° connection. Grooves are not available on all profiles.

the need to rework certain steps.
Aligning Extrusions with Grooves

Pre-Loading
Pre-loading is a term used when describing a part (bracket, plate, etc.) which has been “loaded” with fasteners, usually a combination of screws and
t-nuts. This is an important step which can save you time when assembling your project.

Pre-load Fasteners Slide Pre-Loaded Part into T-Slot

Grooves

Ball End Allen Wrench
When assembling extrusions using anchor fasteners, use a ball end allen wrench to allow tightening at an angle.

&L i

Double and Triple T-nuts

When possible, use double or triple economy T-nuts to save time and increase efficiency. These styles of T-nuts are not suitable for all applications, so
look for the “FAST assembly” icons throughout the catalog for recommendations.

Double Economy T-Nut Triple Economy T-nut

Soft Face Mallet Use
Use a soft face mallet when installing the following accessories:

Door Track Panel Stiffener U-Shaped Panel Gasket T-Slot Cover Wire Edging
-

Captive T-Slots

Captive T-Slots are extrusion T-slots which have been closed off on each side due to the addition of other extrusions, accessories or any other
component. It is important that you think ahead when assembling your project to avoid closing a T-slot which must be open to accept additional
fasteners and components. This is especially important when using T-nuts other than the drop-in style, which can be added to a captive T-slot. If using
standard T-nuts, you may want to have a few extra drop-in T-nuts on hand in case of an “emergency” for quick fixes.

Captive T-Slot
(no access from sides)
N CH

Proper Torque
To get proper torque on fasteners, use an “L” wrench and a cheater pipe for greater leverage.

Captive T-Slot

514.576.8037 -5- www.Faztek.ca www.Faztek.ca -6 - 514.576.8037



General Assembly Tips & Tricks

Panel Installation

Before installing panels with a protective covering, cut back the film approximately one inch around the perimeter to temporarily protect from scratches.

Rubber Gasket

When installing rubber panel gasket, start and finish with a 45° cut. Also snip the back surface when continuing through corners.

Rubber Door Seal

When installing rubber door seal, start one side in the T-slot and work your way toward the other end. Push firmly to ensure a proper fit.

514.576.8037 -7 - www.Faztek.ca

General Assembly Instructions

General Assembly Instructions

The following instructions are to assist you in assembling your projects. Below you will find detailed information on how to assemble each type of
fastening and method and basic accessories.

To see similar type applications in the completed state, go to www.faztek.net. For any questions or additional information, contact the Faztek Inside
Sales Team at 260-482-7544 or send an email to insidesales@faztek.net.

Basic Order of Operations

1. Print and organize drawings and bill of materials

2. Unpack project

3. Organize product:
a. Bars in order according to the tag numbers
b. Panels in order according to the tag numbers
c. Parts grouped by part type

4. Pre-load all brackets and plates

Anchor Fasteners

Anchor Fastener: Barrel fastener to be used in conjunction with the counterbore machining service.

Tools needed:

» 15 series: 13TL1202 - 1/4” ball end t-handle allen wrench
» 10 series: 13TL1201 - 3/16” ball end t-handle allen wrench

Assembly instructions using anchor fasteners:
1. Align the two extrusions at a 90° angle

2. Drop the anchor into the counterbore on one extrusion and the connected t-nut in the slot of the other extrusion
3. Position extrusions and tighten fasteners

End Fasteners

End Fastener: Screw & butterfly clip combination used to create a non-rotating 90deg connection. To be used in conjunction with tapping and access
hole machining services.

Tools needed:

» 15 series: 13TL1201 - 3/16” ball end t-handle allen wrench
* 10 series: 13TL1203 - 5/32” ball end t-handle allen wrench

Assembly instructions using end fasteners:
1. Put the bolt thru the clip and thread into the tapped extrusion
2. Join the two extrusions by sliding the end fastener into the T-Slot of the mating extrusion

a. Be sure the access hole is aligned with the bolt head to allow access for the tool
3. Tighten fastener with tool thru the access hole

www.Faztek.ca -8- 514.576.8037



General Assembly Instructions General Assembly Instructions

T-Anchor Fasteners Joining Plates
T-Anchor Fastener: Barrel fastener to be used in conjunction with the counterbore machining service for “SM” type material only. Joining Plates: Machined plate to join two extrusions on the face of the profiles.

Tools needed: Tools needed:
» 15 series: 13TL1201 - 3/16” ball end t-handle allen wrench » 15 series: 13TL1201 - 3/16” ball end t-handle allen wrench
* 10 series: 13TL1203 - 5/32” ball end t-handle allen wrench
Assembly instructions using t-anchor fasteners:

1. Insert barrel into the counterbore of one extrusion Assembly instructions using joining plate:
2. Insert the “T” bar w/ spring into the extrusion hole 1. Insert screw thru bracket and thread slightly into t-nut
3. Position extrusions and tighten fasteners 2. Slide bracket with loaded hardware into the slot of the extrusion

3. Align to desired position and tighten fasteners

Machiningless Fasteners

Machiningless Fastener: A mating block to allow two extrusions to be joined with machining. Door Tracks

Door Track: A profile that snaps into an extrusion T-Slot creating mini-slots for sliding doors.

PN
‘ !
l S
Tools needed:

* 13TL1201 - 3/16” ball end t-handle allen wrench Tools needed:
* 13TL1203 - 5/32” ball end t-handle allen wrench * Rubber mallet
« 3/8” drive socket wrench w/ 2" socket

Assembly instructions using door tracks:

Assembly instructions using machiningless fasteners: 1. Set the track over the T-Slot of the desired extrusion
1. Align the two extrusions at a 90deg angle a. Door track with bumps in the track are lower and the track without bumps is the upper
2. Drop the anchor into the counterbore on one extrusion and the connected t-nut in the slot of the other extrusion 2. Start from one end and pound in with a rubber mallet

3. Position extrusions and tighten fasteners

Panel Stiffener
Corner Brackets / Gussets Panel Stiffener: An aluminum profile that snaps on the edge of a plastic panel to improve the rigidity, as well as an option for a built in handle.
Corner Brackets / Gussets: Machined bracket to join two extrusions in the corner of the profiles.

< =
|~

Tools needed:

Tools needed: * Rubber mallet

* 15 series: 13TL1201 - 3/16” ball end t-handle allen wrench

< 10 series: 13TL1203 - 5/32" ball end t-handle allen wrench Assembly instructions using panel stiffener:
1. Set the stiffener over the edge of the panel

Assembly instructions using corner brackets & gussets: 2. Start from one end and pound onto the panel with a rubber mallet

1. Insert screw thru bracket and thread slightly into t-nut
2. Slide bracket with loaded hardware into the slot of the extrusion
3. Align to desired position and tighten fasteners

514.576.8037 -9- www.Faztek.ca www.Faztek.ca -10 - 514.576.8037



General Assembly Instructions General Assembly Instructions

Panel Gasket Wire Edging

Panel Gasket: Molded rubber used to wedge the plastic panel against the T-Slot to prevent rattling. Wire Edging: A rubber coated metal used to form on the edge of a sharp edge of a plastic or wire panel.

Tools needed: Tools needed:
« Cutter « Cutter
Assembly instructions using panel gasket: Assembly instructions using wire edging:
1. Set the small section of the gasket and press it into the start of one side of the panel with the top of the gasket angled up against the panel. 1. Cut the wire edging to the length of the panel or the opening being edged
a. Gasket is to be installed on the outside of the guard 2. Press onto one end of the panel or the opening being edged
2. Press the gasket in all the way along the side 3. Press the edging on the rest of the panel or the opening being edged

3. Snip the back of the gasket to turn the corner and continue along the remaining sides

Door Seal

U-Shaped Panel Gasket Door Seal: Molded rubber used to create a seal between a door and the door jams.
U-Shaped Panel Gasket: Molded plastic used to wedge the plastic panel in the T-Slot to prevent rattling.

Tools needed:

Tools needed: * Cutter
« Cutter
* Rubber Mallet Assembly instructions using door seal:
1. Cut the seal to the length of the given extrusion
Assembly instructions using u-shaped panel gasket: 2. Press into one side of the T-Slot of the extrusion
1. Cut the gasket to the length of the given extrusion 3. Press the seal all the way to the other end of the profile

2. Press into the T-Slot of the extrusion
3. Set panel over the gasket and pound in with a rubber mallet
Panel Retainers

Panel Retainers: “S” shaped bracket used to add additional stiffness and security to a plastic panel.

T-Slot Cover

T-Slot Cover: Molded plastic used to cover the T-Slot to keep dirt out or to give a clean, smooth look.

Tools needed:
* 15 series: 13TL1201 - 3/16” ball end t-handle allen wrench

Tools needed: 10 series: 13TL1203 - 5/32” ball end t-handle allen wrench
* Cutter
* Rubber Mallet Assembly instructions using panel retainer:
1. Cut the seal to the length of the given extrusion
Assembly instructions using t-slot cover: 2. Press into one side of the T-Slot of the extrusion
1. Cut the cover to the length of the given extrusion 3. Press the seal all the way to the other end of the profile

2. Press into one side of the T-Slot of the extrusion
3. Press or pound the cover all the way to the other end of the profile

514.576.8037 -1 - www.Faztek.ca www.Faztek.ca -12 - 514.576.8037



General Assembly Instructions

Mesh Retainers
Mesh Retainers: “S” shaped bracket used to add additional stiffness and security to a mesh panel.

Tools needed:
» 15 series: 13TL1201 - 3/16” ball end t-handle allen wrench
* 10 series: 13TL1203 - 5/32” ball end t-handle allen wrench

Assembly instructions using panel retainer:
1. Insert screw thru hole of upper hole in bracket and thread slightly into t-nut
2. Slide bracket with loaded hardware into the T-Slot of the extrusion
3. Position slotted hole of retainer with an open square in the wire panel
4. While holding the backing plate against the back of the mesh panel, insert bolt thru the slotted hole of the retainer and thread into the backing plate

514.576.8037 -13 - www.Faztek.ca

Technical Data

Technical Data

Drop-Lock Feature

Faztek’s T-Slotted aluminum extrusion profiles contain a slight taper from the extrusion face to the T-Slot center. This taper, called the “drop-lock”, allows
the extrusion to be drawn up to the mating surface causing it to act as a lock washer.

Extrusion Angle
“SM” Prefix Profiles 1.0°
“EX” Prefix Profiles 2.0°
“QE” Prefix Profiles 2.2°
“SM” Profiles “EX” Profiles “QE” Profiles

2.2°

Extrusion Specifications

Tensile Strength........ccccovvviieees The point at which the material fractures - T6 = 30,000 psi minimum
Density.............. 0.10 Ib/in®
Yield Strength

The point at which the material stretches - T6 = 25,000 psi minimum
Elongation...........cccoceveiiiennnnn. The difference between tensile and yield strength (how the material stretches)
Elongation A10 (material up to .124 thick = 8%)

Elongation A5 (material greater than .124 thick = 10%)

Rockwell hardness (Webster)..... E scale of E50
Flatness......ccoooveeiiiiiiiiiiiiiieen, .004” x W” (width of part)
Straightness.........c...ccoeevnenn. .010” x measured length (ft.)
TWISt. e (measured in degrees)

10EX1010 = 1 x measured length (ft.)

All other profiles larger than 10EX1010 = .500 x measured length (ft.)
Alloy F25.....iiiiiiiieceeees Consists of aluminum, magnesium and silicon
Modulus of Elasticity.................... 10,000,000 Ibs/sq in.

Melting point of 6063-T6 aluminum is between 1140° F and 1210° F
6063-T6 aluminum begins to soften at 400° F. Once aluminum is softened, it remains in that state.

Saw Blade / Coolant Recommendation

The recommended blade for cutting T-slotted aluminum extrusions is a high-speed steel blade with carbide tipped teeth. The tip configuration should
either be a triple chip or double chip tooth design. The recommended number of teeth on a blade is between 60 and 72. When cutting aluminum, the
blade must be cooled for the purpose of finish as well as blade loading. Vegetable oil based coolant is recommended.

Let Faztek cut your extrusions!
« Cut to any length with a tolerance of +/- .015”
* Clean, precise cuts
« Extrusions are washed and deburred after cutting

www.Faztek.ca -14 - 514.576.8037



Technical Data Technical Data

Extrusion Deflection Information Door Sizing Calculations

When designing a door with hinges, please use the following information to ensure proper fitting.
Centered Load Equally Distributed Load Centered Load Equally Distributed Load Cantilever - Centered Load Cantilever - Equally Distributed Load
L Between two supports Botween two supports 15HIB527
F Total Distibuted Load W= F Total Distrbuted Load W=1- L ‘ Total Distributed Load W=+ 158 Lift-Off Nylon Hinges 158 Lift-Off Aluminum 15H18560 & 15H18562 15H18514
‘ [ | T T3 Hinges

10S Lift-Off Hinges  10Hig216  10HI8260 & 10HI8262
[y

]
—_—
eeea————x=
——————

|
o | B | ol P

IH ho - ‘ H berion= (s2) ('55) e = o3 Detecion ~ Yo 2o berenn = 45
T 3 Standard Swing Door
egen
L = length of extrusion (in) W = weight of load (Ibs) Hinge Gap ]».125 Hinge Gap 188 Legend
— — - T i A = Open End Door Gap
= = .063
E = modulus of elasticity (10,000,000) D = deflection (in) 1063 . B = Inside Frame Dimensions (height)
I = moment of inertia (given in extrusion tables for each profile in catalog) il C = Inside Frame Dimensions (width)
Dimensions for swing Dimensions for swing D = Narrow Door
doors with any D el doors with any D E = Wide Door
side < 36.00” e side = 36.00” _ . .
Pressurizing the Center Cavity (2 hinges) (3+ hinges) 2—: 1E)1( t2r§ s(ll (r)‘ Wf&?ﬁ) 1.75 (15 Series)
Use the following values to calculate the area in cu/in. when pressurizing the center cavity of an extrusion. i il
Extrusion Value Wra ot
10QE1020 0.375 sq/in ' ’
10QE2020 1.587 sq/in
15QE1530 0.814 sq/in Bi-Fold & Tri-Fold Doors
15QE3030 3.626 sq/in Hinge Gap  Hinge Gap B . Hinge Gap  Hinge Gap Hinge Gap A= .188 (10 Series)
15QE3060 Use formula above for each cavity 250 W ﬁ; g?g gg gz:g:g 250 A= 250 (15 Series)
Volume (cu/in) = constant value (sg/in) x length of extrusion e : <
\ Bi-Fold Door Bi-Fold Door
Example: i3t Glide Glide
What is the area for a 15QE3030 measuring 32.00 long?
Volume (cu/in) = 3.626 x 32.00 Il Remember to Remember to

tap this extrusion

Volume (cu/in) = 116.032 cu/in B B D *E — E —D B

tap this extrusion

The center cavities of some T-slotted extrusions can be pressurized up to 150 p.s.i - creating a clean, integrated pressure manifold. Connect valves,
actuators, air lines for tools and much more directly to your work bench or workstation.

pesl Bi-Fold Door

Bi-Fold Door
" clide Glide
O-rings are made from buna [ { |
rubber. The o-ring is glued to 250 c
the pressure manifold and the
manifold is then bolted to the C - (Hinge Gap + Hinge Gap + A+ F) C - ((Hinge Gap x 3) + A+ (G x 6))
extrusion in a side mount Narrow Door (D): D -(Gx2) Narrow Door (D): D -
application. 2 3
Wide Door (F): E = D+F Middle Door (E): E=D +F
Wide Door (H) H=E +F
Gaskets are made from cork
and synthetic rubber. The gasket Legend
is placed between the pressure A = Open End Door Gap
manifold and the extrusion in

B = Inside Frame Dimensions (height)
C = Inside Frame Dimensions (width)

D = Narrow Door

E = Wide Door

F =1.125 (10 series); 1.75 (15 Series)
G = Extrusion Width

an end mount application.

514.576.8037 -15 - www.Faztek.ca www.Faztek.ca -16 - 514.576.8037



Aluminum Extrusions

Aluminum Extrusion

Smooth

40 Series

u

s

R A
TB# )JL,':

]

D -

Series| Part No. Description A B C D E F G H Stock Length
10s 10QE1010 1.0” X 1.0” Smooth 1.00|.580 | .260 | .350 | .070 ] .090 | .230 | .200 DIA (97", 145", 242" +/- 125
15s 15QE1515 1.5” X 1.5” Smooth 1.50].839].320 | .530|.140| .160| .315 | .257 DIA | 97", 145", 194" +/- 125
156s | 15QE1515L 1.5” X 1.5” Lite Smooth 1.50(.839].320|.530 | .123|.160 | .315 | .257 DIA | 97", 145", 194" +/- 125
15s | 15QE1515UL | 1.5” X 1.5” Ultra-Lite Smooth | 1.50 | .839 | .320 | .412|.080 | .160 | .315 | .257 DIA | 97", 145", 194" +/- 125
15s 158M1515 1.5” X 1.5” Smooth 1.50(.810|.320| .621|.183| .114 | .317 | .421 DIA 97", 145” +/- 125
15s | 15SM1515L 1.5” X 1.5” Lite Smooth 1.50|.810|.320 | .621|.183| .114 | .317 | .421 DIA 97", 145” +/- 125
40s | 40QE4040UL 40MM X 40MM Ultra-Lite  [1.575| .810|.320| .610 | .196 | .177 | .305 | .268 DIA | 97", 145", 194" +/- 125
180° Bi-Slot 90° Bi-Slot Mono-Slot
2 .
|| KA 1 |
4 = 4 LN H
C B C | —t G H
T ( G —F— F -t G
N 1 ‘ F
74“; Il |
o D -4 B ’ f
F S
Series| Part No. Description A B 9] D E F G H | Stock Length
15s | 15QEA1515L | 1.5” X 1.5” Lite 180° Bi-Slot | 1.50 | .250 | .315|.080|.792].080 | 1.50 | .750 | .260 DIA | 97", 145", 194" +/- 125
15s | 15QEB1515L | 1.5” X 1.5” Lite 90° Bi-Slot | 1.50 | .354 | .315|.080 | .792|.080 | 1.50 | .750 | .260 DIA | 97", 145", 194" +/- 125
15s | 15QEM1515L | 1.5” X 1.5” Lite Mono-Slot | 1.50|.315| - |.080|.792).080|1.50|.750 | .260 DIA | 97", 145", 194" +/- 125
Quarter Round Single Open Slot Tri-Slot
A F A
B B
E c F
C E
D D
Series Part No. Description A B C D E F G H Stock Length
15s | 15QE1517L |1.5” X 1.5” Lite Quarter Round | .160 | 1.50 .810 .320|.120 480 |1.125| .260 DIA | 977, 1457, 194" +/- 125
15s 15QE1575 15" X.75” .810|.320 | .262 DIA [ 1.50 | .750 | .207 DIA | - - 97", 145” +/- 125
15s | 156QET1515L 1.5” X 1.5” Lite 792 .360 1.50 1.50.080| .257 DIA | - - 977, 145" +/- 125

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-17 -

www.Faztek.ca

Aluminum Extrusions

Smooth 40 Series
J
K [
.
] H
A T 49 T
A B C e
5 F
S NS
Series Part No. Description A B C D E F G H | J K Stock Length
10s 10QE1020 1.0” X 2.0” Smooth 1.00 |.584 |.250 |.087 |.365 |.087 |[.087 [.230 |1.00 |2.00 |.207 DIA |[97", 145", 194" +/- 125
15s 15QE1530 1.5” X 3.0” Smooth 1.50].800(.315|.138| .540 | .150 | .170].310| 1.50 | 3.00 | .260 DIA | 97", 145", 194" +/- 125
15s 15QE1530L 1.5” X 3.0” Lite Smooth | 1.50].792].315|.060| .490|.120.170].310| 1.50 | 3.00 | .260 DIA | 97", 145", 194" +/- .125
40s | 40QE4080UL | 40MM X 80MM Ultra-Lite |1.575| .810].320|.079| .512| .196 | .177 | .305|1.575| 3.15| .268 DIA | 97", 145", 194" +/- 125
Smooth
J
| K
H
A BC
E G
F
D
Series Part No. Description A B | C D E F G H | J K Stock Length
10s 10QE1030 1.0” X 3.0” Smooth 1.00| .584| .250 .375 .087| .087| .087| .230| 1.00| 3.00| .201 DIA]| 145", 194", 240" +/- .125
15s 15QE1545 1.5” X 4.5” Smooth 1.50].839(.320|.531|.140| .140| .160| .315]| 1.50 | 4.50 | .257 DIA 145", 194", 240" +/- .125
Series Part No. Description A B C D E F G H | J Stock Length
10s 10QE2020 2.0” X 2.0” Smooth |2.00 | 1.00 |.087 |.087 |.365 |.087 |.230 | .584 | .250 | .207 DIA |97”, 145", 240" +/- .125
15s 15QE3030 3.0” X 3.0” Smooth 3.0011.50].170| .140| .513 | .140| .315] .839| .315| .257 DIA | 97", 145", 194" +/- 125
15s 15QE3030L 3.0” X 3.0” Lite Smooth |3.00[1.50|.160| .116 | .513|.080|.303|.790|.315| .257 DIA 97”7, 145" +/- 125

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-18 -

514.576.8037



Aluminum Extrusions Structural Shapes

SAmooth Structural Shapes
C B K Flat Stock Aluminum Tube Angle Stock
sl 35@@35
D4+ ) N ; '
!
H ‘ A C
0 ® ® B | ,
E G L = A
Series| Part No. Description A B c D E F G H | J K Stock Length ~ B A . B
Part No. Description A B C | Cut Charge LBS/IN Stock Length
15s | 15QE3060 3.0” X 6.0” Smooth 6.00 [ 1.50 | .300 | .170 | .150 | .520 | .140 | 3.00 [ .783 | .315 [ .257 DIA | 977, 145”, 240" +/- .125 10SS7013 Flat Stock 100l 19| - | 13mA9070 019 145"
10SS7018 Flat Stock 1.00| .25 - 13MA9070 .025 145"
Square Single Flange Double Flange 10SS7011 Flat Stock 1.00| .50 | - 13MA9070 .049 145
I F ( 15558035 Flat Stock 150 25 | - | 13MA9070 .037 145
w:::L—_l;{ ! T A 10SS7016 Flat Stock 150| .50 | - | 13MA9070 074 145
A C D 'H e & H s § P 15558012 Flat Stock 150 75 | - | 13mag070 110 145"
Cc D A B T 1—% 10857014 Flat Stock 200 19 | - | 13MA9070 037 145"
B ¢ L ‘ I 1 10SS7008 Flat Stock 200| 50 [ - | 13MA9070 .098 145
} } <—||: E l H 10SS7012 Flat Stock 250| 50 | - | 13MA9070 122 145
— E~ ‘ 10SS7015 Flat Stock 3.00| .19 - 13MA9071 .056 145"
Series Part No. Description A B Cc D E F G H | Stock Length 15SS8008 Flat Stock 3.00] 25 - 13MA9071 074 145"
13s | 13FT9000 1.0” X 1.0” Square .060 |.072].856 [ 1.00 - - - - - | 977, 145" +/- 125 15558011 Flat Stock 3001 75 1 - | 13MA9071 21 1457
13s | 13FT9025 | 1.0” X 1.0” Single Flange | .060 | .072].856 [ 1.00 | .500 | .110 | .320 | .383 | .060 | 977, 145" +/- .125 10SS7007 Flat Stock 2001 191 - | 13MA9071 074 1457
13s | 13FT9030 | 1.0”x 1.0” Double Flange | .060 | .072].856 | 1.00 | .500 | .110 | .320 | .383 | .060 | 977, 145" +/- .125 15558048 Flat Stock 2001 25 | - | 13MA9071 098 145"
10SS7017 Flat Stock 4.00 | .50 - 13MA9071 .196 145”
15558020 Flat Stock 400| .75 [ - | 13MA9071 .298 145
15SS8009 Flat Stock 450 .25 [ - | 13MA9071 110 145
15588010 Flat Stock 6.00| .25 | - | 13MA9071 147 145
158S8018 Flat Stock 6.00 | .38 - 13MA9071 .220 145”
13558001 Aluminum Tube 1.00| .13 | - | 13MA9070 .034 144
15588019 Aluminum Tube 150 .13 | - | 13MA9070 .036 144
10SS7022 Angle Stock 1.00[1.00| .13 | 13MA9070 019 145
10SS7009 Angle Stock 1.00|1.00| .19 | 13MA9070 .025 145"
10SS7002* Angle Stock 2.001.00 | .19 | 13MA9070 .049 145"
15558016 Angle Stock 150 1.50 | .19 | 13MA9070 .037 145
15588015 Angle Stock 150 1.50 | .25 | 13MA9070 074 145
10SS7000* Angle Stock 2.00(2.00| .19 | 13MA9070 .037 145”
158S8000* Angle Stock 3.0011.50| .25 | 13MA9070 110 145"
10887021 Angle Stock 3.00|3.00( .19 [ 13MA9071 .098 145
15558001 Angle Stock 3.00|3.00| .25 | 13MA9071 122 145
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -19 - www.Faztek.ca www.Faztek.ca -20 - 514.576.8037



Structural Shapes

Gusset Angle Stock

Floor Mount Stock

c

Panel Mount Profile Stock

Extrusion Cut-to-Length Service

~

A

N

N B D~
Part No. Description A B C D | Cut Charge LBS/IN Stock Length
10SS7003 Gusset Angle Stock 1.00]1.00| .53 - 13MA9070 .053 145"
15888002 Gusset Angle Stock 1.50(1.50| .25 - 13MA9070 107 145”
10SS7001 Gusset Angle Stock 2.00]2.00] .19 - 13MA9070 118 145"
158S8003 Gusset Angle Stock 3.00(3.00| .25 - 13MA9071 235 145"
15SS8005 Floor Mount Stock 2.00]5.00| .25 | 10° | 13MA9071 195 145"
10SS7023 Panel Mount Profile Stock .81 1 .70 | .05 | .25 | 13MA9070 114 145”
15888043 Panel Mount Profile Stock |1.25| .88 | .12 | .31 13MA9070 .058 145"
Upper Door Track Lower Door Track Panel Mount Profile Stock
A A
Al
D D: B §
c. , c B D,
Part No. Description A B C D | Cut Charge LBS/IN Stock Length
10AC7901 Upper Door Track 75 | 69 | .28 | .06 | 13MA9070 .017 145"
15AC8780 Upper Door Track 1.13] 65 | .27 | .06 | 13MA9070 .027 145"
10AC7902 Lower Door Track 75| 69 | .28 | .06 | 13MA9070 .013 145"
15AC8781 Lower Door Track 1.13| .65 | .27 | .06 | 13MA9070 .027 145"
13AC7720 Panel Mount Profile Stock 18 | .71 | .21 | .42 | 13MA9070 12 145"
Panel Stiffener w/ Handle Pivot Nub Stock Retainer Angle Stock
E
A\l
Dl
A <
< B._ v
< £ |
~ A C ~ ( F
:C\ b 1
D N = 1
Part No. Description A B C D E F Cut Charge LBS/IN Stock Length
13AC7722 |Panel Stiffener Stock w/ Handle| .18 | .71 | .24 | .42 .95 - 13MA9070 A7 145"
15888045 Pivot Nub Stock 150|160 .75 | .75 |.257 DIA - 13MA9070 .205 145"
10SS7004 Retainer Angle Stock 1.9411.00| .94 | .19 .38 .58 13MA9070 .042 145"
15858004 Retainer Angle Stock 2.8811.50|1.38| .25 .59 .84 13MA9070 .085 145"

514.576.8037

Machining Services

Faztek can accurately cut your extrusions to the length you request. Ordering is simple - just specify the type, quantity and length of the extrusions you

require.

Advantages:
* High-precision equipment
« Tolerance of +/- .015”
» Squareness = .002” per inch

Series| Service No. Description
10s 10MA9000 Cut service for 1.0” X 1.0” Extrusions
10s 10MA9001 Cut service for 1.0” X 2.0” Extrusions
10s 10MA9003 Cut service for 1.0” X 3.0” Extrusions
10s 10MA9002 Cut service for 2.0” X 2.0” Extrusions
15s 15MA9006 Cut service for 1.5” X 1.5” Extrusions
15s 15MA9007 Cut service for 1.5” X 3.0” Extrusions
15s 15MA9011 Cut service for 1.5” X 4.5” Extrusions
15s 15ma9008 Cut service for 3.0” X 3.0” Extrusions
15s 15MA9009 Cut service for 3.0” X 6.0” Extrusions
40s 15MA9006 Cut service for 40MM X 40MM Extrusions
40s 15MA9007 Cut service for 40MM X 80MM Extrusions

Extrusion End Tap Service
Tapping the end of extrusions adds flexibility to your project. Attach casters, leveling feet, end fasteners, plates and much more quickly and easily with
minimal hardware.

3/18-16 Size Tap Service (Depth 0.75”)

15s | 15MA9059 |

Tap for 1.5” X 1.5” (EX/QE Profiles)

*non-stock parts = 1-2 week lead-time - please call for details.

-21 -

www.Faztek.ca

7/16-14 Size Tap Service (Depth 0.75”)

15s | 15MA9053 |

Tap for 1.5” X 1.5” (EX/QE Profiles)

1/2-13 Size Tap Service (Depth 0.75”)

15s | 15MA9077 |

Tap for 1.5” X 1.5” (SM Profiles)

www.Faztek.ca

-22 -

Series| Service No. | Description Series| PartNo. | Description
1/4-20 Size Tap Services M6 X 1.00 Size Tap Services
10s | 10MA9010 Tap for 1.0” X 1.0” (EX/QE Profiles) 10s | 10MA9053 Tap for 1.0” X 1.0” (EX/QE Profiles)
10s | 10MA9051 Tap for 1.0” X 2.0” (EX/QE Profiles) 10s | 10MA9054 Tap for 1.0” X 2.0” (EX/QE Profiles)
10s | 10MA9056 Tap for 1.0” X 3.0” (EX/QE Profiles) 10s | 10MA9058 Tap for 1.0” X 3.0” (EX/QE Profiles)
10s | 10MA9052 Tap for 2.0” X 2.0” (EX/QE Profiles) 10s | 10MA9055 Tap for 2.0” X 2.0” (EX/QE Profiles)
5/16-18 Size Tap Services (Depth 0.75”) M8 X 1.25 SIZE TAP SERVICES (Depth 0.75”)
15s | 15MA9050 [Tap for 1.5” x 1.5” Extrusions (EX/QE Profiles)] 15s | 15MA9056 |Tap for 1.5” x 1.5” Extrusions (EX/QE Profiles)
15s 15MA9051 |Tap for 1.5” x 3.0” Extrusions (EX/QE Profiles)] 15s 15MA9057 |Tap for 1.5” x 3.0” Extrusions (EX/QE Profiles)
15s | 15MA9046 Tap for 1.5” x 4.5” Extrusions (EX Profiles) 15s | 15MA9047 Tap for 1.5” x 4.5” Extrusions (EX Profiles)
16s | 15MA9052 |[Tap for 3.0” x 3.0” Extrusions (EX/QE Profiles)] 15s | 156MA9058 |Tap for 3.0” x 3.0” Extrusions (EX/QE Profiles)
15s | 156MA9054 [Tap for 3.0” x 6.0” Extrusions (EX/QE Profiles)] 15s | 15MA9055 |Tap for 3.0” x 6.0” Extrusions (EX/QE Profiles)
40s | 15MA9050 Tap for 40MM X 40MM Profiles 40s | 15MA9056 Tap for 40MM X 40MM Profiles
40s 15MA9051 Tap for 40MM X 80MM Profiles 40s 15MA9057 Tap for 40MM X 80MM Profiles
5/16-18 Size Tap Service (Dept 1.25”)
15s | 15MA9020 Tap for 1.5” X 1.5” (EX/QE Profiles) 15FA3620
155 [ ToMA021 | Tapior1 5750 (EXUGE Profes ~ Wt
15s | 15MA9023 Tap for 1.5” X 4.5” (EX Profiles) feet.
15s | 15MA9022 Tap for 3.0” X 3.0” (EX/QE Profiles)
15s | 15MA9024 Tap for 3.0” X 6.0” (EX/QE Profiles)

514.576.8037




Machining Services Machining Services

T-Anchor Fastener Counterbore Service Access Hole Drilling Service
T-Anchors are only for. use with the SM extrusion Proflles. These profiles have a larger center bore to accept the T-Anchor fastener. Access holes are required to allow a tool to enter through an extrusion when using end fasteners. This method of connecting extrusions offers a clean,
This counterbore service must be applied when using the T-Anchor fastening method. hidden look

w A

’ Advantages:
‘ * Quick, accurate alignment

-00 - Tolerance on holes is +/- .030"
B _/‘\_ * Clean, hidden appearance
{ )
e Style A Style B
.00 A .00 C
D
C .00 z .00
Series| Service No. Description A B C —
15s 15MA9074 T-Anchor Fastener Counterbore Service for SM 1.375 75 .572 DIA X 1.00 Deep B | N B
Service Locations - Please specify when ordering j A
*Counterbore service is per location < 9
U S~ _ D
EV O B Series| Service No. Description A B c D
L—géﬂ 10s 10MA9020 Access Hole Service for QE/EX - Standard .50 .50 1.50 .218 DIA
C 10s 10MA9021 Access Hole Service for QE/EX .50 .50 1.50 .060 - .217 DIA
10s 10MA9022 Access Hole Service for QE/EX .50 .50 1.50 .219 - .375 DIA
Anchor Fastener & Butt Fastener Counterbore Service 15s 15MA9060 Access Hole Service for QE/EX - Standard .75 .75 2.25 .295 DIA
Anchor Fasteners provide a strong and adjustable connection method for aluminum extrusions. Butt fasteners are similar, using the same service but 156s | 15MA9061 Access Hole Service for QE/EX .75 .75 2.25 .060 - .294 DIA
connect two 15 series extrusions together to extend the length. A 15s | 15MA9073 Access Hole Service for QE/EX 75 75 2.25 296 - .500 DIA
00
Advantages: ‘ 40s 15MA9060 Access Hole Service for QE/EX - Standard 20.00MM | 20.00MM | 60.00MM .295 DIA
* Very strong connection method/ .00 40s | 15MA9061 Access Hole Service for QE/EX 20.00MM | 20.00MM | 60.00MM .060 - .294 DIA
* Tolerance on counterbores is +/- .015” -
« Clean, flush appearance B _‘,/‘\\‘_ 40s 15MA9073 Access Hole Service for QE/EX 20.00MM | 20.00MM | 60.00MM .296 - .500 DIA
* Butt Fastener only to be used with 15 series — Service Locations - Please specify when ordering
| M9 (95
c 77
Series| Service No. Description A B C Q S T O O T
10s | 10MA9035 Anchor Fastener Counterbore Service for QE .406 .50 .572 DIA X .425 Deep /\Jq
156s | 15MA9071 [ Anchor/Butt Fastener Counterbore Service for QE .881 .75 .822 DIA X .660 Deep ) Q Q
40s 15MA9071 Anchor Fastener Counterbore Service for QE 21.72MM R0.00MM | 20.88mm x 16.64 Deep D RS*
Service Locations - Please = — T
specify when ordering (1 A D JFC G ~— L
*Counterbore service is per v v é Yo\ - _
location — /E \_/ S % Q O Y
( —
O K Bk O Ol H Lg .
NS L ONSE N R
B O |
K

(20 [T (929
( O R O O ™

S

29 @2 oD
(\Q \\Q B a | O O N

S

)

o |

514.576.8037 -23- www.Faztek.ca www.Faztek.ca -24 - 514.576.8037



Machining Services Machining Services

Miter Cut Service - With Counterbores

Extrusions with miter cuts and counterbores provide a complete method of connecting two extrusions. All 15 Series extrusions can be cut with

Door Latch Machining Services

Faztek offers several different types of door latch handles for use with T-Slotted extrusions. Not all handles use the same machining service, so please

check compatibility before ordering.

counterbores from 45° to 90°.

A B * Service is per end
* Maximum length = 72.0”
* When ordering extrusions with miter cuts, please submit a drawing to ensure quick, accurate processing.
S / Series| Service No. Description
10s 10MA9030 Miter Cut/C-Bore for 1.0” X 1.0” Extrusions
- 10s 10MA9031 Miter Cut/C-Borefor 1.0” X 2.0” Extrusions
10s | 10MA9033 Miter Cut/C-Bore for 1.0” X 3.0” Extrusions
Series| Service No. A B 15s | 15MA9068 Miter Cut/C-Bore for 1.5” X 1.5” Extrusions
10s 10MA9072 Standard Door Handle Machining Service .850 DIA @ .410 Deep 1410 Drill Thru 15s 15MA9069 Miter Cut/C-Bore for 1.5” X 3.0” Extrusions
15s 15MA9072 Standard Door Handle Machining Service .850 DIA @ .410 Deep 1410 Drill Thru 155 15MA9062 Miter Cut/C-Bore for 1.5” X 4.5” Extrusions
Service Locations - Please specify when ordering . .
~ AC 15s 15MA9069 Miter Cut/C-Bore for 3.0” x 3.0” Extrusions
( < ; ) 40s 15MA9068 Miter Cut/C-Bore for 40MM X 40MM Extrusions
N
F U 40s 15MA9069 Miter Cut/C-Bore for 40MM X 80MM Extrusions
D ()| B
( [']
L 6 c_ J Panel & Wire Machining Services
Standard machining options are available for panels and wire mesh when used with 15 Series extrusions. Faztek can also provide custom machining
services upon request. Please submit a drawing with any non-standard panel machining.
Miter Cut Service » Custom services available
Miter cuts provide extra strength for heavy-duty applications, or as a reinforcement to other connection methods. * Precise machining via CNC router
» Custom machined panels available
- Service is per end * Please submit a drawing with any panel machining
» When ordering extrusions with miter cuts, please submit a drawing for quick, accurate processing.
Series| Service No.
10s 10MA9025 Miter Cut for 1.0” X 1.0” Extrusions
10s 10MA9026 Miter Cut for 1.0” X 2.0” Extrusions
10s 10MA9032 Miter Cut for 1.0” X 3.0” Extrusions B
10s 10MA9027 Miter Cut for 2.0” X 2.0” Extrusions A
15s 15MA9065 Miter Cut for 1.5” X 1.5” Extrusions I
15s 15MA9066 Miter Cut for 1.5” X 3.0” Extrusions
- " - - Series| Service No. Description A B
15s | 15MA9063 Miter Cut for 1.5” X 4.5” Extrusions 10/15| 13MA9080 | Panel / Wire Mesh Cut Service (All Sides Less Than 48") - -
15s | 15MA9067 Miter Cut for 3.0" x 3.0" Extrusions 10/15| 13MA9081 |Panel/ Wire Mesh Cut Service (Any Sides Less Than 48")| - -
40s | 15MA9065 Miter Cut for 40MM X 40MM Extrusions 10115 | 13MA9088 Drill Thru on Plastic Panel (Up to .50 DIA Hole) - -
40s 15MA9066 Miter Cut for 40MM X 80MM Extrusions 1015 13MA9089 90° Panel / Wire Cutouts _ _
10/15] 13MA9090 Drill / Tap Thru Plastic Panel (Up to 7/16-14 Tap Thru) - -
10/15| 13MA9091 Drill / C-Sink for Plastic Panel (Up to 5/16 C-Sink) - -
10/15| 13MA9092 Drill Thru on Plastic Panel (.501 DIA to 5.00 DIA Holes) - -
10/15] 13MA9094 Extrusion Profile Notch for Panel / Wire Ext + .56 | Ext + .56
10s 10MA9083 Anchor Fastener Notch for Panel / Wire .56 1.00
10s 10MA9084 End Fastener Notch for Panel / Wire .56 .56
10s 10MA9085 Extrusion Clearance Notch for Panel / Wire .56 .56
15s 15MA9083 Anchor Fastener Notch for Panel / Wire .63 1.63
15s 15MA9084 End Fastener Notch for Panel / Wire .63 .63
15s 15MA9085 Extrusion Clearance Notch for Panel / Wire .63 .63
514.576.8037 -25- www.Faztek.ca www.Faztek.ca -26 - 514.576.8037




Machining Services

Panel Size Selection

Use the following information to select the correct size panel for use inside the t-slot.

* 10 Series frames: Add .500” to the length and width of inside frame dimensions
* 15 Series frames: Add .750” to the length and width of inside frame dimensions
* 15EX1515UL/15QE1515UL frames: Add .875” to the length and width of inside frame dimensions

Panel Area Calculation Chart

Yy

To select a properly sized panel, round both the length and width of the panel up to the next 6” increment and use the following chart to calculate the

square footage.

6” 12” | 18” | 24” | 30” | 36” | 42” | 48” | 54” | 60”

6” 25 | 50 | .75 | 1.00 | 1.25|1.50 | 1.75 | 2.00 | 2.25 | 2.50

12” | 50 | 1.00 | 1.50 | 2.00 | 2.50 | 3.00 | 3.50 | 4.00 | 4.50 | 5.00

18” | .75 | 1.50|2.25|3.00 | 3.75|4.50 | 5.25 | 6.00 | 6.75 | 7.50

24” | 1.00 | 2.00 | 3.00 | 4.00 | 5.00 | 6.00 | 7.00 | 8.00 | 9.00 |10.00

30” | 1.25 1250 | 3.75|5.00 | 6.25 | 7.50 | 8.75 |10.00|11.25(12.50

36” | 1.50 | 3.00 | 4.50 | 6.00 | 7.50 | 9.00 [10.50|12.00|13.50|15.00

42” | 1.75 | 3.50 | 5.25 | 7.00 | 8.75 |10.50]|12.25]|14.00|15.75]|17.50

48” | 2.00 | 4.00 | 6.00 | 8.00 |10.00/12.00]|14.00|16.00|18.00|20.00

54” | 2.2514.50 | 6.75| 9.00 |11.25] 13.5 [15.75|18.00|20.25|22.50

60” | 2.50 | 5.00 | 7.50 |10.00|12.50]15.00|17.50|20.00|22.50(25.00

66” | 2.75 | 5.50 | 8.25 |11.00]13.00]16.50(19.25|22.00|24.75|27.50

72” | 3.00 | 6.00 | 9.00 |12.00|15.00]18.00{21.00|24.00|27.00(30.00

78” | 3.25 1 6.50 | 9.75 |13.00]16.25]19.50(22.75|26.00|29.25|32.50

84” | 3.50 | 7.00 |10.50|14.00|17.50]21.00|24.50|28.00|31.50|35.00

90” | 3.75 | 7.50 |11.25|15.00|18.75|22.50]26.25]|30.00|33.75|37.00

96” | 4.00 | 8.00 [12.00|16.00/20.00/24.00|28.00|/32.00|36.00|40.00

102” | 4.25 | 8.50 [12.75|17.00|21.25|25.50]29.75]|34.00|38.25]42.00

108” | 4.50 | 9.00 [13.50|18.00/22.50(27.00]|31.50|36.00|40.50]45.00

Panel Machining for Hinges, Handles, Panel Retainers and Panel Mount Blocks

Part No. Description Spacing From Edge Hole DIA

10AC7805 Flush Mount Panel Mount Block - .37 312
10AC7805 Outside Mount Panel Mount Block - 1.37 312
10AC7810 1” Panel Retainer - .86 312
10AC7814 2” Panel Retainer 1.00 .86 312
10HI8215 Plastic Adjustable Hinge 1.25 44 312
13AC7300 Small Plastic Handle 3.68 1.50 312
13AC7301 Medium Plastic Handle 4.60 1.50 .375
13AC7302 Large Plastic Handle 7.05 1.50 375
13AC7305 Steel Door Handle 3.00 1.00 .203
15AC7110 1.5” Panel Retainer - 1.28 .375
15AC7110 1.5” Panel Retainer When Using UL Profilers - 1.34 375
15AC7113 1.5” Panel Retainer 1.50 1.28 .375
15AC7113 1.5” Panel Retainer When Using UL Profilers 1.50 1.34 375
15AC8700 Flush Mount Panel Mount Block - 44 375
15AC8700 Outside Mount Block - 1.94 .375
15H18515 Plastic Adjustable Hinge 1.87 .69 375
15AC8673 Magnetic Door Catch - .60/1.00 187

514.576.8037

-27 -

www.Faztek.ca

T-Nut Overview

Fasteners

No matter what the size or scope of your project, T-Nuts will most likely be used for at least one function to complete the assembly. The following

overview explains the features and benefits of each type of T-Nut.

g
N

> 80/ /@

Drop-In
(Rubber Nub)

(Alignment Ball)

Economy
« Cost-effective
« High Strength

« Inserted from end of extrusion

Double Economy

« Cost-effective

« High Strength

« Fast assembly for brackets

Triple Economy

« Cost-effective

« High Strength

« Fast assembly for brackets

Standard

» Cost-effective

« High Strength

« Extra thread engagement

Hi-Torque
« Cost-effective
« High Strength

* Maximum thread engagement

Drop-In

Drop-In
(Set Screw)

<4
V-
>
A 4

Drop-In

« High Strength

» Easy to add anywhere along the slot

* Flexible handle to assist assembly and to act
as a friction point

« Extra thread engagement

* Not suggested for UL material

Drop-In w/ Alignment Ball

« High Strength

 Easy to add anywhere along the slot

« Spring-loaded ball creates snug fit and allows
easy positioning

* Not suggested for UL material

Drop-In w/ Set Screw

« High Strength

 Easy to add anywhere along the slot

« Tighten set screw for accurate positioning
* Not suggested for UL material

Drop-In w/ Spring Leaf

« High Strength

 Easy to add anywhere along the slot
« Spring leaf holds t-nut in place

\-l, %

Drop-In
(Spring Leaf)

Standard

Economy Hi-Torque

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-28 -

514.576.8037



Fractional T-Nuts

Fasteners

Series| PartNo. | Description | Thread | Material |Tap Location|  Width
Economy T-Nuts
10s 10FA3100 Economy T-Nut 8-32 Steel Centered 440
10s 10FA3101 Economy T-Nut 10-32 Steel Centered 440
10s 10FA3121 Economy T-Nut 1/4-20 Steel Centered 440
15/40| 15FA3506 Economy T-Nut 1/4-20 Steel Offset .500
15/40| 15FA3501 Economy T-Nut 5/16-18 Steel Offset .625
15/40| 15FA3538 Economy T-Nut 5/16-18 Steel Centered 625
15/40| 15FA3600 Economy T-Nut 5/16-18 Stainless Offset .625
Double Economy T-Nuts
10s 10FA3122 Double Economy T-Nut 1/4-20 Steel Centered 440
15/40| 15FA3502 Double Economy T-Nut 5/16-18 Steel Centered .500
Triple Economy T-Nuts
10s 10FA3130 Triple Economy T-Nut 1/4-20 Steel Centered 440
15/40| 15FA3520 Triple Economy T-Nut 5/16-18 Steel Centered .500
Standard T-Nuts
15/40| 15FA3510 Standard T-Nut 8-32 Steel Offset .625
10s 10FA3102 Standard T-Nut 10-32 Steel Offset 425
15/40| 15FA3513 Standard T-Nut 10-32 Steel Offset .625
10s 10FA3123 Standard T-Nut 1/4-20 Steel Offset 425
15/40| 15FA3403 Standard T-Nut 1/4-20 Steel Offset .625
15/40| 15FA3503 Standard T-Nut 5/6-18 Steel Offset .625
Drop-In T-Nuts
10s 10FA3103 Drop-In T-Nut 10-32 Steel Offset .390
15/40| 15FA3509 Drop-In T-Nut 10-32 Steel Offset .500
10s 10FA3104 Drop-In T-Nut w/ Set Screw 10-32 Steel Offset .390
15/40| 15FA3407 Drop-In T-Nut w/ Set Screw 10-32 Steel Offset .500
10s 10FA3129 Drop-In T-Nut w/ Alignment Ball 10-32 Steel Offset .390
15/40| 15FA3534 Drop-In T-Nut w/ Alignment Ball 10-32 Steel Offset .500
15/40| 15FA3542 Drop-In T-Nut w/ Alignment Ball (NP) 10-32 Steel Offset .500
10s 10FA3124 Drop-In T-Nut 1/4-20 Steel Offset .390
15/40| 15FA3507 Drop-In T-Nut 1/4-20 Steel Offset .500
10s 10FA3125 Drop-In T-Nut w/ Set Screw 1/4-20 Steel Offset .390
15/40| 15FA3405 Drop-In T-Nut w/ Set Screw 1/4-20 Steel Offset .500
10s 10FA3128 Drop-In T-Nut w/ Alignment Ball 1/4-20 Steel Offset .390
15/40| 15FA3536 Drop-In T-Nut w/ Alignment Ball 1/4-20 Steel Offset .500
15/40| 15FA3540 Drop-In T-Nut w/ Alignment Ball 1/4-20 Nickel Plated Offset .500
15/40| 15FA3603 Drop-In T-Nut w/ Alignment Ball 1/4-20 Stainless Offset .500
15/40| 15FA3504 Drop-In T-Nut 5/16-18 Steel Offset .500
15/40| 15FA3505 Drop-In T-Nut w/ Set Screw 5/16-18 Steel Offset .500
15/401 15FA3511 Drop-In T-Nut w/ Alignment Ball 5/16-18 Steel Offset .500
15/40| 15FA3544 Drop-In T-Nut w/ Alignment Ball 5/16-18 Nickel Plated Offset .500
15/40| 15FA3602 Drop-In T-Nut w/ Alignment Ball 5/16-18 Stainless Offset .500
15/40| 15FA3522 Drop-In T-Nut w/ Spring Leaf 5/16-18 Steel Offset .500
Hi-Torque T-Nuts
15/40| 15FA3532 Hi-Torque T-Nut | 51618 | steel | Centered 705

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-29 -

www.Faztek.ca

Fasteners
Metric T-Nuts
Series| PartNo. | Description | Thread | Material |Tap Location|  Width
Economy T-Nuts
10s | 10MFA3201 Economy T-Nut M6 X 1.00 Steel Offset 440
15/40| 15MFA3900 Economy T-Nut M6 X 1.00 Steel Offset .625
15/40| 15MFA3920 Economy T-Nut M8 X 1.25 Steel Offset .625
Standard T-Nuts
10s | 10MFA3925 Standard T-Nuts M5 X .80 Steel Offset 425
15/40| 15MFA3925 Standard T-Nuts M5 X .80 Steel Offset .625
10s | 10MFA3202 Standard T-Nuts M6 X 1.00 Steel Offset 425
15/40| 15MFA3921 Standard T-Nuts M8 X 1.25 Steel Offset .625
Drop-In T-Nuts
10s | 10MFA3207 Drop-In T-Nut w/ Alignment Ball M5 X .80 Steel Offset .390
15/40| 15MFA3938 Drop-In T-Nut w/ Alignment Ball M5 X .80 Steel Offset .500
15/40| 15MFA3804 Drop-In T-Nut w/ Alignment Ball M5 X .80 Stainless Offset .500
10s | 10MFA3203 Drop-In T-Nut M6 X 1.00 Steel Offset .390
15/40| 15MFA3902 Drop-In T-Nut M6 X 1.00 Steel Offset .500
10s | 10MFA3125 Drop-In T-Nut w/ Alignment Ball M6 X 1.00 Steel Offset .390
15/40| 15MFA3928 Drop-In T-Nut w/ Alignment Ball M6 X 1.00 Steel Offset .500
15/40| 15MFA3803 Drop-In T-Nut w/ Alignment Ball M6 X 1.00 Steel Offset .500
15/40| 15MFA3922 Drop-In T-Nut M8 X 1.25 Stainless Offset .500
15/40| 15MFA3923 Drop-In T-Nut w/ Alignment Ball M8 X 1.25 Steel Offset .500
15/40| 15MFA3802 Drop-In T-Nut w/ Alignment Ball (SS) M8 X 1.25 Steel Offset .500
Hi-Torque T-Nuts
15/40( 15MFA3926 | Hi-Torque T-Nut | m8x1.25 Steel Offset 705
Fractional Washers & Hex Nuts
Series| PartNo. | Description | Material
Washers
15/40| 13FA3701 1/4” X .062” Washer Steel
15/40| 13FA3608 1/4” X .062” Washer Stainless
15/40| 13FA3712 1/4” X .125” Washer Steel
15/40| 13FA3700 5/16” X .062” Washer Steel
15/40| 13FA3609 5/16” X .062” Washer Stainless
15/40| 13FA3704 5/16” X .125” Washer Steel
Hex Nuts
10s 10FA3106 8-32 Hex Nut Steel
15/40| 13FA3113 1/4-20 Hex Nut Steel
15/40|1 13FA3610 1/4-20 Hex Nut Stainless
15/40| 13FA3112 5/16-18 Hex Nut Steel
15/40| 13FA3611 5/16-18 Hex Nut Stainless
Metric Washers & Hex Nuts
Series| PartNo. | Description |_Material
Washers
15/40| 13MFA3620 M6 X 1.58 Steel
15/40| 13MFA3622 M8 X 1.58 Steel
Hex Nuts
15/40| 13MFA3616 M6 X 1.00 Steel
15/40| 13MFA3617 M8 X 1.25 Steel

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-30 -

514.576.8037




Fasteners

Fractional Fasteners

Metric Fasteners

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-31 -

Series| PartNo. | Thread | Length | Material | Tool Series| PartNo. | Thread | Length | Material | Tool
Socket Head Cap Screws (SHCS) Flat Head Socket Cap Screws (FHSCS)

All 13FA3350 10-32 12 Steel 5/32 Hex 10s 13FA3363 8-32 3/8 Steel 5/32 Hex
All 13FA3351 10-32 5/8 Steel 5/32 Hex All 13FA3374 8-32 5/8 Steel 5/32 Hex
All 13FA3352 10-32 3/4 Steel 5/32 Hex All 13FA3117 10-32 12 Steel 5/32 Hex
All 13FA3607 10-32 3/4 Stainless | 5/32 Hex 15/40| 13FA3374 10-32 5/8 Steel 5/32 Hex
All 13FA3303 1/4-20 12 Steel 3/16 Hex 15/40| 13FA3122 10-32 5/8 Steel 5/32 Hex
All 13FA3304 1/4-20 5/8 Steel 3/16 Hex All 13FA3110 1/4-20 12 Steel 5/32 Hex
All 13FA3305 1/4-20 3/4 Steel 3/16 Hex All 13FA3111 1/4-20 5/8 Steel 5/32 Hex
All 13FA3311 1/4-20 7/8 Steel 3/16 Hex All 13FA3126 1/4-20 7/8 Steel 5/32 Hex
All 13FA3306 1/4-20 1 Steel 3/16 Hex All 13FA3127 1/4-20 1 Steel 5/32 Hex
All 13FA3334 1/4-20 11/4 Steel 3/16 Hex 15/40| 13FA3353 5/16-18 5/8 Steel 3/16 Hex
All 13FA3313 1/4-20 11/2 Steel 3/16 Hex 15/40| 13FA3342 5/16-18 3/4 Steel 3/16 Hex
All 13FA3332 1/4-20 13/4 Steel 3/16 Hex Flanged Button Head Socket Cap Screws (FBHSCS)

15/40| 13FA3337 5/16-18 12 Steel 1/4 Hex All 13FA3308 1/4-20 3/8 Steel 3/16 Hex

15/40| 13FA3325 5/16-18 5/8 Steel 1/4 Hex All 13FA3309 1/4-20 12 Steel 3/16 Hex

15/40| 13FA3326 5/16-18 3/4 Steel 1/4 Hex All 13FA3310 1/4-20 3/4 Steel 3/16 Hex

15/40| 13FA3327 5/16-18 7/8 Steel 1/4 Hex 15/40| 13FA3330 5/16-18 12 Steel 3/16 Hex

15/40| 13FA3335 5/16-18 1 Steel 1/4 Hex 15/40| 13FA3331 5/16-18 5/8 Steel 3/16 Hex

15/40| 13FA3328 5/16-18 11/4 Steel 1/4 Hex Low Head Socket Cap Screws (LHSCS)

15/40| 13FA3603 5/16-18 11/4 Stainless 1/4 Hex 15/40| 13FA3360 1/4-20 12 Steel 5/32 Hex

15/40| 13FA3329 5/16-18 1172 Steel 1/4 Hex All 13FA3362 1/4-20 1 Steel 5/32 Hex
15 13FA3365 5/16-18 2 Steel 1/4 Hex 15/40| 13FA3354 5/16-18 5/8 Steel 3/16 Hex
15 13FA3319 5/16-18 3 Steel 1/4 Hex 15/40| 13FA3710 5/16-18 11/4 Steel 3/16 Hex

15/40| 13FA3340 3/8-16 3/4 Steel 5/16 Hex Carriage Bolts

Button Head Socket Cap Screws (BHSCS) All 13FA3709 1/4-20 3/4 Steel N/A

10s 13FA3116 8-32 3/8 Steel 5/32 Hex 15/40| 13FA2708 5/16-18 5/8 Steel N/A
All 13FA3124 8-32 3/4 Steel 5/32 Hex 15/40| 13FA3612 5/16-18 3/4 Steel N/A
All 13FA3316 10-32 3/8 Steel 5/32 Hex 15 13FA3706 5/16-18 11/4 Steel N/A
All 13FA3128 10-32 12 Steel 5/32 Hex Shoulder Bolts
All 13FA3129 10-32 5/8 Steel 5/32 Hex All 13FA3716 5/16-18 1/4 Steel N/A
All 13FA3300 1/4-20 1/2 Steel 5/32 Hex All 13FA3707 5/16-18 12 Steel N/A
All 13FA3605 1/4-20 1/2 Stainless | 5/32 Hex All 13FA3705 3/8-16 3/4 Steel N/A
All 13FA3301 1/4-20 5/8 Steel 5/32 Hex All 13FA3715 3/8-16 3/8 Steel N/A
All 13FA3302 1/4-20 3/4 Steel 5/32 Hex Floor Anchors
All 13FA3606 1/4-20 3/4 Stainless | 5/32 Hex 15s 13FA3376 3/8-16 3 Steel N/A
All 13FA3336 1/4-20 1 Steel 5/32 Hex 15s 13FA3377 1/2-13 33/4 Steel N/A

15/40| 13FA3321 5/16-18 12 Steel 3/16 Hex

15/40| 13FA3600 5/16-18 12 Stainless | 3/16 Hex

15/40| 13FA3322 5/16-18 5/8 Steel 3/16 Hex

15/40| 13FA3602 5/16-18 5/8 Stainless | 3/16 Hex

15/40| 13FA3323 5/16-18 3/4 Steel 3/16 Hex

15/40| 13FA3324 5/16-18 1 Steel 3/16 Hex

15/40| 13FA3604 5/16-18 1 Stainless | 3/16 Hex

15/40| 13FA3338 1/2-13 3/4 Steel 5/16 Hex

www.Faztek.ca

Series| PartNo. | Thread | Length | Material | Tool
Socket Head Cap Screws (SHCS)
All | 13MFA3640 M5 8 Steel M5 Hex
All | 13MFA3641 M5 12 Steel M5 Hex
All | 13MFA3642 M5 16 Steel M5 Hex
All | 13MFA3619 M5 20 Steel M5 Hex
All | 13MFA3600 M6 12 Steel M5 Hex
All | 13MFA3602 M6 16 Steel M5 Hex
All | 13MFA3618 M6 20 Steel M5 Hex
All | 13MFA3606 M6 22 Steel M5 Hex
All | 13MFA3646 M6 25 Steel M5 Hex
40 | 13MFA3607 M8 12 Steel M5 Hex
40 | 13MFA3607 M8 14 Steel M5 Hex
40 | 13MFA3613 M8 16 Steel M5 Hex
40 | 13MFA3615 M8 20 Steel M5 Hex
40 | 13MFA3608 M8 25 Steel M5 Hex
40 | 13MFA3656 M8 40 Steel M5 Hex
40 | 13MFA3657 M8 50 Steel M5 Hex
Button Head Socket Cap Screws (BHSCS)
All | 13MFA3643 M5 8 Steel M5 Hex
All | 13MFA3644 M5 12 Steel M5 Hex
All | 13MFA3645 M5 16 Steel M5 Hex
All | 13MFA3621 M6 10 Steel M5 Hex
All | 13MFA3605 M6 12 Steel M5 Hex
All | 13MFA3624 M6 14 Steel M5 Hex
All | 13MFA3647 M6 16 Steel M5 Hex
All | 13MFA3612 M6 20 Steel M5 Hex
15/40| 13MFA3648 M6 25 Steel M5 Hex
15/40| 13MFA3607 M8 12 Steel M5 Hex
15/40| 13MFA3655 M8 14 Steel M5 Hex
15/40| 13MFA3613 M8 16 Steel M5 Hex
15/40| 13MFA3615 M8 20 Steel M5 Hex
15/40| 13MFA3608 M8 25 Steel M5 Hex
15/40| 13MFA3656 M8 40 Steel M5 Hex
15/40| 13MFA3657 M8 50 Steel M5 Hex
Carriage Bolts
All | 13MFA3611 M6 2 Steel N/A
10/15| 13MFA3614 M8 25 Steel N/A

Fasteners

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-32-

514.576.8037



Fasteners

Speciality Fasteners

Anchor Fastener

Double Anchor Fastener

pplication

Butt Fastener

[ Application

’/j/'l',
“7

Machiningless Fastener

.

Fasteners

Series| PartNo. | Description |_Service No. | Service Description
Anchor Body
10s 10FA3700 Anchor Body - -
15/40 15FA3610 Anchor Body - -
Anchor Fasteners - Fractional
10s | 10FAC3750 Anchor Fastener Assembly w/ 10-32 Standard T-Nut 10MA9035 10s Counterbore Drilling service - pg. 23
15s | 15FAC3880 Anchor Fastener Assembly w/ 5/16-18 Standard T-Nut 15MA9071 15s Counterbore Drilling Service - pg. 23
15s | 15FAC3888 Anchor Fastener Assembly w/ 5/16-18 Drop-In T-Nut 15MA9071 15s Counterbore Drilling Service - pg. 23
Anchor Fasteners - Metric
15/40|15MFAC3720| Anchor Fastener Assembly w/ M8 X 1.25 Standard T-Nut 15MA9071 15s Counterbore Drilling Service - pg. 23
15s |15MFAC3728| Anchor Fastener Assembly w/ M8 X 1.25 Drop-In T-Nut 15MA9071 15s Counterbore Drilling Service - pg. 23
Double Anchor Fasteners - Fractional
15s | 15FAC3882 |Double Anchor Fastener Assembly w/ Standard T-Nut (1.5”)] 15MA9071 15s Counterbore Drilling Service - pg. 23
15s | 15FAC3884 |Double Anchor Fastener Assembly w/ Standard T-Nut (3.0”)] 15MA9071 15s Counterbore Drilling Service - pg. 23
Butt Fasteners
15s | 15FAC3886 Butt Fastener Assembly w/ 5/16-18 Standard T-Nut | 15MA9071 15s Counterbore Drilling Service - pg. 23

T-Anchor Fastener

T-Slot Connector

End Fastener

@), |
\‘/ |
Series| PartNo. | Description |_Service No. | Service Description
T-Anchor Fastener
15s | 15FAC3890 | T-Anchor Fastener Assembly for | 15MA9074 | SM Counterbore Drilling Service - pg. 23
T-Slot Connector
15s | 15FAC3894 | T-Slot Connector | - | No machining required
End Clip
10s 10FA3705 End Clip - -
15/40| 15FA3615 End Clip - -
End Fasteners - Fractional
multiple End Tap Service - pg. 22
10s | 10FAC3755 End Fastener Assembly w/ 1/4-20 x 3/4 Screw -
End Tap Service - pg. 22
multiple End Tap Service - pg. 22
15s | 15FAC3865 End Fastener Assembly w/ 5/16-18 x 1 Screw -
Access Hole Service - pg. 24
End Fasteners - Metric
Multiple End Tap Service - pg. 22
15/40|15MFAC3710 End Fastener Assembly w/ M8 X 25 Screw -
Access Hole Service - pg. 24

514.576.8037

*non-stock parts = 1-2 week lead-time - please call for details.

-33-

www.Faztek.ca

Series| Part No. Description Service No. Service Description
15s 15FAC3891 Faz-Connect™ Machiningless Fastener - NO MACHINING REQUIRED
*non-stock parts = 1-2 week lead-time - please call for details.
www.Faztek.ca -34 - 514.576.8037




Corner Brackets Corner Brackets

Corner Brackets 4-Hole Inside Corner Bracket 6-Hole Inside Corner Bracket 8-Hole Inside Corner Bracket
Corner Brackets are used to connect two extrusions at 90° angles. Most corner brackets are fastened on the inside of extrusions with a combination of P
T-nuts and button heads. Special tri-corner brackets are available to connect three extrusions at a corner. { . -
e e
Please review the following bolt pattern dimensions. e A A
« e
’» A B . ' .
¢ - =~ P < e «
! |l c =s C <B L S ;
S - c._~.8 c
N L j L Series Part No. Description A B C | Recommended Hardware |Part Weight
ﬂ*i R=mEy rF | s _ (4) 13FA3300
I T 10s 10CB4104 4-Hole Inside Corner Bracket | 1.00 | 1.00 | 1.88 .055 Ibs
T I I (4) 10FA3121
E
. (4) 13FA3331
Series| A B C D E F Material Finish 15s 15CB4803 4-Hole Inside Corner Bracket | 1.50] 1.50 | 2.81 ) 15FA3501 175 1bs
10s [1.00| 50 | .44 | 1.00|.281 DIA| .19 | 6061-T6, 6063-T6 | Clear Anodize (4) 15FA35
- 4) 13MFA3613
15s 11.50| .75 | .66 | 1.50 [.343 DIA| .25 | 6061-T6, 6063-T6 | Clear Anodize 40s | 40CB4803* | 4-Hole Inside Corner Bracket [38.10/38.1076.00 (4) 15MFA3920 A75 Ibs
40s [38.10]18.03|18.03(38.10| 8.71 DIA | 6.32 | 6061-T6, 6063-T6 | Clear Anodize (4)
) (6) 13FA3300
10s 10CB4121* | 6-Hole Inside Corner Bracket | 2.00 | 1.00 | 1.88 .085 Ibs
(6) 10FA3121
Note: Part numbers marked with a * are non-stock parts. 1-2 week lead-time - please call for deails (6) 13FA3331
2-Hole Inside Corner Bracket 3-Hole Inside Corner Bracket 4-Hole Inside Corner Bracket 15s | 15CB4806 | 6-Hole Inside Corner Bracket [ 3.00 ( 1.50 | 2.81 (6) 15FA3501 285 Ibs
// py
{ _ (6) 13MFA3613
"\ 40s 40CB4806* 6-Hole Inside Corner Bracket |76.20{38.10{76.00 .285 Ibs
A (6) 15SMFA3920
® A 8) 13FA3300
4 5 10s 10CB4106 8-Hole Inside Corner Bracket | 2.00]2.00 | 1.88 (®) .120 Ibs
< < (8) 10FA3121
. P . i< (8) 15FA3331
> c Py B — B"% P 15s 15CB4805 8-Hole Inside Corner Bracket | 3.00 | 3.00 | 2.81 .365 Ibs
p ~ ¢ P e (8) 15FA3501

8) 13MFA3613
Series Part No. Description A B C Recommended Hardware | Part Weight 40s 40CB4805* | 8-Hole Inside Corner Bracket [76.20(76.20]36.00 ® .365 Ibs

(2) 13FA3300 (8) 15SMFA3920

10s 10CB4100 2-Hole Inside Corner Bracket [ 1.00 ] 1.00 | .88 .025 Ibs
(2) 10FA3121
) (2) 13FA3331 6-Hole Inside Corner Bracket 12-Hole Inside Corner Bracket 12-Hole Center Inside Corner Bracket
15s 15CB4801 2-Hole Inside Corner Bracket | 1.50 | 1.50 | 1.31 .080 Ibs .
(2) 15FA3501 .,
_ (2) 13MFA3613 > 5 ) .
40s 40CB4801 2- Hole Inside Corner Bracket |38.10{38.10(36.00 .080 Ibs -
(2) 15MFA3920 % . b . N
) (3) 13FA3300 < « € A g 5 C <
10s 10CB4102 3-Hole Inside Corner Bracket | 2.00| 1.00| .88 .040 Ibs > ) .
(3) 10FA3121 c e g ; .
. (3) 13FA3331 B C._ N
15s 15CB4802 3-Hole Inside Corner Bracket | 3.00| 1.50 | 1.31 .130 lbs > SN
(3) 15FA3501 :
(3) 13MFA3613 Series| Part No. Description A B C D | Recommended Hardware |Part Weight
40s | 40CB4802* | 3-Hole Inside Corner Bracket |76.20{38.10{36.00 .130 Ibs (6) 13FA3331
(3) 15SMFA3920 15s | 15CB4815 | 6-Hole Inside Comer Bracket [ 1.50 [ 1.50 [4.31] - 275 Ibs
(4) 13FA3300 (6) 15FA3501
10s 10CB4103 | 4-Hole Inside Corner Bracket | 2.00 | 2.00 | .88 .055 Ibs (12) 13FA3300
(4) 10FA3121 10s | 10CB4113* |12-Hole Inside Corner Bracket|2.00 [ 2.00|2.88] - 185 Ibs
(4) 13FA3331 (12) 10FA3121
15s 15CB4804 | 4-Hole Inside Corner Bracket | 3.00 | 3.00 | 1.31 170 Ibs (12) 13FA3331
(4) 15FA3501 15s | 15CB4816 |12-Hole Inside Corner Bracket|3.00 [ 3.00 | 4.31] - 550 Ibs
(4) 13MFA3613 (12) 15FA3501
40s | 40CB4804 4-Hole Inside Corner Bracket |76.20]76.20]36.00 (4) 15MFA3920 170 Ibs 156 15CB4806" 12-Hole Center Inside Corner 2611300300581 (12) 13FA3331 665 Ibs
Bracket : ' ' : (12) 15FA3501 '
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -35- www.Faztek.ca www.Faztek.ca -36 - 514.576.8037



Corner Brackets

6-Hole Right Inside Corner Bracket 6-Hole Left Inside Corner Bracket
A A

< S

6-Hole Center Inside Corner Bracket

B
« . - ' -
D D D -
Series| Part No. Description A B c D | Recommended Hardware |Part Weight
i : i 6) 13FA3331
155 | 15cBag1t+ | ©-HoleRightinside Comer |4 4414441300281 ©) 330 Ibs
Bracket (6) 15FA3501
i i 6) 13FA3331
155 | 15CB4812* 6-Hole Left Inside Corner | 4 3413 453,00 [2.81 ©) 320 Ibs
Bracket (6) 15FA3501
_ i 6) 13FA3300
10s | 10cBatq7+ | B-Hole Centerinside Comer |4 1,15 012,00 1.88 ©) 115 Ibs
Bracket (6) 10FA3121
_ i 6) 13FA3331
155 | 15cBag13+ | B-Hole CenterInside Comer |4 441444300281 ©) 335 Ibs
Bracket (6) 15FA3501

Corner Brackets - Slotted

2-Hole Slotted Inside Corner Bracket 4-Hole Slotted Inside Corner Bracket

i

3-Hole Slotted Inside Corner Bracket

1 !
P 1 E D-E
e b E ] N
A [ A h il P
| d
- N I A
@ . - < 1
v/ c AN
~ P .
C P < <c . . R g B
Series Part No. Description A B c D E | Recommended Hardware |Part Weight
i i 2) 13FA3300
10s | 10cBagp1 | ZHole Slotted Inside Corner |4 5,14 60| g8 | 19 | 31 @) .025 Ibs
Bracket (2) 10FA3121
i i 2) 13FA3331
155 | 15cB400p | 2Hiole Slotted Inside Corner |4 5014 501131 50 | 50 @) 075 Ibs
Bracket (2) 15FA3501
_ i 3) 13FA3300
10s | 10cBazoe | 3-Hiole Slotted Inside Corner |4 5,15 5| gg | 19 | .31 ) .040 Ibs
Bracket (3) 10FA3121
i : 3) 13FA3331
155 | 15cB400s | 3-Hole Slotted Inside Corner | 4 51451131 50 | 50 ) 120 Ibs
Bracket (3) 15FA3501
_ : 4) 13FA3300
10s | 10cBagoas | 4-Hole Slotted Inside Corner | 4 541466 188 19 | 31 @) .055 Ibs
Bracket (4) 10FA3121
. : 4) 13FA3331
15s | 15CBago2 | 4-Hole Slotted Inside Comer |4 5| 4 5015 81] 50 | 50 @) 170 Ibs
Bracket (4) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -37 - www.Faztek.ca

Corner Brackets

6-Hole Slotted Inside Corner Bracket 6-Hole Slotted Inside Corner Bracket 9-Hole Slotted Inside Corner Bracket

« . 1 <
< A .
pd « A
C J o
7B N
Series Part No. Description A B C D E Recommended Hardware | Part Weight

i i 6) 13FA3300

10s | 10cBa2gs+ | B-Hiole Slotted Inside Corner |4 5,15 05| 188 19 | .31 ©) 085 Ibs
Bracket (6) 10FA3121
i i 6) 13FA3331

155 | 15cB40p1 | B-tiole Slotted Inside Corner | 4 51465281 50 | 50 ©) 265 Ibs
Bracket (6) 15FA3501
i i 6) 13FA3300

10s | 10cBa24+ | B-Hiole Slotted Inside Corner |4 5,14 651288 19 | .31 ©) 085 Ibs
Bracket (6) 10FA3121
i i 6) 13FA3331

155 | 15cBago3+ | B-Hiole Slotted Inside Corner | 4 514 501431 50 | 50 ©) 265 Ibs
Bracket (6) 15FA3501
i i 9) 13FA3331

155 | 15CBa004s | 9-Hiole Slotted Inside Corner | 4 5014051431 50 | 50 ©) 410 Ibs
Bracket (9) 15FA3501

4-Hole 45° Slotted Inside Corner Bracket Square Tri-Corner Bracket

b E 3
4 A
A »
<4
c ¥ B
Series Part No. Description A B C D Recommended Hardware | Part Weight
- ° i 4) 13FA3331
15s | 15cBag7Q | 4-Hole 45° Slotted Inside 1, 4914 4912 50 ; ) 1.160 Ibs
Corner Bracket (4) 15FA3501
i - 3) 13FA3710
155 | 15CB4846 | Square Tri-Corner Bracket |1.50|1.50 | 1.50 | D'l Thru & C-Bore for 5/16 ) 270 Ibs
LHSCS *Requires end taps on extrusion

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca -38- 514.576.8037



Transition Corner Brackets

Corner Brackets - Transition

2-Hole Transition Inside Corner Bracket

2-Hole Transition Inside Corner Bracket

4-Hole Transition Inside Corner Bracket

,,,G
; 1
> E
E 4
>
B
Series Part No. Description A F G H | Recommended Hardware

(1) 13FA3330
i ii i 1) 15FA3501

10-15| 13cBs002 [2Hole Transition Inside Comer| 56 | 4 56 f 400 [1.00] 125 - | - |.281DIa|343DIA M
Bracket (1) 13FA3308
(1) 10FA3121
(1) 13FA3331
) » . 1) 15FA3501

10-15| 13cBsopp [2Hole Transition Inside Comer| 0 | g5 4 50[150| 25 | - | - |.343DIA|281DIA M
Bracket (1) 13FA3309
(1) 10FA3121
(2) 13FA3331
) » . 15FA3501

10-15| 13cBs00q* [*Hole Transition Inside Comer| 44 | g5 f 300 [41.00|3.00]1.50| 25 |.343 DIA| 281 DIA (@)
Bracket (2) 13FA3309
(2) 10FA3121

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-39 -

www.Faztek.ca

Gusset Corner Brackets

Gusset corner brackets are used to connect two extrusions at 90° angles. Gussets are fastened on the inside of extrusions with a combination of T-nuts

Gusset Corner Brackets

and button heads. This is the strongest method of connecting extrusions by means of brackets.

2-Hole Inside Gusset Corner Bracket

4-Hole Inside Gusset Corner Bracket

4-Hole Inside Gusset Corner Bracket

Part No.

16-Hole Inside Gusset Corner Bracket

Series Description A B C | Recommended Hardware | Part Weight
i : 2) 13FA3300
10s | 10cBato1 | 2HoleInside Gusset Corner |4 1y 14 00| g8 2) 035 Ibs
Bracket (2) 10FA3121
. : 2) 13FA3331
155 | 15cB4sag | 2Hole Inside Gusset Corner | 4 514 50| 4 30 2) 115 Ibs
Bracket (2) 13FA3501
. : 4) 13FA3300
10s | 10cBatos | 4-HoleInside Gusset Corner |4 114 00| 1 88 @) 075 Ibs
Bracket (4) 10FA3121
. : 4) 13FA3331
155 | 15cB4saq1 | 4-Hole Inside Gusset Comner |4 514 50| 5 g @ 245 Ibs
Bracket (4) 13FA3501
. : 4) 13FA3300
10s | 10cBatog | 4-Hole Inside Gusset Comner |, 1y 15 0| g8 @) 180 Ibs
Bracket (4) 10FA3121
. : 4) 13FA3331
155 | 15cBasaz | 4-Hole Inside Gusset Corner |4 15 5| 1 34 @ 250 Ibs
Bracket (4) 13FA3501
8-Hole Inside Gusset Corner Bracket
e
Series Description A B C | Recommended Hardware |Part Weight
. : 8) 13FA3300
10s | 10cBato7 | &HoleInside Gusset Comner |, 15 | 1 88 ®) 110 Ibs
Bracket (8) 10FA3121
_ : 8) 13FA3331
155 | 15cB4ga | 8HoleInside Gusset Comner |4 13 | 5 g4 ®) 540 Ibs
Bracket (8) 13FA3501
i i 16) 13FA3331
155 | 15cB4sas | 16-Hole Inside Gusset Comer | 5 15 o | 5 g1 (16) 1.160 Ibs
Bracket (16) 13FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

- 40 -

514.576.8037




Joining Strips Transition Joining Strips

Joining Strips Joining Strips - Transition
Joining strips are used to connect two or more extrusions at various angles. Joining strips are fastened to the exterior of extrusions with a combination of . - . . - .
T-nuts and flanged button heads. 2-Hole TfanS|t|on Joining Strip 3-Hole Transition Joining Strip
Please review the following bolt pattern dimensions. I h 7 F » -G
A < ~E - g F
o fe ~
\]'\ 4 [N D
; 4 @ * AN B
\ 4 L Series Part No. Description A B C D E F G Recommended Hardware
E F (1) 13FA3331
- - = 1) 15FA3501
Bk e E i Ll il 10-15| 13JP6002 | 2-Hole Transition Joining Strip [ 2.50 [ 1.00 | .75 [1.25| 343 | 281 DIA| - ()
10s | .50 | .50 |1.00|1.00|.281 DIA| .19 | 6061-T6, 6063-T6 | Clear Anodize DIA (1) 13FA3309
15s | .75 | .75 |1.50|1.50 | .343 DIA .25 6061-T6, 6063-T6 | Clear Anodize (1) 10FA3121
40s |18.03(18.03|39.88/38.10| 8.71 DIA 6.35 6061-T6, 6063-T6 | Clear Anodize (2) 13FA3331
2) 15FA3501
10-15| 13JP6000* | 3-Hole Transition Joining Strip | 4.00 | 1.00| .75 | 1.50 | 1.25 (S)Afgl?cl:é (218)1PE|C')A (1) 13FA3309
2-Hole Joining Strip 3-Hole Joining Strip 4-Hole Joining Strip (1)
(1) 10FA3121
i T
. . - (1) 13FA3331
A - . " - . .343 DIA|.281 DIA (1) 15FA3501
A . A 10-151 13JP6001 3-Hole Transition Joining Strip [ 4.0011.00| .75 [ 1.50 | 1.25 (1)PLC |(2) PLCS (2) 13FA3309
vt ) . (2) 10FA3121
1 A
"B "B - B .
Series Part No. Description A B Recommended Hardware | Part Weight
o ) (2) 13FA3309
10s 10JP4201 2-Hole Joining Strip 2.00 | 1.00 .030 Ibs

(2) 10FA3121

o . (2) 13FA3331
15s 15JP4500 2-Hole Joining Strip 3.00 | 1.50 .105 Ibs
(2) 15FA3501

- _ (2) 13MFA3613
40s | 40JP4501* 2-Hole Joining Strip 76.20 | 38.10 105 Ibs
(2) 15MFA3920

- . (3) 13FA3309
10s 10JP4202 3-Hole Joining Strip 3.00 | 1.00 .045 Ibs
(3) 10FA3121

- _ (3) 13FA3331
15s | 15JP4502 3-Hole Joining Strip 450 | 1.50 155 Ibs
(3) 15FA3501

o . (3) 13MFA3613
40s 40JP4502* 3-Hole Joining Strip 114.30] 38.10 .155 Ibs
(3) 15SMFA3920

N _ (4) 13FA3509
10s | 10JP4213 4-Hole Joining Strip 4.00 | 1.00 .065 Ibs
(4) 10FA3121

o . (4) 13FA3331
15s 15JP4503 4-Hole Joining Strip 6.00 | 1.50 .205 Ibs
(4) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -41 - www.Faztek.ca www.Faztek.ca -42 - 514.576.8037



Joining Plates

Joining Plates

Joining plates are used to connect two or more extrusions at various angles. Joining plates are fastened to the exterior of extrusions with a combination

of T-nuts and flanged button heads.

Please review the following bolt pattern dimensions.

[ e

Series| A B C D E F Material Finish
10s |1.00| .50 | .50 | 1.00|.281 DIA| .19 6061-T6, 6063-T6 | Clear Anodize
15s |1.50| .75 | .75 | 1.50 | .343 DIA| .25 6061-T6, 6063-T6 | Clear Anodize
40s [38.10/18.03|18.03|38.10| 8.71 DIA | 6.32 6061-T6 Clear Anodize

4-Hole Joining Plate

A .

.

6-Hole Joining Plate

B

A L d
. .
— () N -
R N
B B . |
Series| Part No. Description A B Recommended Hardware | Part Weight
. (4) 13FA3309
10s 10JP4230 4-Hole Joining Plate 2.00 | 2.00 .070 Ibs
(4) 10FA3121
. (4) 13FA3331
15s 15JP4504 4-Hole Joining Plate 3.00 | 3.00 .210 Ibs
(4) 15FA3501
. (4) 13MFA3613
40s 40JP4504* 4-Hole Joining Plate 76.20 | 76.20 210 Ibs
(4) 15MFA3920
. (6) 13FA3309
10s 10JP4229* 6-Hole Joining Plate 3.00 | 2.00 .100 Ibs
(6) 10FA3121
. (6) 13FA3331
15s 15JP4534 6-Hole Joining Plate 4.50 | 3.00 .310 Ibs
(6) 15FA3501
. (8) 13FA3309
10s 10JP4208 8-Hole Joining Plate 4.00 | 2.00 .140 Ibs
(8) 10FA3121
. (8) 13FA3331
15s 15JP4509 8-Hole Joining Plate 6.00 | 2.00 415 |bs
(8) 15FA3501
. (8) 13MFA3613
40s 40JP4509 8-Hole Joining Plate 76.20 |1152.40 415 Ibs
(8) 15SMFA3920

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-43-

8-Hole Joining Plate

www.Faztek.ca

4-Hole 15° Joining Plate

Joining Plates

4-Hole 30° Joining Plate

4-Hole 45° Joining Plate

4-Hole 90° Joining Plate

~ \" D - ’ y D
> >
A _. ALS (o A
(2 4 - [ ‘ £
‘ s C ~ B
Series Part No. Description A B C D Recommended Hardware | Part Weight
o (4) 13FA3331
15s 15JP4518* 4-Hole 15° Joining Plate 2.99 | 3.00 | 3.50 | .992 .230 Ibs
(4) 15FA3501
o (4) 13FA3331
15s 15JP4525* 4-Hole 30° Joining Plate 2.74 | 3.00 | 3.50 | 1.69 .230 Ibs
(4) 15FA3501
o (4) 13FA3331
15s 15JP4529* 4-Hole 45° Joining Plate 450 | 3.00 | 2.35 | .850 .260 Ibs
(4) 15FA3501
4-Hole 60° Joining Plate 4-Hole 75° Joining Plate
‘D D N
N ‘ N -
B 1 B ‘ ~ B
Series Part No. Description A B C D Recommended Hardware | Part Weight
o (4) 13FA3331
15s 15JP4532*% 4-Hole 60° Joining Plate 2.35 | 3.00 | 450 | 2.35 .280 Ibs
(4) 15FA3501
o (4) 13FA3331
15s 15JP4500* 4-Hole 75° Joining Plate 1.89 | 3.00 | 4.78 | 2.22 .290 Ibs
(4) 15FA3501
o (4) 13FA3309
10s 10JP4203 4-Hole 90° Joining Plate 1.00 | 2.00 | 3.00 | 1.00 .085 Ibs
(4) 10FA3121
o (4) 13FA3331
15s 15JP4505 4-Hole 90° Joining Plate 1.50 | 3.00 | 4.50 | 1.50 .260 Ibs
(4) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-44 -

514.576.8037




Joining Plates

4-Hole Tee Joining Plate

5-Hole 90° Joining Plate

5-Hole Tee Joining Plate

D ~D.
A‘ A . : cC
. L
B 1
Series| Part No. Description A B c D Recommended Hardware |Part Weight
. (4) 13FA3309
10s 10JP4226* 4-Hole Tee Joining Plate 1.00 | 2.00 | 3.00 | 1.00 .085 Ibs
(4) 10FA3121
. (4) 13FA3331
15s 15JP4527* 4-Hole Tee Joining Plate 1.50 | 3.00 | 4.50 | 1.50 .260 lbs
(4) 15FA3501
. (5)13FA3309
10s 10JP4205 5-Hole 90° Joining Plate 1.00 | 3.00 | 3.00 | 1.00 120 Ibs
(5) 10FA3121
. (5) 15FA3331
15s 15JP4507 5-Hole 90° Joining Plate 1.50 | 4.50 | 4.50 | 1.50 .375 Ibs
(5) 15FA3501
o (5) 13MFA3613
40s 40JP4507* 5-Hole 90° Joining Plate 38.10 |114.30/114.30] 38.10 .370 Ibs
(5) 15MFA3920
. (5) 13FA3309
10s 10JP4204 5-Hole Tee Joining Plate 1.00 | 3.00 | 3.00 | 1.00 .120 Ibs
(5) 10FA3121
. (5) 13FA3331
15s 15JP4506 5-Hole Tee Joining Plate 1.50 | 450 | 4.50 | 1.50 .370 Ibs
(5) 15FA3501
. (5) 13MFA3613
40s 40JP4506* 5-Hole Tee Joining Plate 38.10 |114.30/114.30] 38.10 .370 Ibs
(5) 15MFA3920
6-Hole 15° Joining Plate 6-Hole 30° Joining Plate 6-Hole 45° Joining Plate
| D | G ~al P
AL ‘ Al ‘ N
1 B e -
B B BN
Series Part No. Description A B C D Recommended Hardware | Part Weight
o (6) 13FA3331
15s 15JP4517 6-Hole 15° Joining Plate 449 | 3.00 | 5.00 | .992 .335 Ibs
(6) 15FA3501
. (6) 13FA3331
15s 15JP4524* 6-Hole 30° Joining Plate 4.24 | 3.00 | 5.00 | 1.69 335 Ibs
(6) 15FA3501
. (6) 15FA3331
15s 15JP4528* 6-Hole 45° Joining Plate 6.00 | 3.00 | 3.85 | .850 .365 Ibs
(6) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-45-

www.Faztek.ca

6-Hole 60° Joining Plate

Joining Plates

6-Hole 75° Joining Plate

6-Hole 90° Joining Plate

D "D 1D
. v | v |
. lc | . . |c
B B B 9
Series Part No. Description A B c D Recommended Hardware | Part Weight
o (6) 13FA3331
15s 15JP4533* 6-Hole 60° Joining Plate 3.85 | 3.00 | 6.00 | 1.75 .395 Ibs
(6) 15FA3501
. (6) 13FA3331
15s 15JP4538* 6-Hole 75° Joining Plate 3.39 | 3.00 | 6.28 | 2.22 400 Ibs
(6) 15FA3501
o (6) 13FA3309
10s 10JP4214* 6-Hole 90° Joining Plate 2.00 | 2.00 | 4.00 | 1.00 .120 Ibs
(6) 10FA3121
- (6) 13FA3331
15s 15JP4519* 6-Hole 90° Joining Plate 3.00 | 3.00 | 6.00 | 1.50 .370 Ibs
(6) 15FA3501
6-Hole Tee Joining Plate 7-Hole 90° Joining Plate 7-Hole 90° Joining Plate
< D i D .
N A
T~ » . S . 3 -
k. T A E ‘
‘ - . A . . C N - E c
B ‘ ’ ‘ 1 N ‘ o
Series| Part No. Description A B c D Recommended Hardware |Part Weight |
. (6) 13FA3331
15s 15JP4511* 6-Hole Tee Joining Plate 1.50 | 7.50 | 3.00 | 1.50 415 Ibs
(6) 15FA3501
. (7) 13FA3309
10s 10JP4226* 7-Hole 90° Joining Plate 1.00 | 4.00 | 4.00 | 1.00 .205 Ibs
(7) 10FA3121
o (7) 13FA3331
15s 15JP4508* 7-Hole 90° Joining Plate 1.50 | 6.00 | 6.00 | 1.50 .605 Ibs
(7) 15FA3501
o (7) 13FA3309
10s 10JP4220* 7-Hole 90° Joining Plate 1.00 | 3.00 | 3.00 | 2.00 135 Ibs
(7) 10FA3121
o (7) 13FA3331
15s 15JP4523* 7-Hole 90° Joining Plate 1.50 | 4.50 | 4.50 | 3.00 415 Ibs
(7) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

- 46 -

514.576.8037



Joining Plates

7-Hole Tee Joining Plate

7-Hole Cross Joining Plate

8-Hole Tee Joining Plate

‘Dr . \\Dr D
Y - 2. . e .
4 . A -
A\ . . ‘ N % . .
Series Part No. Description A B C D Recommended Hardware | Part Weight
L (7) 13FA3309
10s 10JP4212* 7-Hole Tee Joining Plate 1.00 | 4.00 | 4.00 | 1.00 .200 Ibs
(7) 10FA3121
o (7) 13FA3331
15s 15JP4516* 7-Hole Tee Joining Plate 1.50 | 6.00 | 6.00 | 1.50 .615 Ibs
(7) 15FA3501
. (7) 13FA3331
15s 15JP4526* 7-Hole Cross Joining Plate 1.50 | 7.50 | 4.50 | 1.50 .580 Ibs
(7) 15FA3501
o (8) 13FA3309
10s 10JP4227* 8-Hole Tee Joining Plate 1.00 | 4.00 | 3.00 | 2.00 170 Ibs
(8) 10FA3121
L (8) 13FA3331
15s 15JP4530* 8-Hole Tee Joining Plate 1.50 | 6.00 | 4.50 | 3.00 525 Ibs
(8) 15FA3501
9-Hole 90° Joining Plate 10-Hole 90° Joining Plate 11-Hole Tee Joining Plate
™ 1D \ ™ D\ N x
A . = e A
| 5 - 1 L 5 A - 3
. ‘ A : 8.
e 3
B -5 ‘ B
Series Part No. Description A B C D Recommended Hardware | Part Weight
- (9) 13FA3309
10s 10JP4217* 9-Hole 90° Joining Plate 2.00 | 4.00 | 3.00 | 1.00 .180 Ibs
(9) 10FA3121
- (9) 13FA3331
15s 15JP4521* 9-Hole 90° Joining Plate 3.00 | 6.00 | 4.50 | 1.50 .545 Ibs
(9) 15FA3501
o (10) 13FA3309
10s 10JP4218* 10-Hole 90° Joining Plate 1.00 | 4.00 | 4.00 | 2.00 .225 Ibs
(10) 10FA3121
o (10) 13FA3331
15s 15JP4522* 10-Hole 90° Joining Plate 1.50 | 6.00 | 6.00 | 3.00 .690 Ibs
(10) 15FA3501
. (11) 13FA3309
10s 10JP4210* 11-Hole Tee Joining Plate 1.00 | 5.00 | 3.00 | 3.00 225 Ibs
(11) 10FA3121
N (11) 13FA3331
15s 15JP4535* 11-Hole Tee Joining Plate 1.50 | 7.50 | 4.50 | 4.50 .680 Ibs
(11) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-47 -

www.Faztek.ca

12-Hole 90° Joining Plate

Joining Plates

12-Hole Tee Joining Plate

12-Hole Cross Joining Plate

D . N D . D,
(3 e a A . S
™ s ‘ ™ y
,?\ o ‘ . ,?\ . ‘
— B » - B B
Series Part No. Description A B C D Recommended Hardware | Part Weight
. (12) 13FA3309
10s 10JP4209* 12-Hole 90° Joining Plate 2.00 | 4.00 | 4.00 | 2.00 .245 Ibs
(12) 10FA3121
o (12) 13FA3331
15s 15JP4510 12-Hole 90° Joining Plate 3.00 | 6.00 | 6.00 | 3.00 .735 Ibs
(12) 15FA3501
. (12) 13FA3309
10s 10JP4216* 10-Hole Tee Joining Plate 2.00 | 4.00 | 4.00 | 2.00 .245 lbs
(12) 10FA3121
o (12) 13FA3331
15s 15JP4520 12-Hole Tee Joining Plate 3.00 | 6.00 | 6.00 | 3.00 .730 Ibs
(12) 15FA3501
. (12) 13FA3331
15s 15JP4531* 12-Hole Cross Joining Plate | 3.00 | 7.50 | 6.00 | 1.50 .850 Ibs
(12) 15FA3501
16-Hole Tee Joining Plate 16-Hole Cross Joining Plate 20-Hole 90° Joining Plate
D\ \‘\\\\ P D\
B ™~ : - .
N . 3 Balt . -
JA . P ‘ L . . Al : .
~_ " C. N, -
B - D ‘:‘\ B. ) ‘
Series Part No. Description A B C D Recommended Hardware | Part Weight
. (16) 13FA3331
15s 15JP4536* 16-Hole Tee Joining Plate 3.00 | 7.50 | 6.00 | 4.50 .995 Ibs
(16) 15FA3501
- (16) 13FA3331
15s 15JP4511* 16-Hole Cross Joining Plate | 3.00 | 6.00 | 3.00 | 9.00 1.065 Ibs
(16) 15FA3501
. (20) 13FA3331
15s 15JP4514* 20-Hole 90° Joining Plate 6.00 | 6.00 | 9.00 | 3.00 1.140 lbs
(20) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-48 -

514.576.8037



Joining Plates 45° Supports

20-Hole Tee Joining Plate 20-Hole Cross Joining Plate 32-Hole Joining Plate 45° SUerOI'tS
D D 45° Supports provide strong connections for heavy duty projects where high weight loads may exist. You can also reinforce existing connections with 45°
N Al B e supports to ensure maximum handling capacity.
l\ et N e * Hardware included - screws, washers and t-nuts
- "*‘ . @ + Choose from a variety of lengths or customize to fit your needs
‘ - ‘ e N B « Available in both EX and QE profiles
N . h B c B - Series| Part No. Extrusion Description Length
B.. ‘ 10s 10SP1801 10EX1010 1.00” x 1.00” Grooved 45° Support 6.00”
. — _ . 10s 10SP1804 10QE1010 1.00” x 1.00” Smooth 45° Support 6.00”
Series Part No. Description A B C D Recommended Hardware | Part Weight
(20) 13FA3331 10s 10SP1811 10EX1020 1.00” x 2.00” Grooved 45° Support 6.00”
15s 15JP4515* 20-Hole Tee Joining Plate 3.00 | 6.00 | 6.00 | 9.00 (20) 15FA3501 1.175 Ibs 15s 15SP1850 15EX1515 1.50” X 1.50” Grooved 45° Support 6.00”
(20) 13FA3309 15s 15SP1870 15QE1515 1.50” X 1.50” Smooth 45° Support 6.00”
10s 10JP4211* 20-Hole Cross Joining Plate | 2.00 | 7.00 | 4.00 | 3.00 (20) 10FA3121 415 Ibs 15s 15SP1854 15EX1515L | 1.50” X 1.50” Lite Grooved 45° Support | 6.00”
(20) 13FA3331 15s 15SP1874 15QE1515L | 1.50” X 1.50” Lite Smooth 45° Support 6.00”
15s 15JP4537* 20-Hole Cross Joining Plate | 3.00 | 10.50 | 6.00 | 4.50 (20) 15FA3501 1.290 Ibs 15s 15SP1860 15EX1530 1.50” X 3.00” Grooved 45° Support 6.00”
(32) 13FA3331 15s 15SP1878 15QE1530 1.50” X 3.00” Smooth 45° Support 6.00”
15s | 15JP4513* 32-Hole Joining Plate 6.00 | 12.00| - - (32) 15FA3501 1.650 Ibs 15s | 15SP1865 | 15EX1530L | 1.50” X 3.00” Lite Grooved 45° Support | 6.00”
15s 15SP1885 | 15QE1530L | 1.50” X 3.00” Lite Smooth 45° Support | 6.00”
10s 10SP1802 10EX1010 1.00” x 1.00” Grooved 45° Support 12.00”
10s 10SP1805 10QE1010 1.00” x 1.00” Smooth 45° Support 12.00”
10s 10SP1812 10EX1020 1.00” x 2.00” Grooved 45° Support 12.00”
15s 155P1851 15EX1515 1.50” X 1.50” Grooved 45° Support 12.00”
15s 15SP1871 15QE1515 1.50” X 1.50” Smooth 45° Support 12.00”
15s 15SP1855 15EX1515L | 1.50” X 1.50” Lite Grooved 45° Support | 12.00”
15s 15SP1875 15QE1515L | 1.50” X 1.50” Lite Smooth 45° Support | 12.00”
15s 155P1861 15EX1530 1.50” X 3.00” Grooved 45° Support 12.00”
15s 15SP1879 15QE1530 1.50” X 3.00” Smooth 45° Support 12.00”
15s 15SP1866 15EX1530L | 1.50” X 3.00” Lite Grooved 45° Support | 12.00”
15s 15SP1882 15QE1530L | 1.50” X 3.00” Lite Smooth 45° Support | 12.00”
10s 10SP1803 10EX1010 1.00” x 1.00” Groved 45° Support 18.00”
10s 10SP1806 10QE1010 1.00” x 1.00” Smooth 45° Support 18.00”
10s 10SP1813 10EX1020 1.00” x 2.00” Groved 45° Support 18.00”
15s 15SP1852 15EX1515 1.50” X 1.50” Grooved 45° Support 18.00”
15s 15SP1872 15QE1515 1.50” X 1.50” Smooth 45° Support 18.00”
15s 15SP1856 | 15EX1515L | 1.50” X 1.50” Lite Grooved 45° Support | 18.00”
15s 15SP1876 | 15QE1515L | 1.50” X 1.50” Lite Smooth 45° Support | 18.00”
15s 15SP1862 15EX1530 1.50” X 3.00” Grooved 45° Support 18.00”
15s 15SP1880 15QE1530 1.50” X 3.00” Smooth 45° Support 18.00”
15s 15SP1867 | 15EX1530L | 1.50” X 3.00” Lite Grooved 45° Support | 18.00”
15s 15SP1883 | 15QE1530L | 1.50” X 3.00” Lite Smooth 45° Support | 18.00”
15s 15SP1853 15EX1515 1.50” X 1.50” Grooved 45° Support 24.00”
15s 15SP1873 15QE1515 1.50” X 1.50” Smooth 45° Support 24.00”
15s 15SP1857 15EX1515L | 1.50” X 1.50” Lite Grooved 45° Support | 24.00”
15s 15SP1877 15QE1515L | 1.50” X 1.50” Lite Smooth 45° Support | 24.00”
15s 15SP1863 15EX1530 1.50” X 3.00” Grooved 45° Support 24.00”
15s 15SP1881 15QE1530 1.50” X 3.00” Smooth 45° Support 24.00”
15s 15SP1868 15EX1530L | 1.50” X 3.00” Lite Grooved 45° Support | 24.00”
15s 15SP1884 | 15QE1530L | 1.50” X 3.00” Lite Smooth 45° Support | 24.00”
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -49 - www.Faztek.ca www.Faztek.ca -50 - 514.576.8037



Hinges

Aluminum Butt Hinge Heavy Duty Steel Door Hinge Heavy Duty Plastic Hinge

Series Part No. Description A B C E F Recommended Hardware
. ) 281 (4) 13FA3308
10s 10H18216 Aluminum Butt Hinge 2.00|1.00|2.00(1.06] -
DIA (2) 10FA3122
) ) 343 (4) 13FA3330
15s 15HI8514 Aluminum Butt Hinge 3.0011.5011.63]13.00| -
DIA (2) 15FA3502
. ) 8.33 (4) 13MFA3607
40s 40H18530* Aluminum Butt Hinge 76.54|40.23|77.47(26.67| -
DIA (4) 15MFA3920
Hardware Included
15s | 15HIgs1g | HeavyDutySteelDoor ;4514 50103gf1.901( 31| -
Hinge
o Hardware Included
15s 15HI18527* Heavy Duty Plastic Hinge |2.76 [ 1.79]1.7911.18] .39 | .255

Heavy Duty Aluminum Lift-Off Hinge Right Aluminum Lift-Off Hinge Left Aluminum Lift-Off Hinge

<

B/\' \\i\\ T\ A

'S

1
i
ANy /// o)
N (o
~ ~
1
D e
~ -
-

\

N

Series Part No. Description A B C D | Recommended Hardware
i Hardware Included
15s | 15HIg75s | Heavy Duty Aluminum ., 5o 5o f303]3.09
Lift-Off Hinge

Right Aluminum Lift-Off Hardware Included

Hinge

15s 15HI8756 1.59| .50 |2.03]3.09

Hardware Included

15s 15HI8757  |Left Aluminum Lift-Off Hinge| 1.59 | .50 |2.03 | 3.09

Left Plastic Transition Lift-Off Hinge

-

Heavy Duty Plastic Transition Lift-Off Hinge
B A

Right Plastic Transition Lift-Off Hinge

<

Cc

Series Part No. Description A B C | Recommended Hardware
Heavy Duty Plastic Hardware Included
10-15 13H18104 Transition Lift-Off Hinge 1.31]11.72]1.69
Right Plastic Transition Hardware Included
10-15 13HI8100 Lift-Off Hinge 1.2211.72| -
i iti ift- Hardware Included
10-15 13HI13101 Left Plastic ;zﬁgzltlon Lift-Off 1221172 -

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -51 - www.Faztek.ca

Hinges

Right Aluminum Lift-Off Hinge
B )((\\ ’\\

Heavy Duty Aluminum Lift-Off Hinge

Series Part No. Description A B C D | Recommended Hardware

Heavy Duty Plastic Lift-Off Hardware Included

Hinge

10s 10HI7810 1.06| .63 |2.31]1.81

Heavy Duty Plastic Lift-Off Hardware Included

Hinge

15s 15HI8704 1.56| .63 |2.94]2.81

Hardware Included

10s 10HI7810 Right Plastic Lift-Off Hinge | 1.06 | .63 | 1.53 | 1.81

Hardware Included

15s 15HI18726 Right Plastic Lift-Off Hinge | 1.56 | .63 | 1.53 | 2.81

Hardware Included

10s 10HI7820 Left Plastic Lift-Off Hinge |1.06| .63 | 1.53]1.81

Hardware Included

15s 15HI18725 Left Plastic Lift-Off Hinge | 1.56 | .63 | 1.53]2.81

Plastice Adjustable Hinge Door Positioning Plastic Hinge

~

Note: The below hinges are not to be used to hinge two extrusions together

Series Part No. Description A B C D E | Recommended Hardware
. . . A77 Hardware Included
10s 10HI7810 Plastic Adjustable Hinge |1.00|1.68 | 1.44 oia| -
) ) . 265 Hardware Included
15s 15HI8515 Plastic Adjustable Hinge | 1.50]2.50|2.25 oAl -

Door Positioning Plastic Hardware Included

Hinge

15s 15HI8550* 1281981135218 .64

Door Positioning Plastic Hardware Included

40s 40HI8540* 35.05]48.00(27.94(58.93|16.00

Hinge
Faztube|] 13FT9295 1” Faztube Hinge .82 [4.38]12.13| .82 - No Hardware Required
*non-stock parts = 1-2 week lead-time - please call for details.
www.Faztek.ca -52- 514.576.8037

Left Aluminum Lift-Off Hinge

Faztube Hinge

.»\A/\




Hinges Hinges

Schmersal Hinge Assembly w/o Switch Schmersal Hinged Interlock Switch Steel Pivot Hinge W/ Lock Handle Pivot Arm Fixed Pivot Arm L-Pivot Arm
- - ) . A
A »/\/\B A \\ A \ \\
- B - Y .. u
__ | 5 |
‘ Ne B.
Ne
| c Ok D
. ) - C.
l D c. ‘c
Series Part No. Description A B C D E | Recommended Hardware Series Part No. Description A B C D E | Recommended Hardware
: 3) 13FA3300
10s | 1oHig262+ | Schmersal Hinge Assembly | 5 05 |4 55 [5 g0 [ 1,34 - Hardware Included 10s | 10HI8315 3.0° Pivot Arm rR.50| 281 L100|300] - )
wlo Switch DIA Thru (2) 10FA3121
) 3) 13FA3331
15s | 15Higse2+ | Schmersal Hinge Assembly | 5 oo [ 5 44 | 280 1.74] - Hardware Included 155 | 15HI8802 4.5 Pivot Arm R.75| 343 f4s0las0] - (3)
w/o Switch DIA Thru (2) 15FA3501
- 2) 13FA3309
10s | 10Hig2e0+ | Schmersal Hinged Interlock f 5 10 f 4 46 | 2 80 [ 1.34 | 4.08 Hardware Included 10s | 10HI8338 4.0" Fixed PivotArm R 50| 28" 1400|4.00] - @)
Switch DIA Thru (1) 10FA3121
) 2) 13FA3330
15s | 15Higse0* | Schmersal Hinged Interlock | 5 o5 | 5 44 2 80| 1.74 | 4.08 Hardware Included 15s | 15HI8852 6.0° Fixed PivotAm  |R.75| 343 f450|6.00] - 2)
Switch DIA Thru (1) 15FA3502
o , 281 (3) 13FA3300
15s 15HI8712 Steel Pivot Hinge 1.50(1.50|2.50| .38 - Hardware Included 10s 10HI8312 1.0” L-Pivot Arm R .50 1.00 | 2.00 | 1.00
DIAThru (2) 10FA3121
— 3) 13FA3331
15s | 15HIg700 | Steel PivotHingew/Lock |4 56 f 4 5615 50] 38 | - Hardware Included 15s | 15HI8805 1.5” L-Pivot Arm R.75| 343 L450[3.00[1.50 (3)
Handle DIAThru (2)15FA3501
0° Pivot Nub & Living Pivot Nub 90° Pivot Nub & Living Pivot Nub Universal Pivot Nub & Living Pivot Nub Living Pivot Arm Living L-Pivot Arm Living Hinge Fastener Kit
H . H A \ A \\ .
A Self lubricating bronze \
— |\ e bushing included —— r
E ‘ i
[ C» }‘\ -
< F B D - i
C .y ~ X < S .
Series| Part No. Description A|lB]|]C D E F G H ~B
10s 10H18308 1.0” 0° Pivot Nub 1.00| .50 [1.00| .50 | 1/4-20 Tap Thru | 1.00| .50 | Drill/C-Bore for 1/4 SHCS Series| Part No. Description A B C | D | E | Recommended Hardware
15s | 15HI8816 1.5" 0° Pivot Nub 150| 75 |1.50| .75 | 5/16-18 Tap Thru | 1.50 | .75 | DrilliC-Bore for 5/16 SHCS 081 (1) 10HI8320

10s | 10HI8304 3.0” Living PivotAm  [R.80| °2 - [1.00]3.00( - (2) 13FA3110
(2) 10FA3121
(1) 15H18850

10s 10HI8300 1.0” 0° Living Pivot Nub | 1.00 | .50 [ 1.00| .50 | 1/4-20 Tap Thru | .94 | .47 | Drill/C-Bore for 1/4 SHCS
15s 15HI8814 1.5” 0° Living Pivot Nub | 1.50| .75 | 1.50| .75 | 5/16-18 Tap Thru | 1.44 | .72 | Drill/C-Bore for 5/16 SHCS

10s | 10HI8310 1.0" 90° Pivot Nub 1.00| 50 [1.00| .50 | 1/4-20 Tap Thru [1.00| - | DrilliC-Bore for 1/4 SHCS o 343

155 | 15HI8803 15790° PivotNub | 1.50| .75 | 1.50| .75 | 5/16-18 Tap Thru | 1.50| - | DrilliC-Bore for 5/16 SHCS 15s | 15HI8808 48" Living PivotArm — IR.751 - Ay | 19014501 - (2) 13FA3331
10s | 10HI8302 | 1.0"90° Living Pivot Nub |1.00| .50 [1.00| .50 | 1/4-20 Tap Thru | .94 | - | DrilliC-Bore for 1/4 SHCS (2) 15FA3501
15s | 15HI8812 | 1.5790° Living PivotNub | 1.50 | .75 [1.50 | .75 [5/16-18 Tap Thru| 1.44| - | Drillic-Bore for 5/16 SHCS N _ Dril/C-Sink for (1) 10H18320
10s | 10HI8306 2" Universal Pivot Nub [ 1.00 [ .50 | 1.00| .50 | 1/4-20 Tap Thru | 2.00|1.00 | Drill/C-Bore for 1/4 SHCS 10s | 10HIB313 1.0" Living L-Pivot Arm IR .50( ")/ rpigcg [ 1:00 (2.0011.00 (2) 13FA3110
15s | 15HI8800 3" Universal Pivot Nub | 1.50 | .75 |1.50 | .75 | 5/16-18 Tap Thru | 3.00 | 1.50 | DrilliC-Bore for 5/16 SHCS (2) 10FA3121
10s | 10HI8317 [|2” Universal Living Pivot Nub| 1.00 | .50 [1.00| .50 | 1/4-20 Tap Thru | 1.94 [ 1.00 | DrilliC-Bore for 1/4 SHCS (1) 15HI18850

Drill/C-Sink for

15s 15HI18810 1.5” Living L-PivotArm  |R .7

[$)]

1.50|3.00] 1.50 2) 13FA3353
2) 15FA3501
2) 13FA3716

(
(
(
10s 10H18320 Living Hinge Fastener Kit - (2) 13FA3746
(
(
(
(

15s 15H18806  [3” Universal Living Pivot Nub| 1.50 | .75 | 1.50| .75 | 5/16-18 Tap Thru | 2.94 | 1.50 | Drill/C-Bore for 5/16 SHCS 5/16 FHSCS

2) 13FA3745
2) 13FA3715
2) 13FA3749
4) 13FA3747

15s 15HI18850 Living Hinge Fastener Kit -

*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -53- www.Faztek.ca www.Faztek.ca -54 - 514.576.8037



Hinges Hinges

90° Left-Hand Pivot Bracket 90° Right-Hand Pivot Bracket 180° Pivot Bracket 0° Pivot & Living Hinge 0° Pivot & Living Hinge w/ L-Bracket 0° Pivot & Living Hinge w/ L-Bracket & Arm
A

"~

/\

~
~
\
Series Part No. Description A B C D E F | Recommended Hardware Series Part No. Description Assembled Using Recommended Hardware
(1) 10HI8374 _ , (1) 10HI8308 (4) 13FA3300
10s 10HI8329* 0° Pivot Hinge
10s 10HI8351 |90° Left-Hand Pivot Bracket| 1.00 | 1.00|3.00|1.50| .19 | - (3) 13FA3309 (2) 10HI18315 (4) 10FA3121
(3) 10FA3121 _ _ (1) 15H18816 (4) 13FA3331
15s 15HI18820* 0° Pivot Hinge
(1) 15HI8887 (2) 15HI18802 (4) 15FA3501
15s 15HI8860 |90° Left-Hand Pivot Bracket| 1.50 | 1.50 [ 4.50 | 2.25| .25 | - (3) 13FA3331 o (1)10HI8300 (4) 13FA3300
10s 10H18321* 0° Living Hinge
(3) 15FA3501 (2) 10H18304 (4) 10FA3121
(1) 10HI8374 5 15HIB829" 0° Living Hi (1) 15H18814 (4) 13FA3331
° Rj - i S vin: Inge
10s | 10HI8352 90 R'g;:a':f;d Pivot 11 00[1.00]|3.00[150] 19| - (3) 13FA3309 gring (2) 15H18808 (4) 15FA3501
(3) 10FA3121 , ) (1) 10H18308 (4) 13FA3110
10s 10HI8332* | 0° Pivot Hinge w/ L-Bracket
(1) 15H18887 (2) 10HI18312 (2) 10FA3122
155 | 15HI8861 90% Right-Hand Pivot 14 55 | 4 50 450 | 2.25| 25 | - (3) 13FA3331 o (1) 15H18816 (4)13FA3331
Bracket 15s | 15HI8823* |0° Pivot Hinge w/ L-Bracket
(3) 15FA3501 (2) 15HI8805 (4) 15FA3501
(1) 10HI18374 o (1) 10HI8300 (4) 13FA3300
10s 10H18323* |0° Living Hinge w/ L-Bracket
10s 10H18350 180° Pivot Bracket 1.00[1.00 (4.50|1.50|1.00| .19 (5) 13FA3309 (2)10HI8313 (4) 10FA3121
(5) 10FA3121 o (1) 15H18814 (4) 13FA3353
15s 15H18832* |0° Living Hinge w/ L-Bracket
(1) 15H18887 (2) 15HI8810 (4) 15FA3501
15s 15H18862 180° Pivot Bracket 1.501.50 [ 7.50|2.25]| 1.50| .25 (5) 13FA3353 (1) 10H18308 (2) 13FA3300
5) 15FA3501 ° pi i - 1) 10H18312 2) 13FA3110
) 10s 10HI8335+ | O° Pivot Hinge w/ L-Bracket (1) (2)
&Arm (1) 10HI18315 (2) 10FA3121
- (1) 10FA3122
. . (1) 15H18816 (4) 13FA3331
155 | 15HIgs28 | O Pivot H'ggjrx’ L-Bracket (1) 15HI8805 (4) 15FA3501
(1) 15H18802 -
S (1) 10HI8300 (4) 13FA3300
10s | 10Higage* |7 LVing Finge wilL-Bracket (1) 10HI8313 (4) 10FA3121
(1) 10HI8304 -
(1)15H18814 (2) 13FA3331
15 | 15Hige3ss |0 Lving H'ggfrr;"’ L-Bracket (1) 15H18810 (2) 13FA3353
(1) 15H18808 (2) 15FA3501
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -55 - www.Faztek.ca www.Faztek.ca - 56 - 514.576.8037



Hinges

90° Pivot & Living Hinge

90° Pivot & Living Hinge w/ L-Bracket

&

Series Part No. Description Assembled Using Recommended Hardware
S (1)10H18310 (4) 13FA3300
10s 10HI8330* 90° Pivot Hinge
(2) 10HI18315 (4) 10FA3121
) ) (1) 15H18803 (4) 13FA3353
15s 15HI8821* 90° Pivot Hinge
(2) 15H18802 (4) 15FA3501
o (1) 10HI18302 (4) 13FA3300
10s 10HI8339* 90° Living Hinge
(2) 10H18304 (4) 10FA3121
o . (1) 15HI18812 (4) 13FA3331
15s 15HI8830* 90° Living Hinge
(2) 15HI18808 (4) 15FA3501
S (1) 10HI18310 (4) 13FA3110
10s 10H18333* [90° Pivot Hinge w/ L-Bracket]
(2) 10H18312 (2) 10FA3122
) i (1) 15H18803 (4) 13FA3353
15s 15H18824*  [90° Pivot Hinge w/ L-Bracket]
(2) 15HI18805 (4) 15FA3501
° Livi i 1) 10HI8302 4) 13FA3300
10s 10HI8324 90° Living Hinge w/ (1) (4)
L-Bracket (2) 10HI8313 (4) 10FA3121
° Livi i 1) 15H18812 4) 13FA3353
155 15HI8833* 90° Living Hinge w/ (1) (4)
L-Bracket (2) 15HI8810 (4) 15FA3501
(1) 10HI8310 (2) 13FA3300
° Pj i - 1) 10HI8312 2) 13FA3110
10s | 1omis3zer  [00° Pivot Hinge w/ L-Bracket (1) )
&Arm (1) 10HI18315 (2) 10FA3121
- (2) 10FA3122
o (1) 15H18803 (2) 13FA3331
155 | 15Higs27 |20 Pivot Hg‘i‘ir‘r’]"’ L-Bracket (1) 15HI8805 (2) 13FA3353
(1) 15HI18802 (4) 15FA3501
(1) 10HI8302 (4) 13FA3300
. 90° Living Hinge w/
10s 10H18327 L-Bracket & Arm (1) 10HI8313 (4) 10FA3121
(1) 10H18304 -
(1) 15H18812 (2) 13FA3331
15s | 15HI8836* 90 Living Hinge w/ (1) 15H18810 (2) 13FA3353

L-Bracket & Arm

(1) 15HI8806

(4) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-57 -

90° Pivot & Living Hinge w/ L-Bracket & Arm

www.Faztek.ca

Universal Pivot & Living Hinge

P

Hinges

Universal Pivot & Living Hinge w/ L-Bracket Universal Pivot & Living Hinge w/ L-Bracket & Arm

Series Part No. Description Assembled Using Recommended Hardware
, S (1) 10HI18306 (4) 13FA3300
10s 10H18331* 2” Universal Pivot Hinge
(2) 10HI18315 (4) 10FA3121
) ) i (1) 15H18800 (4) 13FA3331
15s 15HI18822* 3” Universal Pivot Hinge
(2) 15H18802 (4) 15FA3501
, S (1) 10HI18317 (4) 13FA3300
10s 10H18322* 2” Universal Living Hinge
(2) 10H18304 (4) 10FA3121
) o (1) 15H18806 (4) 13FA3331
15s 15HI8831* 3” Universal Living Hinge
(2) 15H18808 (4)15FA3501
» Uni ivot Hi 1) 10HI8306 4) 13FA3110
10s 10HI8334* 2” Universal Pivot Hinge w/ (1) (4)
L-Bracket (2) 10HI18312 (4) 10FA3122
" Uni i i 1) 15H18800 4) 13FA3353
155 15HI8825+ | 3 Universal Pivot Hinge w/ (1) (4)
L-Bracket (2) 15HI8805 (4) 15FA3501
" Uni ivi i 1) 10HI8317 4) 13FA3300
10s 10HI8325* 2” Universal Living Hinge w/ (1) (4)
L-Bracket (2) 10HI18313 (4) 10FA3121
* Uni ivi i 1) 15H18806 4) 13FA3353
155 15HI8834+ |3 Universal Living Hinge w/ (1) (4)
L-Bracket (2) 15H18810 (4) 15FA3501
(1) 10HI8306 (2) 13FA3300
* Uni i i 1) 10HI8312 2) 13FA3110
10s | 10mis3s7e |2 Universal Pivot Hinge w/ (1) (2)
L-Bracket & Arm (1) 10HI8315 (2) 10FA3121
- (1) 10FA3122
(1) 15H18800 (2) 13FA3331
. 3” Universal Pivot Hinge w/
15s 15H18828 L-Bracket & Arm (1) 15H18805 (2) 13FA3353
(1) 15H18802 (4) 15FA3501
(1) 10HI8317 (4) 13FA3300
+ |2” Universal Living Hinge w/
10s | 10HI8328 | -Bracket & Arm (1) 10HI18313 (4) 10FA3121
(1) 10HI18304 -
. o . (1) 15H18806 (2) 13FA3331
15s | 15HIgg37+ |3 Universal Living Hinge w/ (1) 15H18810 (2) 13FA3353

L-Bracket & Arm

(1) 15H18808

(4) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

- 58 -

514.576.8037



Hinges

Left-Hand 90° Pivot Hinge w/ Handle

Right-Hand 90° Pivot Hinge w/ Handle

Series Part No. Description Assembled Using Recommended Hardware
" Left- ° pi 1) 10HI8308 3) 13FA3309
10s | 10HI8353* 1.0” Left-Hand 90° Pivot (1) (3)
Hinge w/ Handle (1) 10HI8351 (3)10FA3121
» L eft- ° pi 1) 15HI8816 3) 13FA3331
15s | 15HI8863* 1.5” Left-Hand 90° Pivot (1) (3)
Hinge w/ Handle (1) 15HI8860 (3) 15FA3501
" Left- ° pj 1) 10HI8306 3) 13FA3309
10s | 1omi8357* 2.0” Left-Hand 90° Pivot (1) (3)
Hinge w/ Handle (1) 10HI8351 (3) 10FA3121
" Left- ° Pi 1) 15HI8800 3) 13FA3331
15s | 15m1sse7+ | 307 LeftHand 90° Pivot (1) ®)
Hinge w/ Handle (1) 15HI8860 (3) 15FA3501
» Right- ° pj 1) 10HI8308 3) 13FA3309
10s 1omis3ss | 1-0” Right-Hand 90° Pivot (1) (3)
Hinge w/ Handle (1) 10H18352 (3) 10FA3121
" Right- ° pi 1) 15HI8816 3) 13FA3331
155 | 15m1ss65+ | 1-5° Right-Hand 90° Pivot (1) ®)
Hinge w/ Handle (1) 15HI18861 (3) 15FA3501
» Right- ° pj 1) 10HI8306 3) 13FA3309
10s 1oMIs359+ | 20 Right-Hand 90° Pivot (1) (3)
Hinge w/ Handle (1) 10H18352 (3) 10FA3121
" Right- ° pi 1) 15HI8800 3) 13FA3331
155 | 15m1s869+ | 397 Right-Hand 90° Pivot (1) (3)
Hinge w/ Handle (1) 15HI18861 (3) 15FA3501
_ _ (1) 10HI8351 (6) 13FA3309
10s | 1omigaer | 079" Pivol Hingew/ (1) 10HI8308 (6) 10FA3121
(1) 10HI8352 -
. . (1) 15HI8860 (6) 13FA3331
15 | 1sHige71+ | 1-3 90 PivotHinge w/ (1) 15HI8816 (6) 15FA3501
Handle
(1) 15H18861 -
' . (1) 10HI8351 (6) 13FA3309
10s | 10HI8363* 2.0790° Pivot Hinge w/ (1) 10HI8306 (6) 10FA3121
Handle
(1) 10HI8352 -
_ _ (1) 15HI8860 (6) 13FA3331
15s | 15HI8873* 3.0790 :;‘;‘(’;I:'”ge w/ (1) 15HI8800 (6) 15FA3501
(1) 15H18861 -

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-59 -

90° Pivot Hinge w/ Handle

www.Faztek.ca

180° Pivot Hinge w/ Handle

Hinges

180° Pivot Hinge w/ Handle

Series Part No. Description Assembled Using Recommended Hardware

5 1800 Pi i 1) 10HI8308 5) 13FA3309

10s 10HI8365 1.0” 180° Pivot Hinge w/ (1) (%)
Handle (1) 10HI8350 (5) 10FA3121
" 180° Pi i 1) 15HI8816 5) 13FA3331

155 15HI8879* 1.5” 180° Pivot Hinge w/ (1) (5)
Handle (1) 15HI8862 (5) 15FA3501
5 1800 Pi i 1) 10HI8306 5) 13FA3309

10s 10HI8367* 2.0” 180° Pivot Hinge w/ (1) (5)
Handle (1) 10HI18350 (5) 10FA3121
" 180° Pi i 1) 15H18800 5) 13FA3331

155 15HI8881* 3.0” 180° Pivot Hinge w/ (1) (5)
Handle (1) 15HI8862 (5) 15FA3501
5 1800 Pi i 1) 10HI8308 10) 13FA3309

10s 10HI8370" 1.0” 180° Pivot Hinge w/ (1) (10)
Handle (2) 10H18350 (10) 10FA3121
" 180° Pij i 1) 15HI8816 10) 13FA3331

155 15HI8883* 1.5” 180° Pivot Hinge w/ (1) (10)
Handle (2) 15HI18862 (10) 15FA3501
5 1800 Pi i 1) 10HI8370 10) 13FA3309

10s 10HI8372 2.0” 180° Pivot Hinge w/ (1) (10
Handle (2) 10H18350 (10) 10FA3121
" 180° Pij i 1) 15H18800 10) 13FA3331

155 15HI8885* 3.0" 180° Pivot Hinge w/ (1) (10)

Handle

(2) 15H18862

(10) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-60 -

514.576.8037



Latches Linear Motion

Linear Motion
Plastic Ratcheting L Handle Brake Kit

Latches

Frount Mounting Locking Slam Latch Double Detent Ball Latch Deadbolt Latch Zinc Ratcheting L Handle Brake Kit

> . L o .
4 "9«‘
d . ‘ B E E
- ) D D
D 1
C G G
Series Part No. Description _ A B C D E F G H | Series Part No. Description A B C D E F G
155 | 15AC7966 Bl_lzg';“':goglta'rqorgttg;lg 2202951201301 1140 - | - | - | - 10s | 10LM8420 | Plastic Ratcheting L Handle Brake Kit [ 2.05 [ 1.16 | .47 | .24 | 1.28| .43 | .61
15s 15LM8520 | Plastic Ratcheting L Handle Brake Kit | 2.89|1.48| .59 | .31 |1.69| .53 | .75
15s | 15AC8745 | Double Detent Ball Latch [2.91]2.24| .28 |2.99]|1.57| - - -] -
e — 15s | 15LM8540* | Zinc Ratcheting L Handle Brake Kit | 3.50 |1.425| .625| .31 |2.25| 450 .88
10s | 10AC7762 1ae eel_aafsh eadbolt 14.00]1.50| .63 [2.00[1.501.00| .50 | 1.50] .19
Side Release Deadbolt
15s 15AC8762 Latch 1.00(1.50) .63 [2.00(1.5011.00| .50 | 1.50| .19 Deluxe Roller Wheel Roller Wheel Bracket Roller Wheel Bracket
A ,
) . . A B -C AN\ <
Ball Latch Catch w/ Bracket Magnetic Catch w/ Bracket Tension Ball Latch Kit N ) g
Drill/C-bore for Drill/C-bore for G
\E
AD.
Series| Part No. Description A B 9] D E F G H | | Recommended Hardware
155 | 15LM8532 Deluxe Roller Wheel ~ |2.00 DIA| 1.625DIA |.730].312 5/1186' - - -] - -
Series Part No. Description A B C D E F G H |
VR Drill & C-bore (2) 13FA3354
10s | 10AC7980 |Ball Latch Catch w/Bracket| 100| 50 | 33 | .75 |150[ .80 | giog | - | - 15s | 15LM8530 | 1.5" Roller Wheel Bracket |2 18 | " forsi16”  [3.13|1.44| 75 | 36 | 1.75]|4.63 | 150
74 Tap Thrul ' hiscs (2) 15FA3503
15s | 15AC7980 |Ball Latch Catch w/ Bracket| 1.00 | .50 | .33 | .75 [1.50| .90 | o\ o
. 174" Drill & C-bore (2) 13FA3354
10s | 10AC7976 | Magnetic Catch w/Bracket | 1.00| .50 | .33 ] .75 11501 90 | gpog [ - | - 15s | 15LM8536 | 3.0° Roller Wheel Bracket | 21818 |~ tor5/16” | 4.63|1.44| 75 | 36 |3.25|6.13]1.50
7 Tap Thru| | \ooa (2) 15FA3503
15s 15AC7976 | Magnetic Catch w/ Bracket | 1.00| .50 | .33 | .75 [ 1.50| .90 SHCS - -
13s | 13AC7364 Tension Ball Latch Kit | 1.50 | .50 | 2.76| .90 |1.50[4.00| .188 |.937| -

Deluxe Roller Wheel Bracket Roller Wheel Bracket

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-61 -

www.Faztek.ca

Series Part No. Description Assembled Using Included Hardware
» 1) 15LM8530 2) 13FA3354
155 | 15Lmesa4s | 15 Deluxe Roller Wheel M @)
Bracket (2) 15LM8532 (2) 15FA3503
(1) 15LM8536 (2) 13FA3354
15s 15LM8546* 3.0” Roller Wheel Bracket

(2) 15LM8532

(2) 15FA3503

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-62 -

514.576.8037



Door Handles

Door Handles

Non-Locking Door Handle
— A —

Double Door Handle

Locking Door Handle

Series Part No. Description A B C D E Required Machining
10s | 10Ac79s3* | Chrome Nﬁg;&j‘l’:k'”g Door | 1 40| 4.40|2.25| 6.00|2.75 10MA9072
155 | 15AC7953+ | Chrome Nﬁg;b‘l’gk'”g Door | 1 40| 4.40|2.25| 6.00|2.75 15MA9072
10s | 10AC7950 ChromeH';‘r’%ﬁng Door {4 40| 4.40|2.25|6.00]2.75 10MA9072
10s | 10AC7955 | Black Locking Door Handle | 1.40 | 4.40 | 2.25 | 6.00 | 2.75 10MA9072
155 | 15AC7950 ChmmeH';‘r’:;'T;”g Door 14 40| 4.40|2.25|6.00] 275 15MA9072
155 | 15AC7955 | Black Locking Door Handle | 1.40 | 4.40 | 2.25 [ 6.00 | 2.75 15MA9072
155 | 15AC7951* Chrome Non-Locking | 4 44 4 50 [ 225 | 5.00|2.75 15MA9072
Double Doo_r Handle
155 | 15AC79s6 | Chrome Locking Double |4 4014 00(2.25]5.00(2.75 15MA9072
Door Handle

Plastic Door Handle Steel Door Handle Guard Safety Door Handle
f ‘ B~ -
C
4 | o ¥ . | A
il | A & \
l A < " D 1
o F 1
D ’ I I ‘\ ﬁ 1 D
i £ F R _} >
Series| Part No. Description A B C D E F
10s | 13AC7300 | Small Plastic Door Handle | 4.41|2.95[1.41]|0.83]3.68 s;/és
155 | 13AC7301 [Medium Plastic Door Handle| 5.47 | 3.79 | 1.61 | 1.02 | 4.61 SSA?S
15s 13AC7302 Large Plastic Door Handle | 8.03|6.25]1.97|1.10|7.05 Ssl-/|1CGS
Al | 13AC7305* Steel Door Handle 330|270 1.23| 31 |3.00] 832

.50 Deep

Al | 13AC7327* | Guard Safety Door Handle | 4.49|1.38[1.30| 75 | - -

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-63 - www.Faztek.ca

Door Glides
UHMW Bi-Fold Door Glide

Drill/C-sink
5/16" FHSCS

- ‘\ s >
LG

Door Glides

UHMW Hanging Bi-Fold Door Glide

.343 DIA Thru
.531 DIA C-bore E-
X .24 dp >

Series Part No.

Description A B C D E

15s 15AC8850

UHMW Bi-Fold Door Glide | 1.50 | 1.25] .24 | .36 | .30

15s 15AC8852

UHMW Hanging Bi-Fold

Door Glide 1.50| .30 |1.50| .70 | .27

www.Faztek.ca -64 -

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037



Panels Retainers

PVC Coated Wire Mesh Panels Mesh Retainer Mesh Retainer

Series Part No. Description A B C D E F G H | Recommended Hardware
S S — Wire Sage  LBS!Sq. Ft. | SteckLeng(h 10s | 10AC7806 1.0’ Mesh Retainer | 1.25] .63 [1.00] .19 |.1420 11.04| 56 |.281 DIa[28] DIA (1) 13FA3309
13PA8322 |1/2” X 1/2” Black Wire Mesh| 12 ga. 50 48" x 96 : 251 . 00119 o Thru [ 194 20 |- Slot (1) 10FA3121
13PA8324  [1/2” X 1/2” Yellow Wire Mesh| 12 ga. .50 48” x 96”

G L i : » » 15s 15AC7105 1.5” Mesh Retainer 1.50] .75 | 1.50| .25 5/16-18 2.88| .84 |.343 DIA 343 DIA (1) 13FA3331
13PA8320 17 X 1” Black Wire Mesh 14 ga. .650 48” x 96 : : : : : Tap Thru| < : : Slot (1) 15FA3501
13PA8321 1”7 X 1” Yellow Wire Mesh 14 ga. .650 48" x 96”

X2 : - e~ 10s | 10AC7817* 2.0 Mesh Retainer | 2.00 [1.00|1.00[ .19 | 420 |1 04| 56 | 281 DIa|281 DIA (2) 13FA3309
13PA8326 2" X 2" Black Wire Mesh 12 ga. 1.30 48" x 96 : : . 00119 o Thru [ 194 20 |- Slot (1) 10FA3121

- 2) 13FA3331
15s 15AC7117 3.0” Mesh Retainer 3.00(1.501.50| .25 5/16-18 2.88| .84 |.343 DIA 343 DIA (@)
Plastic Panels Tap Thru Stot (1) 15FA3502

Double Mesh Retainer Double Mesh Retainer

p E
Part No. Description Panel Thickness | LBS/Sq. Ft. | Stock Length A
13PA8310 Clear Polycarbonate 3/16” 1.15 48" x 96” i
13PA8312 Bronze Polycarbonate 3/16” 1.15 48" X 96" Series Part No. Description A B C D E F G H | Recommended Hardware
" e onn ; 2) 13FA3331
13PA8314 Black ABS 3/16 1.00 48" x 96 15s | 15AC7119 | 1.5 Double Mesh Retainer | 1.50 | .75 [1.50| 25 | 31618 | 4 50| g4 [343DIAf 343 pia (@)
" e Tap Thru Slot (2) 15FA3501
13PA8309 Clear Polycarbonate 1/4 1.50 48" x 96
" e omn , 4) 13FA3331
13PA8311 Bronze Polycarbonate 114 1.50 48" x 96 155 | 15AC7118* | 3.0’ Double Mesh Retainer [ 3.00 [ 1.50 [ 1.50 | .25 T‘Z 16ﬂ11fu 452| 84 '348910?“" 343DIA 4)
13PA8313 Black ABS 114" 1.70 48" x 96" P (2) 15FA3502
13PA8380 White Polypropelene 3/4” 6.58 48" x 96"
13PA8386 Oak Top 3/4 2.18 48’ x 96" Panel Retainer Panel Retainer
13PA8344* Black Expanded PVC 3mm 1.50 48’ x 96 Fo Fo
13PA8345* Gray Expanded PVC 3mm 1.15 48" x 96 .
13PA8346* Yellow Expanded PVC 3mm 1.50 48" x 96" G- G-
S~
13PA8347* White Expanded PVC 3mm 1.15 48" x 96" <
13PA8340* Black Expanded PVC 6mm 1.45 48’ x 96" »\ ) < < 5
13PA8341* Gray Expanded PVC 6mm .84 48” x 96” - A B A
13PA8342* Yellow Expanded PVC 6mm 1.45 48’ x 96” >
13PA8343* White Expanded PVC 6mm 84 48" x 96" Series Part No. Description A B C D E F G Recommended Hardware
" " " . 2) 13FA3309
13CP0082 Blue Expanded PVC 6mm 145 48" X 96 10s | 10AC7810 1.0” Panel Retainer 100| 50 |1.00|1.94| 56 |.281 DIA|_ /420 (@)
Tap Thru (1) 10FA3121
. 5/16-18 (2) 13FA3331
15s 15AC7110 1.5” Panel Retainer 150| .75 [1.50|2.88| .84 |.343 DIA
Tap Thru (1) 15FA3501
. 1/4-20 (4) 13FA3309
10s | 10AC7814* 2.0” Panel Retainer 2.00/1.00/1.00]1.94| .56 |.281 DIA
Tap Thru (1) 10FA3121
. 5/16-18 (4) 13FA3331
15s 15AC7113 3.0” Panel Retainer 3.00(1.50]1.50|2.88| .84 |.343 DIA
Tap Thru (2) 15FA3501
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -65 - www.Faztek.ca www.Faztek.ca - 66 - 514.576.8037



Panel Mount Block

Aluminum Panel Mount Block

1/4 Turn Panel Mount Block

Py P
A~ 4B

AT
| . H
B €
" C
. E G
D < _F
Series| Part No. Description A B C D E F G H
10s 10AC7807* Aluminum Panel Mount Block 31|75 39| .75 .26 | .37 | .25 | .25
15s 15AC8705 Aluminum Panel Mount Block 50| .88 | .44 |1.00| .39 | .59 | .31 |.312
10s 10AC7820 1/4 Turn Panel Mount Block w/ 1/4-20 Hardware .825|.6875| .667 | - - - - -
15s 15AC8748 1/4 Turn Panel Mount Block w/ 5/16-18 Hardware | 1.25| .75 |1.00| - - - - -
15s 15AC8702 1/4 Turn Panel Mount Block w/ M8 x 1.25 Hardware | 1.25| .75 |1.00| - - - - -

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-67 -

www.Faztek.ca

Stanchion Cross Clamp

Clamps

Single Shaft Base Clamp

Single Horizontal Base Clamp

i

A

Series

Part No.

Description

15s 15AC8800

1” Stanchion Cross Clamp

1.0012.00]1.00|2.00(2.13|3.13|1.00| - -

15s 15AC8801

1” Single Shaft Base Clamp

1.50]1.062.50(3.00/2.25] .38 | .31 [2.13]1.50

.343 DIA Drill Thru

15s 15AC8802

1” Single Horizontal Base Clamp

2.13]11.06| .50 |1.50[3.00| .44 | .88

.343 DIA Drill Thru

Single Slot Tubing Clamp

Double Slot Tubing Clamp

4>A.7

m—

Part No. Description A|B|CIDJE|F|]G]|H] I |10s Recommended Hardware | 15s Recommended Hardware
» g : 1) 10FA3121 1) 15FA3506
13AC7500+ | /8" Single SlotTubing | 45| o7 | g | 62| 41| 13| 25| 47] 25 ) )
Clamp (1) 13FA3305 (1) 13FA3305
" g : 1) 10FA3121 1)15FA3506
13AC7501+ | 174" Single SlotTubing | 4 | o7 | sg | 61| 41| 25| 24| 47 ] 25 M )
Clamp (1) 13FA3505 (1)13FA3311
» g i 1) 10FA3121 1) 15FA3506
13AC7502+ | 3/8" Single SlotTubing | 451 34 |4 06| 72| 59| 38| 27| 63] 25 M )
Clamp (1) 13FA3311 (1)13FA3306
" g : 1) 10FA3121 1) 15FA3506
13aC7503¢ | 1127 Single SlotTubing | 5o | 4711 34l 87| 97| 50| 25| 78] 25 () ()
Clamp (1) 13FA3334 (1) 13FA3334
» g : 1) 10FA3121 1) 15FA3506
13AC7504+ | 3/47 Single SlotTubing | 51 o5 14 66l1.0al1.10] 75| 25| 78] 25 M )
Clamp (1) 13FA3360 (1) 13FA3360
" g : 1) 10FA3121 1) 15FA3506
13ac7505+ | 1 Single SlotTubing | o5 | 6511 661.01[1.10]1.00| 25| 78| 25 ) M
Clamp (1) 13FA3362 (1) 13FA3362
] - 1)10FA3121 1) 15FA3506
13AC7506+ | 18" Double SlotTubing | 15| 57 14 ool 41| 13| 47| 61| - |25 M )
Clamp (1) 13FA3305 (1) 13FA3305
» i 1)10FA3121 1) 15FA3506
13AC7507+ | 14" Double SlotTubing | 4 | 57 4 5ol 44| 25] 47| 61| - | .25 M )
Clamp (1) 13FA3305 (1) 13FA3311
] - 1)10FA3121 1) 15FA3506
13AC7508* | 3/8" Double SlotTubing | 4| 4 11 66l 59| 38| 63| 83| - [.25 M )
Clamp (1) 13FA3311 (1) 13FA3306
» i 1)10FA3121 1) 15FA3506
13AC7509+ | 12" Double SlotTubing | 5o | 4715 09| o7 | 50| .78 |1.09| - |.25 M M
Clamp (1) 13FA3334 (1) 13FA3334
; - 1)10FA3121 1) 15FA3506
13AC7510+ | 3/4" Double SlotTubing | 51 o5 15 7511 10| 75| 78 |1.38| - |25 M )
Clamp (1) 13FA3360 (1) 13FA3360
» i 1)10FA3121 1) 15FA3506
13AC7511+ | 17 Double SlotTubing | o5 | e5l5 751 10| 95| 78 |1.38| - | .25 ) M
Clamp (1)13FA3362 (1) 13FA3362

*non-stock parts =

www.Faztek.ca

1-2 week lead-time - please call for details.

-68 -

514.576.8037




Feet

Adjustable Floor Mount Foot

Floor Mount Foot

Floor Mount Foot

Deluxe Floor Mount Foot Base Plate

Deluxe Floor Mount Foot Base Plate

Feet

Deluxe Floor Mount Foot Base Plate

A
A
H
G & 9 LA
| B <
- E N B
; D D
Series Part No. Description A B C D E F G H Recommended Hardware Series Part No. Description A B C D E F G H | J |Recommended Hardware
. B " 8) 13FA3309
15s | 15FF5e24 |30 Adiustable FloorMount| g oo f 505 1o 75] - [ . | - - - 10s | 10FF5821* 1.0°x 2.0 Deluxe Floor 14 | 600 | 475| 25 |5.50 |3.25| 406 |.281 DIA| 2.00] - (8)
Foot _ Mount Base Plate (4) 10FA3122
2) 13FA3309 » " 8) 13FA3331
10s | 10FF5611 1.0” Floor Mount Foot [ 5.00 | 4.25 |3.25[2.00|1.00] - SO0 DIAThUN /| Hay A ) 15s | 15FF5830 1.5"x 3.0 Deluxe Floor | 4 55 | & 00 f4 75| 38 |6.50]4.25| 53 |.343DIA|3.00] - ®)
.875 Dia Spot Face (2) 10FA3121 Mount Base Plate (4) 15FA3502
2) 13FA3331 " " 8) 13FA3309
15s | 15FF5814 1.5” Floor Mount Foot | 5.00 | 4.25 [2.75|2.00|1.50 | - 11'231 DIAThUr/ 1 343 piA @) 10s | 10FF5823 20" x 2.0° Deluxe Floor | 4 55 f 00 | 4.05| 25 |6.50 [4.25 | 406 | 281 DIA| 2.00 [ 2.00 (®)
.125 Dia Spot Face (1)15FA3502 Mount Base Plate (4) 10FA3122
2) 13MFA3613 " » 8) 13FA3331
40s | 40FF5814* | 40mm Floor Mount Foot | 127 |106.93|67.06[50.80[40.13| - S31DIAThUr /g 24 pia 2) 155 | 15FF5833 3.0"x 3.0" Deluxe Floor | 4 51 6 0 [4.75| 38 |8.00]5.75| 53 |.343 DIA[3.00 | 3.00 (®)
1.125 Dia Spot Face (2) 15MFA3920 Mount Base Plate (4) 15FA3502
4) 13FA3308 " " 16) 13FA3331
10s | 10FF5612 2.0 Floor Mount Foot | 5.00 | 4.25 | 3.25|2.00 | 2.00 | 1.00 8'739°.D'AT"“” 281 DIA ) 15s | 15FFsg3g: | 30 X6.0"DeluxeFloor | 54| o 65 |7 75| 38 [8.00(5.75| 53 |.343 DIA|6.00 | 3.00 (16)
.875 Dia Spot Face (4) 10FA3121 Mount Base Plate (8) 15FA3502
4) 13FA3331
15s 15FF5816 3.0° Floor Mount Foot | 5.00 | 4.25 | 2.75| 2.00 [ 3.00 [ 1.50], 331 DIAThUT | 5pa yia “)
1.125 Dia Spot Face (2) 15FA3502 . o . . . .
Deluxe Leveling Foot Anti-Vibration Leveling Foot Mighty Mount™ Leveling Pad
. 531 DIAThur / (4) 13MFA3613 F
40s 40FF5816 40mm Floor Mount Foot | 127 [106.93|67.06/50.80/80.01{40.13 . 8.71 DIA F
1.125 Dia Spot Face (4) 15MFA3920 F
E E G
Floor Mount Foot Floor Mount Foot Deluxe Floor Mount Foot Base Plate A A H
H b Heo b A B D D 5 p A 1B
A B J
H | C C c
G < w A Series| _Part No. Description Al B [C]|D E FIGJHT T [ J [Capacity
3O ':? ; 10/15| 13FF8117 Deluxe Leveling Foot 125 68 [1.00]1.93| 1/4-20 | 50| - - - - 11000 Ibs
EF A S ’AB ' 10/15| 13FF8126 Deluxe Leveling Foot 200| .82 |1.25(2.82| 5/16-18 | .62 | - - - - | 2500 Ibs
) D 10/15| 13FF8118 Deluxe Leveling Foot 2.00| .87 |1.25|287| 3816 | .60 | - - - - |3750 Ibs
Series Part No. Description A B C D E F G H Recommended Hardware 10/15 13FF8122 Deluxe Leveling Foot 2.00| 1.10 | 1.88]3.10 1/2-13 .72 - - - - | 5000 Ibs
390 DIAThru / (6) 13FA3309 10/15| 13FF8131 Deluxe Leveling Foot 400| 113 |187(513| 12113 | 72| - - - - |5000 Ibs
10s 10FF5613* 3.0 Floor Mount Foot 5.00| 4.25 [3.25(2.00(2.50|1.50 .281 DIA -
.875 DIA Spot Face (6) 10FA3121 10/15| 13FF8119 Deluxe Leveling Foot 1.75| 1.50 [3.00]|3.25| 3/4-10 |1.06]| - - - - | 7400 Ibs
531 DIA Thru / (6) 13FA3331 10/15| 13FF8129 Deluxe Leveling Foot 1.05| 53 | .75 [1.58] M6x 1.0 | 38 | - - - - | 3151bs
15s | 15FF5815* 4.5" Floor Mount Foot | 5.00 | 4.25 |2.75|2.00|3.75|1.50{, . 343 DIA
1.125 DIA Spot Face (3) 15FA3502 10/15| 13FF8128 Deluxe Leveling Foot 126| .78 | .90 |2.73| M8x1.25| 50 | - - - - | 450 Ibs
531 DIAThru / (8) 13FA3331 10/15| 13FF8132 Deluxe Leveling Foot 2.00| 1.13 |1.25]|2.87| M10x15| 63 | - - - - 11700 Ibs
15s 15FF5818* 6.0” Floor Mount Foot 500 425 [2.7512.0015.25]1150{, .. .343 DIA -
1.125 DIA Spot Face (4) 15FA3502 10/15| 13FF8133 Deluxe Leveling Foot 2.00| 1.11 | 1.88[1.95|M12x1.75| .75 | - - - - |2250 Ibs
" " 4) 13FA3309 10/15| 13FF8115* | Anti-Vibration Leveling Feet [2.00| 1.50 | 1.25]|3.50| 3/8-16 |.625| - - - - | 100Ibs
10s | 10FFsg2o | 1O x 1.0 Deluxe Floor 4 55| 4 5g 275 25 [550]3.25 406 281 DIA “) — 09
Mount Base Plate (2) 10FA3122 10/15| 13FF8116* | Anti-Vibration Leveling Feet [2.00| 1.75 | 1.88|3.75| 1/2-13 |.750| - - - - | 2401bs
" " 4) 13FA3331 10/15| 13FF8120* | Anti-Vibration Leveling Feet [ 2.00 | 2.13 | 3.00|4.13| 3/4-10 |[1.06] - - - - | 650 Ibs
15s | 15FFsgas | 15 x 1.5 DeluxeFloor 1 561 540 1375] 38 |6.00[3.75 53 343 DIA ) : J
Mount Base Plate (2) 15FA3502 10115 | 13FF8113* |Mighty Mount™ Leveling Pad|3.00| 1.50 [5.00|4.50| 3/8-16 | .56 | .25 | .38 | .38 | .45 | 300 Ibs
10/15| 13FF8114* [Mighty Mount™ Leveling Pad|5.00 [ 1.50 | 5.00|6.50 | 1/2-13 | .75 | .38 | .44 | 44 | 45 | 1500Ibs

*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 - 69 - www.Faztek.ca www.Faztek.ca -70 - 514.576.8037



Drill Thru & C-bore For_/

End Mount Base Plates

Base Plate

”
/

Drill Thru & C-bore for

Floor Anchoring Base Plate

Crill Thru for
Floor Anchory

Floor Anchoring Base Plate

Drill Thru for

épr\ng Pin

Corner Base Plate

" Drill Thru & C-bore For

Base Plate

Drill Thru & b-bore For

End Mount Base Plates

Floor Anchoring Base Plate

1 Drill Thru & C-bore for

gl il Thru for
Floor Anchor

£ F | Clearaécefor F
Series Part No. Description A B C D E F G H | Recommended Hardware
10s | 10BP2564* | 1.0"x2.0’Base Plate | 2.00 | 1.00 | 50 | .50 SI1-|/éS 1/4-20 | 1.00 | 1.00 | - (2) 13FA3305
10s | 10BP2565 1.0’x2.0" Base Plate | 2.00 | 1.00 | 50 | .50 sn1-|/és 3/8-16 | 1.00 | 1.00 | - (2) 13FA3305
10s | 10BP2566* | 1.0"x2.0"Base Plate | 2.00 [ 1.00 | 50 | .50 sn1-|/és 716-14 [ 1.00 | 1.00 | - (2) 13FA3305
10s | 10BP2567* | 1.0"x2.0’Base Plate | 2.00 | 1.00 | 50 | 50 sn1-|/és 1/2-13 | 1.00 | 1.00 | - (2) 13FA3305
15s | 15BP2561 1.5"x 3.0’ Base Plate | 3.00 | 1.50 | .75 | .75 35|f|1c63 3/8-16 | 150 | 1.50 | - (2) 13FA3327
15s | 15BP2562 1.5"x3.0" Base Plate | 3.00 | 1.50 | .75 | .75 3541c63 7116-14 [ 150 | 1.50 | - (2) 13FA3327
15s | 15BP2580 1.5"x 3.0’ Base Plate | 3.00 | 1.50 | .75 | .75 S5A1C68 1213 | 150 | 150 | - (2) 13FA3327
15s | 15BP2564* | 1.5"x3.0"BasePlate | 3.00 | 150 | 75 | .75 SSI-/|1C?S 3/4-10 | 150 | 150 | - (2) 13FA3327
40s | 40BP2520* |40mm x 80mm Base Plate | 80.00 | 40.00 | 20.00 | 16.00 S'\H"gs M8 x 1.25{ 40.00 | 40.00 | - (2) 13FA3327
40s | 40BP2521* |40mm x 80mm Base Plate | 80.00 | 40.00 | 20.00 | 16.00 smgs x“q1.go 40.00 | 40.00| - (2) 13FA3327
40s | 40BP2522' [40mm x 80mm Base Plate | 80.00 | 40.00 | 2000 | 16.00 [ Mo | "2 [40.00{4000| - (2) 13FA3327
10s | 10BP2575* 1'0"Xz'g;gfg{aﬁgcm””g 350 | 1.00 | 50 | .50 sm;”s 1/4-20 | 2.88 | 1.00 | 318 (4) 13FA3305
10s | 10BP2576* 1'0"Xz'g;géog{afgcm””g 350 | 1.00 | 50 | 50 sugé 3/8-16 | 2.88 | 1.00 | 3/8° (4) 13FA3305
155 | 15BP2550* 1'5""3'3;;0;{6@:‘:“0”“9 450 | 150 | 75 | 75 35:33 3/8-16 | 4.00 | 1.50 | 1/2” (4) 13FA3327
155 | 15BP2553* 1'5""3'3;;'308{8?:°h°”“9 450 [ 150 | 75 | 75 sslgces 1/2-13 | 4.00 | 1.50 | 1722 (4) 13FA3327
15s | 15BP2553 1'5"X3'§;§é°§|ra?:°h°””g 300 | 15 | 75 | 50 [3/8-16| 516" | 2.50 | 1.50 | 1722 NﬁE"'C/E%\’ngE

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-71 -

www.Faztek.ca

Series Part No. . Description A B C : D E F G H | Recommended Hardware
10s | 1oBp2s70r | 207X 2.0":‘)|2$ner Base 500 | 150 | 50 | 50 s:‘clzns 38-16 | - ; - (3) 13FA3305
10s | 10BP2572* 2'0""2'0;,'2:’;”“ Base 500 | 150 | 50 | 50 sﬁgé 711614 | - - - (3) 13FA3305
10s | 1082571+ | 207X Z'O;Eg”er Base 500 | 150 | 50 | 50 sug’s 1213 | - ; - (3) 13FA3305
10s | 1oBpP2s73* | 207X 2'0;,2:’;”” Base 500 | 150 | 50 | 50 s:‘gs 3/4-10 | - - - (3) 13FA3305
10s | 10BP2568 | 2.0"x2.0"BasePlate | 2.00 | 1.00 | .50 | .50 sug’s 3/8-16 | 1.00 | - - (4) 13FA3305
10s | 10BP2569* | 2.0"x2.0’BasePlate | 2.00 | 1.00 | 50 | 50 s1H/‘c1:”s 7116-14 [ 1.00 | - - (4) 13FA3305
10s | 10BP2560* | 2.0"x2.0"BasePlate | 2.00 | 1.00 | .50 | .50 sugs 1/2-13 | 1.00 [ - - (4) 13FA3305
10s | 10BP2579* | 2.0"x2.0"BasePlate | 2.00 | 1.00 | 50 | 50 s:(és 3/4-10 | 1.00 | - - (4) 13FA3305
155 | 158P2585 | 3.0°x30"BasePlate | 300|150 | 75 | 75 [0 | 316 | 150 [ - | - (4) 13FA3327
15s | 15BP2563* | 3.0"x3.0"BasePlate | 3.00 | 1.50 | 75 | .75 SSI/-:C?S 716-14 | 150 | - - (4) 13FA3327
155 | 15BP2583 | 3.0"x3.0'BasePlate | 3.00 | 1.50 [ 75 | 75 é’ags 11213 | 150 | - . (4) 13FA3327
15s | 15BP2587* | 3.0°x3.0’BasePlate | 3.00 | 150 | 75 | .75 SSI/-I1C?S 3/4-10 | 150 | - - (4) 13FA3327
10s | 10BP2s77: |20°X 2‘§;§é°§{a?:°h°””9 350 | 150 | 1.00 | 50 SL/I‘gS 3/8-16 | 1.00 | 2.00 | 3/8° (4) 13FA3303
10s | 1oBP2s7gr |20 X z'g;gfglﬁe”"hO””g 350 | 1.50 | 1.00 | .50 sm;”s 3/8-16 | 1.00 | 2.00 | 3/8 (4) 13FA3303
155 | 15BP258a* |30 X 3'§;SF"3°§{£:°“°””9 450 | 225 | 150 | 75 S‘r’ags 3/8-16 | 1.50 | 3.00 | 1722 (4) 13FA3327
155 | 15BP2552* |30 X 3'3;;'30;{3?:"“0””9 450 | 225 [ 150 | 75 SSI/-|1(E‘,SS 1/2-13 | 1.50 | 3.00 | 172’ (4) 13FA3327

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

72 -

514.576.8037




T-Slot Mount Base Plates

Base Plate

Floor Anchoring Base Plate

Crill Thru for
Floor Anchory

Floor Anchoring Base Plate

Corner Base Plate

" Drill Thru & C-bore For

Base Plate

Drill Thru & b-bore For

T-Slot Mount Base Plates

Floor Anchoring Base Plate

1 Drill Thru & C-bore for

gl il Thru for
Floor Anchor

h ‘\ - B, o o ’\ ‘ D
/7- S e ‘\r > [
C N Drill Thru for
Drill Thru & C-b: E J’/ 7 \:‘Spnnng
L ru E—ore or FJ DnllThru&C—borefor“ Clearance for F
E
Series| Part No. Description A B C D E F G H | Recommended Hardware
1/4 (2) 13FA3305
10s | 10BP2564* 1.0"x 2.0"Base Plate | 2.00 | 1.00 | 50 | .50 1/420 | 1.00 | 1.00 | -
SHCS (2) 10FA3121
1/4 (2) 13FA3305
10s | 10BP2565 1.0"x2.0"Base Plate | 2.00 [ 1.00 | .50 | .50 3/8-16 | 1.00 | 1.00 | -
SHCS (2) 10FA3121
1/4 (2) 13FA3305
10s | 10BP2566* 1.0"x 2.0"Base Plate | 2.00 | 1.00 | 50 | .50 7/16-14 | 1.00 | 1.00 | -
SHCS (2) 10FA3121
1/4 (2) 13FA3305
10s | 10BP2567* 1.0"x2.0"Base Plate | 2.00 | 1.00 | .50 | .50 1/2-13 | 1.00 | 1.00 | -
SHCS (2) 10FA3121
5/16 (2) 13FA3327
15s | 15BP2561 15"x3.0"Base Plate | 3.00 | 150 | .75 | .75 3/8-16 | 1.50 | 1.50 | -
SHCS (2) 15FA3501
5/16 (2) 13FA3327
15s | 15BP2562 15"x3.0"Base Plate | 3.00 | 150 | .75 | .75 7/16-14 | 150 | 1.50 | -
SHCS (2) 15FA3501
5/16 (2) 13FA3327
15s | 15BP2580 15"x3.0"Base Plate | 3.00 | 150 | .75 | .75 1/2-13 | 150 | 150 | -
SHCS (2) 15FA3501
5/16 (2) 13FA3327
15s | 15BP2564* 15"x3.0"Base Plate | 3.00 | 150 | .75 | .75 3/4-10 | 150 | 150 | -
SHCS (2) 15FA3501
M8 (2) 13FA3327
40s | 40BP2520* |40mm x 80mm Base Plate | 80.00 | 40.00 | 20.00 | 16.00 M8 x 1.25( 40.00 [ 40.00| -
SHCS (2) 15FA3501
M8 M10 (2) 13FA3327
40s | 40BP2521* [40mm x 80mm Base Plate | 80.00 | 40.00 | 20.00 | 16.00 40.00|40.00| -
SHCS| x1.50 (2) 15FA3501
M8 M12 (2) 13FA3327
40s | 40BP2522* |40mm x 80mm Base Plate | 80.00 | 40.00 | 20.00 | 16.00 40.00(40.00| -
SHCS| x1.75 (2) 15FA3501
" " i " 4) 13FA3303
10s | 10BP2575* |1-07X2.0" FloorAnchoring| 5 5 | 460 | 50 | 50 | V4| 11420 | 2.88 | 1.00 | 38 4)
Base Plate SHCS (4) 10FA3121
" " i " 4) 13FA3303
10s | 10BP2576* |1-0"X 20" FloorAnchoring| 5 5 | 400 | 50 | 50 | V4| 3/8-16 | 2.88 | 1.00 | 38 4)
Base Plate SHCS (4) 10FA3121
i . . " 4) 13FA3327
15s | 15BP2550* |15 X 30" FloorAnchoring| 5 | 450 | 75 | 75 | 516" | /846 | 4.00 | 150 | 122 4)
Base Plate SHCS (4) 15FA3501
" " i " 4) 13FA3327
155 | 15BP2553+ |15 X 30" FloorAnchoringl 5 | 450 | 75 | 75 | 316 | 4243 | 400 | 150 | 122 4)
Base Plate SHCS (4) 15FA3501
1.5” x 3.0” Floor Anchoring " " NO HARDWARE
15s | 15BP2553 Base Plate 3.00 | 150 | .75 | .50 |3/8-16| 5/16” | 2.50 | 1.50 | 1/2 NECESSARY

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

73 -

www.Faztek.ca

E E
Series Part No. Description A B C D E F G H | Recommended Hardware
20 » 3) 13FA3303
10s | 1oBp2s7or | 207 x20°ComerBase |, 6 [ 450 50 [ 50 | V4 | /816 | - ; ; (3)
Plate SHCS (3) 10FA3121
o ] 3) 13FA3303
10s | 1oBpas7zr | 20"x20°ComerBase | 50 | 450 | 50 | 50 |4 | 7M6-14 | - - - ©)
Plate SHCS (3) 10FA3121
20 , 3) 13FA3303
10s | 1oBp2s7ys | 207 x2.0°ComerBase |, 6 [ 450 50 [ 50 | V4 | 1213 | - ; - 3)
Plate SHCS (3) 10FA3121
o ] 3) 13FA3303
10s | 10Bpas7as | 207207 ComerBase |, 6 | 450 [ 50 [ 50 | 4 | 3410 | - - - )
Plate SHCS (3) 10FA3121
3.0 » 3) 13FA3327
155 | 15BP2sgys | 30" x3.0°ComerBase | 544 505 [ 75 [ 75 | 519" | 7/16.14 | - ; ; 3)
Plate SHCS (3) 15FA3501
" 3.0” . 3) 13FA3327
155 | 15BP2sggs | 3-07x3.07ComerBase | 5.4 505 [ 75 [ 75 | 518" 4043 | - - - )
Plate SHCS (3) 15FA3501
A , 3) 13FA3327
155 | 15BP25gos | 30" x3.0°ComerBase | 544 505 [ 75 [ 75 | 516" | 3410 | - ; ; 3)
Plate SHCS (3) 15FA3501
1/4” (4) 13FA3303
10s | 10BP2568 2.0"x2.0"Base Plate | 2.00 [ 1.00 | 50 | .50 3/8-16 | 1.00 | - -
SHCS (4) 10FA3121
1/4” (4) 13FA3303
10s | 10BP2569* | 2.0"x2.0"BasePlate | 2.00 | 1.00 | 550 | .50 7116-14 | 1.00 | - -
SHCS (4) 10FA3121
1/47 (4) 13FA3303
10s | 10BP2560* | 2.0"x2.0’BasePlate | 2.00 | 1.00 | 50 | 50 1/2-13 | 100 | - -
SHCS (4) 10FA3121
1/4 (4) 13FA3303
10s | 10BP2579* | 2.0"x2.0"BasePlate | 2.00 | 1.00 | 50 | .50 3/4-10 | 1.00 | - .
SHCS (4) 10FA3121
5/16” (4) 13FA3327
155 | 15BP2585 3.0"x3.0"Base Plate | 3.00 | 150 | 75 | 75 3/8-16 | 150 | - -
SHCS (4) 15FA3501
5/16” (4) 13FA3327
15s | 15BP2563* | 3.0"x3.0’BasePlate | 3.00 | 150 | .75 | 75 711614 | 150 | - .
SHCS (4) 15FA3501
5/16” (4) 13FA3327
155 | 15BP2583 3.0"x3.0"Base Plate | 3.00 | 150 | 75 | 75 112413 | 150 | - -
SHCS (4) 15FA3501
516 (4) 13FA3327
155 | 15BP2587* | 3.0"x3.0’BasePlate | 3.00 | 150 | .75 | 75 3/4-10 | 150 | - -
SHCS (4) 15FA3501
o : . 4) 13FA3305
10s | 10Bp2s77s |20 x 20" FloorAnchoring| 5 56 | 4 56 | 100 | 50 | "4 | /816 | 1.00 | 2.00 | 3/8 “)
Base Plate SHCS (4) 10FA3121
20 ; . 4) 13FA3305
10s | 10Bp2s7gs |20 x 20" FloorAnchoring| 5 56 | 4 56 | 100 | 50 | 14| 3816 | 1.00 | 2.00 | 378 “)
Base Plate SHCS (4) 10FA3121
e , , 4) 13FA3327
155 | 15BP2sgar |30 x3.0"FloorAnchoring| o6 | 5 55 | 150 | 75 | 518" | 3816 | 1.50 | 3.00 | 1722 “)
Base Plate SHCS (4) 15FA3501
. . , 4) 13FA3327
155 | 15BP2s52* |30 x 30" FloorAnchoring| ) 56 | 5 55 | 150 | 75 | 518" | 4213 | 1.50 | 3.00 | 1722 4)
Base Plate SHCS (4) 15FA3501

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

74 -

514.576.8037




Caster Base Plate

Tap Thru

[ Drill Thru & C-Bore For

End Mount Caster Base Plates

Caster Base Plate

Drill Thru & C-Bore For

Drill Thru & C-Bore For

Caster Base Plate

Spring Pin
|

Caster Base Plate

Tap Thru

T-Slot Mount Caster Base Plates

Caster Base Plate

Drill Thru & C-Bore For

Caster Base Plate

Drill Thru & C-Bore For  gpring Pin
\ |

AL A G |
- B /
-_"
@ -
o P
D N //
Tap Thru H
Series Part No. Description A B C D E F G H | Recommended Hardware
3.75” x 2.50” Flange Mount 1/4-20
10s 10BP2588 Caster Base Plate 3.7511.00 | 1.75 | 250 | .50 | 2.94 SHCS 5/16-18| - (4) 13FA3305
3.75” x 3.00” Flange Mount 5/16
15s 15BP2500 Caster Base Plate 375 | 150 | 1.75 | 3.00 | .75 | 2.94 SHCS 5/16-18| - (4) 13FA3327
3.75” x 2.50” Flange Mount 1/4
10s 10BP2589 Caster Base Plate 3751294 | 75 | 1.00 | .50 | 1.00 SHCS 5/16-18| 1.75 (4) 13FA3305
3.75” x 3.00” Flange Mount 5/16
15s 15BP2501 Caster Base Plate 375|294 | .75 | 150 | .75 | 1.50 SHCS 5/16-18| 1.75 (4) 13FA3327
3.75” x 3.00” Flange Mount 5/16
15s 15BP2503 Caster Base Plate 3751294 | 174 | 300 | .75 | 2.63 SHCS 5/16-18| 5/16 (1) 13FA3327

Recommended Casters: 13CA8102, 13CA8103, 13CA8108, 13CA8110, 13CA8113, 13CA8114, 13CA8115, 13CA8116.

A ’ / DmThru&C-BoreFor G \
e A - \
B /
-_'\
e
oy .
D N //
Tap Thru H
Series Part No. Description A B C D E F G H | Recommended Hardware
» » . 4) 13FA3303
10s | 1oBp2sgs |37% X 250" Flange Mountl 5 75 | 4 64 | 175 | 250 | 50 | 2.94 |/42O516-18| - “)
Caster Base Plate SHCS (4) 10FA3121
; , 4) 13FA3327
155 | 15BP2500 |37% X 3.00"Flange Mountl 5 70 | 4 56 | 175 | 300 | 75 | 2.94 | /18 |516-18| - @)
Caster Base Plate SHCS (4) 15FA3501
, , 4) 13FA3303
10s | 10BP2sgg |37% X 250" Flange Mountt 5 75 | 5 04 | 75 | 100 | 50 | 1.00 |4 |5116-18] 1.75 “)
Caster Base Plate SHCS (4) 10FA3121
; , 4) 13FA3327
155 | 15BP2501 |37% X 3.00"Flange Mountl 75 | o4 | 75 | 150 | 75 | 150 | 218 |5/16-18) 1.75 “)
Caster Base Plate SHCS (4) 15FA3501
» » 1) 13FA3327
155 | 15BP2503 |37% X 300" Flange Mountl 5 75 | 5 o4 | 174 | 300 | 75 | 263 | /18 |5/16-18] 5116 )
Caster Base Plate SHCS (1) 15FA3501

Heavy Duty Caster Base Plate

Drill Thru & C-Bore For

G

‘E ! Tap Thru
Series| Part No. Description A B C D E F G H Recommended Hardware
4.0” x 5.5” Heavy Duty 5/16
158 15BP2502 Caster Base Plate 4.00 | 3.00 [ 3.00 | 550 | .75 | 1.50 |g1ing 3/8-16 (8) 13FA3327

Recommended Casters: 13CA8104, 13CA8105, 13CA8106, 13CA8107.

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 .75

www.Faztek.ca

Recommended Casters: 13CA8102, 13CA8103, 13CA8108, 13CA8110, 13CA8113, 13CA8114, 13CA8115, 13CA8116.

Heavy Duty Caster Base Plate

Drill Thru & Crésre For

‘E ! Tap Thru
Series| Part No. Description A B C D E F G H Recommended Hardware
» » 8) 13FA3327
155 | 1sBP2soz | 40 x98 HeawDuty |, 561500 | 300 | 550 | 75 | 1.50 | 16 | 316 (©)
Caster Base Plate SHCS (8) 15FA3501

Recommended Casters: 13CA8104, 13CA8105, 13CA8106, 13CA8107.

www.Faztek.ca

*non-stock parts = 1-2 week lead-time - please call for details.

-76 -

514.576.8037




Pressure Manifolds Access Hole Jig

Pressure Manifold Pressure Manifold Access Hole Jig Access Hole Jig Access Hole Jig
Drill Thru & C-bore for s P
Dril Thru & C-bore for e S < - \\\, <
G ‘ ~ A Fo™ D
B S >< E
< @
C' ~
-
L — LS o
Series Part No. Description A B C D E F G H |Recommended Hardware Series Part No. Description A B C D E F
» » i » 2) 13FA3327 * » » i -
155 15ac8706 | 157 %15 I;’rgssrrf Manifold | o o0 | 150 | 150 | 75 | 75 | 75 S5|_/|1c§3S ljlgtT (2) 15s | 15AC7500 1.5” x 3.0” Access Hole Jig 300|150 | .75 | 150 | .75
Wi oaske - 10s 10AC7401 1.0” x 2.0” Access Hole Jig 2.00 | 100 | .50 | 1.00 | 50 | .50
» » i » 2) 13FA3327 " " " .
158 15ac8707 | 157X 15 I;’rgsstlzr? Manifold | 00 | 150 | 150 | 75 | 75 | 75 SS|_/|1(§SS ':\Slf_r (2) 15s | 15AC7501 1.5" x 3.0” Access Hole Jig 300|150 .75 | 150 | .75 | .75
witsaske - 15s | 15AC7502* 3.0” x 3.0" Access Hole Jig 300|150 | .75 | 300 | .75 | .75
1.5” x 1.5” Pressure Manifold 5116 | 1/4” (2) 13FA3327
15s 15AC8712 w/ O-Ring 3.00 | 1.50 | 1.50 75 .75 75 sHes| NPT (2) 15FA3501
1.5” x 1.5” Pressure Manifold 5/16 | 3/8” (2) 13FA3327
15s 15AC8713 w/ O-Ring 3.00 | 150 | 150 | .75 | .75 | 75 | ~c| NPT (2) 15FA3501
. | 3.0" x 3.0” Pressure Manifold 5/16 | 1/4” (4) 13FA3327
15s 15AC8710 w/ Gasket 3.00 | 1.50 | 1.50 75 .75 - sHes| NPT i
. | 3.0”x 3.0” Pressure Manifold 5/16 | 3/8" (4) 13FA3327
15s | 15AC8711 wi Gasket 300 | 150|150 | .75 | .75 - |sucs| npT -
. | 3.0" x 3.0” Pressure Manifold 5116 | 1/2 (4) 13FA3327
15s | 15AC8727 wl Gasket 300|150 (150 | .75 | .75 - |snhecs| npT -
. | 3.0"x 3.0” Pressure Manifold 5/16 | 1/4” (4) 13FA3327
15s | 15AC8715 w/ O-Ring 300|150 (150 | .75 | .75 - |sucs| npr (@) 15FA3501
. | 3.0"x3.0” Pressure Manifold 5/16 | 3/8" (4) 13FA3327
15s 15AC8716 w/ O-Ring 3.00 | 1.50 | 1.50 75 75 - sHes| NPT (4) 15FA3501
Blank Pressure Manifold Blank Pressure Manifold
Drill Thru & C-bore for*‘ Drill Thru & C-bore{or
) . F.
Do = 4
= <
C A
Series Part No. Description A B C D E F G__|Recommended Hardware
1.5” x 3.0” Blank Pressure 5/16 (2) 13FA3327
15s 15AC8709 Manifold w/ Gasket 3.00 | 1.50 | 1.50 75 .75 75 SHCS i
1.5” x 3.0” Blank Pressure 5/16 (2) 13FA3327
15s 15AC8714 Manifold w/ O-Ring 3.00 | 150 [ 1.50 [ .75 | 75 | .75 [qoe (2) 15FA3501
. 3.0" x 3.0” Blank Pressure 5/16 (4) 13FA3327
15s 15AC8708 Manifold w/ Gasket 3.00 | 1.50 - 75 .75 - SHCS i
. 3.0” x 3.0” Blank Pressure 5/16 (4) 13FA3327
15s | 15AC8717 Manifold w/ O-Ring 3.00 | 1.50 - 75 | .75 - |shes (@) 15FA3501
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -77 - www.Faztek.ca www.Faztek.ca -78 - 514.576.8037



Casters Casters

Swivel Caster w/ Brake Rigid Caster w/o Break Threaded Stem Caster w/ Brake Triangle Top Plate Caster w/ Brake Leveling Caster w/ Base Plate
Total Lock Brake F — H — H
G I
- |
ED e c
H A ’—l GF
c EL c
r ‘ 5
B - D~ B/ _‘ D& DE A
Series Part No. Description A B C D E F G H |Capacity|Recommended Hardware Series| Part No. Description A B c D E F G H | _|Capacity|Recommended Hardware
y o (4) 13FA3325 2” Threaded Stem Caster w/ 2.00| 3/8-16 -
13s | 13cas11z [3° S"""’e'(gf:;f”"’/ Brake| 4 625 35?/2 363 | 250 | 1.75 | 3.063 2813 | .340 | 250 Ibs | Base Plates: 158P2500. 13s | 13CA8100 Brake (Black) 250 pia| x15 |8 - | - | | o | B .
15BP2501, or 15BP2503
) 13FA335 13s | 13CA8101 5” Threaded Stem Caster w/ 5.75 5.00| 7/16-14 100| - ) ) ) ) 125 Ibs -
4" Swivel Caster w/ Brake 4.00 “) Brake (Black) DIA] x1.5 -
13s | 13CA8102 513 3.625|2.375| 1.75 | 3.00 | 2.75 | .340 | 275 Ibs | Base Plates: 158P2500
(Dark Red) DIA P raalos: OB (3) 13FA3325
’ 4” Trinagle Top Plate Caster 4.00| Thru for
e . @) 13FA3325 13s | 13cAs118 w Brake (Gray) 573 | Dia | 5116 shos | 153 | 125|213 | 75 [5.49 [ 3.49 | 2501bs (3) 13FA3700
13s | 13CA8115* (Dark Red) 6.13 | 5,a |3625(2672| 1.75 | 3.06 | 2.81 | .340 | 275Ibs | Base Plates: 15BP2500, (3) 15FA3501
15BP2501, or 15BP2503 " Leveli -
@) 15FA335 13s | 13cA8120* | 2 "e"e"”gp(l::tzter""/ Base | 327]1.97 '%?WB'A 1.73| 87 |2.87[2.28 [2.87 | 2.28| 300 Ibs
- 5” Swivel Caster w/ Brake 5.00
13s | 13CA8108 Grey) 6.19 | 5a | 3625|2375 175 | 3.06 | 2.81 | 340 | 325 bs | Base Plates: 15BP2500, 3" Leveling Caster w/ Base 320 DIA }
15BP2501, or 15BP2503 13s | 13CA8124* Plate 4.0212.44 .Thru 2401114 13.54|3.54|3.54|2.76 | 600 Ibs
3.5” Rigid Caster w/o Brak 3.50 (4) 13FA3325
13s | 13cAst14* |22 N9 (grsa?;w° rake| 4 625 i | 363 | 250 | 1.75 | 3.063|2.813 | 340 | 250 Ibs | Base Plates: 15BP2500,
15BP2501, or 15BP2503
4" Rigid Caster w/o Brak 4.00 (4) 13FA3325
13s | 13CcA8103 1910 Laster wio Brake | g 43 | *09 [3.625|2.672| 1.75 | 3.06 | 2.81 | .340 | 275 Ibs | Base Plates: 158P2500
(Dark Red) DIA : )
15BP2501, or 15BP2503
5 Rigid Caster w/o Brak 5.00 (4) 13FA3325
13s | 13CA8116* 1910 Laster Wio Brake | g 43 | 279 [3.625|2.484 | 1.75 | 3.06 | 2.81 | 340 | 275 Ibs | Base Plates: 158P2500
(Dark Red) DIA : '
15BP2501, or 15BP2503
5 Rigid Caster w/o Brak 5.00 (4) 13FA3325
13s | 13CA8110* 9! (aér:;)‘” oBrake | 619 i | 3625|250 | 1.75 | 3.06 | 281 | 340 | 3251bs | Base Plates: 15BP2500,
15BP2501, or 15BP2503
Heavy Duty Swivel Caster w/ Brake Heavy Duty Rigid Caster w/o Break
H
D E
A
G
F
C
B
Series Part No. Description A B C D E F G H |Capacity|Recommended Hardware
, i 4) 13FA3340
13s | 13cAgto4r [0 Heavy Duty Swivel Caster| ¢ 5 | 500 f 4 50 | 400 | 262 | 362 | 3.00 | 44 | 3751bs )
w/ Brake (Black) DIA Base Plates: 15BP2502
, : 4) 13FA3340
13s | 13cagtos+ [0 Heavy Duty Swivel Caster| ¢ 5 | 500 f 4 50 | 400 | 262 | 362 | 3.00 | 44 | 9001bs )
w/ Brake (Dark Red) DIA Base Plates: 15BP2502
, iqi 4) 13FA3340
13s | 13cagtoe* |2 Heavy Duty Rigid Caster| ¢ 5 | 500 f 4 50 | 400 | 262 | 362 | 3.00 | 44 | 3751bs )
w/o Brake (Black) DIA Base Plates: 15BP2502
» iqi 4) 13FA3340
13s | 13cagto7+ |3 Heavwy Duty Rigid Caster| g 5 | 500 f 4 50 | 400 | 262 | 362 | 3.00 | 44 | 9001bs )
w/o Brake (Dark Red) DIA Base Plates: 15BP2502
*non-stock parts = 1-2 week lead-time - please call for details. *non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037 -79- www.Faztek.ca www.Faztek.ca - 80 - 514.576.8037




Endcaps Accessories
Endcap Endcap T-Slot Cover Anti-Skid Cover Rubber Pad
P ~ A B A
AT ,‘ A ’_ | _[B
~ ! ci 3T |
\
> ! ! B
> . | | ) :
- C |~
\/
Series| Part No. Description A B Machining Required Included Hardware Series| Part No. Description A B C Stock Length
10s 10AC773 1.0" x 1.0” Endcap 1.00 | 1.00 | No Machining Required (1) 10AC7736 10s 10AC7750 Yellow T-Slot Cover 43 .21 .25 96"
10s 10AC7630 1.0” x 1.0” Heavy Duty Endcap 1.00 | 1.00 10MA9010 (1) 13FA3300 10s 10AC7751 Black T-Slot Cover 43 .21 .25 96"
15s 15AC7925 1.5” x 1.5” Endcap 1.50 | 1.50 | No Machining Required (1) 15AC7934 10s 10AC7753 Gray T-Slot Cover 43 .21 .25 96"
15s 15AC7825 1.5” x 1.5” Heavy Duty Endcap 1.50 | 1.50 15MA9050 (1) 13FA3322 15s 15AC8750 Yellow T-Slot Cover .50 24 .25 96”
15s 15AC7946 1.5” x 1.5” SM Profile Endcap 1.50 | 1.50 | No Machining Required (1) 15AC7946 15s 15AC8751 Black T-Slot Cover .50 24 .25 96”
15s 15AC7846 1.5" x 1.5” Heavy Duty SM Profile Endcap | 1.50 | 1.50 15MA9077 (1) 13FA3338 15s 15AC8753 Gray T-Slot Cover .50 .24 .25 96"
40s 40AC7925 40mm x 40mm Endcap 40.00 | 40.00 | No Machining Required No Hardware Required 15s 15AC8776 Black Anti-Skid Cover 1.22 .16 .04 Priced Per Foot
10s 10AC7732 1.0” x 2.0” Endcap 2.00 | 1.00 | No Machining Required (2) 10AC7736 15s 15AC8778 Black Rubber Pad 1.41 .35 - Priced Per Foot
10s 10AC7632 1.0” x 2.0” Heavy Duty Endcap 2.00 | 1.00 10MA9051 (2) 13FA3300
15s 15AC7930 1.5” x 3.0” Endcap 3.00 1.50 No Machining Required (2) 15AC7934 Rubber Panel Gasket U-Shaped Panel Gasket Rubber Door Seal
15s 15AC7830 1.5” x 3.0” Heavy Duty Endcap 3.00 | 1.50 15MA9051 (2) 13FA3322 B —
40s 40AC7930 40mm x 80mm Endcap 40.00 | 80.00 | No Machining Required No Hardware Required T
10s 10AC7734 2.0” x 2.0” Endcap 2.00 | 2.00 | No Machining Required (4) 10AC7736 , } .
10s 10AC7634 2.0” x 2.0" Heavy Duty Endcap 2.00 | 2.00 10MA9052 (4) 13FA3300 N 4 J A ‘Q w €
— A | @ |
15s 15AC7932 3.0” x 3.0” Endcap 3.00 | 3.00 | No Machining Required (4) 15AC7934 | @ * - - ‘; -
15s 15AC7832 3.0” x 3.0” Heavy Duty Endcap 3.00 | 3.00 15MA9022 (4) 13FA3322 | ¥V 4 | % ‘[ L p %N x
1” Endcap Series Part No. Description A B Stock Length
10s 10AC7800 Rubber Panel Gasket .250 - Priced Per Foot
15s 15AC8770 Rubber Panel Gasket 375 - Priced Per Foot
15s 15AC7310 U-Shaped Plastic Panel Gasket .375 - 96”
15s 15AC8782 Rubber Door Seal 25 .50 Priced Per Foot
Wire Safety Edging Sound Absorbing Material
A
Series Part No. Description A B C Iﬂ$ -
Faztube| 13FT9201 1” Faztube Endcap 1.07 | .87 .20 \ .
1 E |
B | A
D - c -

Series Part No. Description A B C D E F Stock Length Stock Width
13s 13AC7702 Wire Safety Edging Material .06 .16 .50 .37 24 .25 Priced Per Foot -
13s 13AC7268 Rubber Stop 148 | .38 .75 .26 .75 - - -
13s 13AC8700* Sound Absorbing Material 1.00 - - - - - Priced Per Foot 54”

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-81 -

www.Faztek.ca

*non-stock parts = 1-2 week lead-time - please call for details.

www.Faztek.ca

-82 -

514.576.8037




90° Connector

Tee Connector

A

A
B

~
Series Part No. Description A B C
Faztube|] 13FT9220 1” 90° Connector 1.00 | 2.10 | 0.87
Faztube] 13FT9230 1” Tee Connector 1.00 | 3.20 | 0.87
Faztube] 13FT9250 1” 3-Way Connector 1.00 | 2.10 | 0.87

4-Way Connector
A

Straight Base Connector
T

e

Accessories
Drop-In Cable Tie Block Universal Cable Tie Block Door Strap
A D P
| \ E A 66
— & : FE
EL F | b N
‘ ¢ B’ e
X
e
G C
Series| Part No. Description A B (% D E F G H |__|Recommended Hardware
15s 15AC7305 Drop-In Cable Tie Block 77 a7 .08 .24 .15 .33 43 - - Hardware Included
13s 13AC7309 Universal Cable Tie Block .59 .30 ngés .87 .35 .21 .65 | 43 |R.59 Hardware Included
(2) 13FA3331
15s 15AC7972 | 2 Hole Removable Door Strip | 1.50 | .25 gﬁf 3.00 | 255 | 1.50 | .75 - - (1) 15FA3501
(1)15FA3505
Door Catch Table Top Mounting Bracket Akrobin Container Hanger
s N ‘ A
< Ry B
N A  F —l pd 5= C
P o, ™ ‘j E g J\ l
/// ) « S o L [
<< c e \>\ F—a - e é \C-S|N+|<: FOR H~ =
B ‘\C \>// \\ /\{\\ D . ’\,/// D - L'
> Y C 7= 1y
Series Part No. Description A B C D E F G H 1 J |Recommended Hardware
(2) 13FA3309
10s 13AC7800 Door Catch Plate 1.002.00|1.50|2.00|1.00| .281DIA - - - -
(2) 10FA3121
(2) 13FA3309
15s 13AC7800 Door Catch Plate 1.002.00]1.50(2.001.00| .281 DIA - - - -
(2) 15FA3506
15s 13AC7816 Table Top Mounting Bracket | .50 |.844]11.3111.50]1.50| .34 DIA - - - - 15s Hardware Included
13s 13AC2101 6” Akrobin Container Hanger| - |6.00|4.75]11.25|1.50 |1/4 FHSCS| .75 | .25 | .38 | .09 Hardware Included
13s 13AC2102 |12” Akrobin Container Hanger|12.00{10.00| 6.00 [ 2.00 | 1.50 |1/4 FHSCS| .75 | .25 | .38 | .09 Hardware Included
Tool Hanger Tool Hanger Clip
A
1
B
Series Part No. Description A B c D E E G Capacity
10s 10AC7760 Tool Hanger 2.00 | .47 | .34DIA| .72 .36 | 1.10 | 1.29 75 Ibs
15s 15AC8760 Tool Hanger 3.00| 63 | 50DIA| 1.00 | .45 | 1.60 | 1.85 75 Ibs
15s 15AC8758* Tool Hanger Clip 1.13 | 2.38 - - - - - -
*non-stock parts = 1-2 week lead-time - please call for details.
514.576.8037 -83- www.Faztek.ca

Accessories

3-Way Connector

Metal Threaded Insert

Series| Part No. Description A B C D
Faztube| 13FT9245 1” 4-Way Connector 1.00 | 2.74 | 0.87
Faztube] 13FT9253 1” Straight Base Connector 1.012| .99 | 0.87 |0.825
Faztube| 13FT9223 1/4-20 Metal Threaded Insert 0.87 | 0.87 - -
*non-stock parts = 1-2 week lead-time - please call for details.
www.Faztek.ca -84 -

514.576.8037



Ball End T-Handle Driver

T-Handle Driver

Part No. Description Size
13TL1201 Ball End T-Handle Driver 3/16”
13TL1202 Ball End T-Handle Driver 1/4”
13TL1203 Ball End T-Handle Driver 5/32”
13TL1206 Ball End T-Handle Driver M4
13TL1207 Ball End T-Handle Driver M5
13TL1208 Ball End T-Handle Driver M6
13TL1210* T-Handle Driver 5/32”
13TL1301 Ball End Hex Wrench 3/16”
13TL1302 Ball End Hex Wrench 1/4”
13TL1303 Ball End Hex Wrench 5/32”
13TL1306 Ball End Hex Wrench M4
13TL1307 Ball End Hex Wrench M5
13TL1308 Ball End Hex Wrench M6

Ball End Power Bits Ball End Sets
@ =onpHuUs
S—

Part No. Description Size
13TL1501 Ball End Power Bit 3/16”
13TL1502 Ball End Power Bit 1/4”
13TL1801 Ball End Power Bit M5
13TL1802 Ball End Power Bit M6
13TL1401 Ball End Fold Out Standard
13TL1402 Ball End Fold Out Metric

*non-stock parts = 1-2 week lead-time - please call for details.

514.576.8037

-85 -

Ball End Hex Wrenches

www.Faztek.ca

www.Faztek.ca

- 86 -

514.576.8037



Part Number Index

Part Number Page Part Number Page
10AC7401 78 10CB4103 35
10AC7630 81 10CB4104 36
10AC7632 81 10CB4105 40
10AC7634 81 10CB4106 36
10AC773 81 10CB4107 40
10AC7732 81 10CB4108 40
10AC7734 81 10CB4113* 36
10AC7750 82 10CB4117* 37
10AC7751 82 10CB4121* 36
10AC7753 82 10CB4221 37
10AC7760 83 10CB4223* 37
10AC7762 61 10CB4224* 38
10AC7800 82 10CB4225* 38
10AC7806 66 10CB4226 37
10AC7807* 67 10EX1010 17
10AC7810 66 10EX1020 18
10AC7814* 66 10EX1030 18
10AC7817* 66 10EX2020 18
10AC7820 67 10FA3100 29
10AC7901 21 10FA3101 29
10AC7902 21 10FA3102 29
10AC7950 63 10FA3103 29
10AC7953* 63 10FA3104 29
10AC7955 63 10FA3106 30
10AC7976 61 10FA3121 29
10AC7980 61 10FA3122 29
10BP2560* 72 10FA3123 29
10BP2564* 71 10FA3124 29
10BP2565 71 10FA3125 29
10BP2566* 71 10FA3128 29
10BP2567* 71 10FA3129 29
10BP2568 72 10FA3130 29
10BP2569* 72 10FA3700 33
10BP2570* 72 10FA3705 33
10BP2571* 72 10FAC3750 33
10BP2572* 72 10FAC3755 33
10BP2573* 72 10FF5611 69
10BP2575* 71 10FF5612 69
10BP2576* 71 10FF5613* 69
10BP2577* 72 10FF5820* 69
10BP2578* 72 10FF5821* 70
10BP2579* 72 10FF5823 70
10BP2588 75 10H17810 52
10BP2589 75 10H17820 52
10CB4100 35 10H18216 51
10CB4101 40 10HI8260* 53
10CB4102 35 10H18262* 53

514.576.8037

-87-

Part Number Page
10HI8300 53
10H18302 53
10HI8304 54
10H18306 53
10H18308 53
10H18310 53
10H18312 54
10HI8313 54
10H18315 54
10HI8317 53
10H18320 54
10H18321* 56
10HI8322* 58
10H18323* 56
10HI8324 57
10H18325* 58
10H18326* 56
10HI8327* 57
10H18328* 58
10H18329* 56
10H18330* 57
10H18331* 58
10HI8332* 56
10H18333* 57
10H18334* 58
10H18335* 56
10H18336* 57
10HI8337* 58
10H18338 54
10HI8339* 57
10H18350 55
10H18351 55
10HI8352 55
10H18353* 59
10H18355* 59
10H18357* 59
10H18359* 59
10HI8361* 59
10H18363* 59
10H18365* 60
10H18367* 60
10H18370* 60
10HI8372* 60
10JP4201 41
10JP4202 41
10JP4203 44
10JP4204 45

Part Number Index

Part Number Page
10JP4205 45
10JP4208 43
10JP4209* 48
10JP4210* 47
10JP4211* 49
10JP4212* 47
10JP4213 41
10JP4214* 46
10JP4216* 48
10JP4217* 47
10JP4218* 47
10JP4220* 46
10JP4226* 45
10JP4227* 47
10JP4229* 43
10JP4230 43
10LM8420 62
10MA9000 22
10MA9001 22
10MA9002 22
10MA9003 22
10MA9010 22
10MA9020 24
10MA9021 24
10MA9022 24
10MA9025 25
10MA9026 25
10MA9027 25
10MA9030 26
10MA9031 26
10MA9032 25
10MA9033 26
10MA9035 23
10MA9051 22
10MA9052 22
10MA9053 22
10MA9054 22
10MA9055 22
10MA9056 22
10MA9058 22
10MA9072 25
10MA9083 26
10MA9084 26
10MA9085 26
10MFA3125 30
10MFA3201 30
10MFA3202 30

www.Faztek.ca

Part Number Page
10MFA3203 30
10MFA3207 30
10MFA3925 30
10QE1010 17
10QE1020 18
10QE1030 18
10QEA1010 17
10QEB1010 17
10QEM1010 17
10SP1801 50
10SP1802 50
10SP1803 50
10SP1804 50
10SP1805 50
10SP1806 50
10SP1811 50
10SP1812 50
10SP1813 50
10SS7000* 20
10SS7001 21
10SS7002* 20
10SS7003 21
10SS7004 21
10SS7007 20
10SS7008 20
10SS7009 20
10SS7011 20
10SS7012 20
10SS7013 20
10SS7014 20
10SS7015 20
10SS7016 20
10SS7017 20
10SS7018 20
10SS7021 20
10SS7022 20
10SS7023 21
13AC2101 83
13AC2102 83
13AC7268 82
13AC7300 63
13AC7301 63
13AC7302 63
13AC7305* 63
13AC7309 83
13AC7327* 63
13AC7364 61

Part Number Page
13AC7500* 68
13AC7501* 68
13AC7502* 68
13AC7503* 68
13AC7504* 68
13AC7505* 68
13AC7506* 68
13AC7507* 68
13AC7508* 68
13AC7509* 68
13AC7510* 68
13AC7511* 68
13AC7702 82
13AC7720 21
13AC7722 21
13AC7800 83
13AC7816 83
13AC8700* 82
13CA8100 80
13CA8101 80
13CA8102 79
13CA8103 79
13CA8104* 79
13CA8105* 79
13CA8106* 79
13CA8107* 79
13CA8108* 79
13CA8110* 79
13CA8113 79
13CA8114* 79
13CA8115* 79
13CA8116* 79
13CA8118 80
13CA8120* 80
13CA8124* 80
13CB5000 39
13CB5001* 39
13CB5002 39
13CP0082* 65
13FA2708 31
13FA3110 31
13FA3111 31
13FA3112 30
13FA3113 30
13FA3116 31
13FA3117 31
13FA3122 31

www.Faztek.ca

Part Number Page
13FA3124 31
13FA3126 31
13FA3127 31
13FA3128 31
13FA3129 31
13FA3300 31
13FA3301 31
13FA3302 31
13FA3303 31
13FA3304 31
13FA3305 31
13FA3306 31
13FA3308 31
13FA3309 31
13FA3310 31
13FA3311 31
13FA3313 31
13FA3316 31
13FA3319 31
13FA3321 31
13FA3322 31
13FA3323 31
13FA3324 31
13FA3325 31
13FA3326 31
13FA3327 31
13FA3328 31
13FA3329 31
13FA3330 31
13FA3331 31
13FA3332 31
13FA3334 31
13FA3335 31
13FA3336 31
13FA3337 31
13FA3338 31
13FA3340 31
13FA3342 31
13FA3350 31
13FA3351 31
13FA3352 31
13FA3353 31
13FA3354 31
13FA3360 31
13FA3362 31
13FA3363 31
13FA3365 31

Part Number Page
13FA3374 31
13FA3376 31
13FA3377 31
13FA3600 31
13FA3602 31
13FA3603 31
13FA3604 31
13FA3605 31
13FA3606 31
13FA3607 31
13FA3608 30
13FA3609 30
13FA3610 30
13FA3611 30
13FA3612 31
13FA3700 30
13FA3701 30
13FA3704 30
13FA3705 31
13FA3706 31
13FA3707 31
13FA3709 31
13FA3710 31
13FA3712 30
13FA3715 31
13FA3716 31
13FF8113* 70
13FF8114* 70
13FF8115* 70
13FF8116* 70
13FF8117 70
13FF8118 70
13FF8119 70
13FF8120* 70
13FF8122 70
13FF8126 70
13FF8128 70
13FF8129 70
13FF8131 70
13FF8132 70
13FF8133 70
13FT9000 19
13FT9025 19
13FT9030 19
13FT9201 81
13FT9220 84
13FT9223 84

514.576.8037




Part Number Index

Part Number Page Part Number Page
13FT9230 84 13MFA3655 32
13FT9245 84 13MFA3656 32
13FT9250 84 13MFA3657 32
13FT9253 84 13PA8309 65
13FT9295 52 13PA8310 65
13H13101 51 13PA8311 65
13H18100 51 13PA8312 65
13HI8104 51 13PA8313 65
13JP6000* 42 13PA8314 65
13JP6001* 42 13PA8320 65
13JP6002 42 13PA8321 65
13MA9080 26 13PA8322 65
13MA9081 26 13PA8324 65
13MA9088 26 13PA8326 65
13MA9089 26 13PA8340* 65
13MA9090 26 13PA8341* 65
13MA9091 26 13PA8342* 65
13MA9092 26 13PA8343* 65
13MA9094 26 13PA8344* 65
13MFA3600 32 13PA8345* 65
13MFA3602 32 13PA8346* 65
13MFA3605 32 13PA8347* 65
13MFA3606 32 13PA8380 65
13MFA3607 32 13PA8386 65
13MFA3608 32 13SS8001 20
13MFA3611 32 13TL1201 85
13MFA3612 32 13TL1202 85
13MFA3613 32 13TL1203 85
13MFA3614 32 13TL1206 85
13MFA3615 32 13TL1207 85
13MFA3616 30 13TL1208 85
13MFA3617 30 13TL1210* 85
13MFA3618 32 13TL1301 85
13MFA3619 32 13TL1302 85
13MFA3620 30 13TL1303 85
13MFA3621 32 13TL1306 85
13MFA3622 30 13TL1307 85
13MFA3624 32 13TL1308 85
13MFA3640 32 13TL1401 85
13MFA3641 32 13TL1402 85
13MFA3642 32 13TL1501 85
13MFA3643 32 13TL1502 85
13MFA3644 32 13TL1801 85
13MFA3645 32 13TL1802 85
13MFA3646 32 15AC7105 66
13MFA3647 32 15AC7110 66
13MFA3648 32 15AC7113 66

514.576.8037

-89-

Part Number Page
15AC7117 66
15AC7118* 66
15AC7119 66
15AC7305 83
15AC7310 82
15AC7500* 78
15AC7501* 78
15AC7502* 78
15AC7825 81
15AC7830 81
15AC7832 81
15AC7846 81
15AC7925 81
15AC7930 81
15AC7932 81
15AC7946 81
15AC7950 63
15AC7951* 63
15AC7953* 63
15AC7955 63
15AC7956 63
15AC7966 61
15AC7972 83
15AC7976 61
15AC7980 61
15AC8702 67
15AC8705 67
15AC8706 77
15AC8707 77
15AC8708* 77
15AC8709 77
15AC8710* 77
15AC8711* 77
15AC8712 77
15AC8713 77
15AC8714 77
15AC8715* 77
15AC8716* 77
15AC8717* 77
15AC8727* 77
15AC8745 61
15AC8748 67
15AC8750 82
15AC8751 82
15AC8753 82
15AC8758* 83
15AC8760 83

Part Number Index

Part Number Page
15AC8762 61
15AC8770 82
15AC8776 82
15AC8778 82
15AC8780 21
15AC8781 21
15AC8782 82
15AC8800 68
15AC8801 68
15AC8802 68
15AC8850 64
15AC8852 64
15BP2500 75
15BP2501 75
15BP2502 75
15BP2503 75
15BP2550* 71
15BP2552* 72
15BP2553 71
15BP2553* 71
15BP2561 71
15BP2562 71
15BP2563* 72
15BP2564* 71
15BP2580 71
15BP2583 72
15BP2584* 72
15BP2585 72
15BP2587* 72
15BP2588* 74
15BP2589* 74
15BP2590* 74
15CB4000 37
15CB4001 38
15CB4002 37
15CB4003* 38
15CB4004* 38
15CB4005 37
15CB4801 35
15CB4802 35
15CB4803 36
15CB4804 35
15CB4805 36
15CB4806 36
15CB4808* 36
15CB4811* 37
15CB4812* 37

www.Faztek.ca

Part Number Page
15CB4813* 37
15CB4815 36
15CB4816 36
15CB4840 40
15CB4841 40
15CB4842 40
15CB4843 40
15CB4844 40
15CB4846 38
15CB4870 38
15EX1515 17
15EX1515L 17
15EX1515UL 17
15EX1530 18
15EX1530L 18
15EX1545 18
15EX3030 18
15EX3030L 18
15EX3060 19
15FA3403 29
15FA3405 29
15FA3407 29
15FA3501 29
15FA3502 29
15FA3503 29
15FA3504 29
15FA3505 29
15FA3506 29
15FA3507 29
15FA3509 29
15FA3510 29
15FA3511 29
15FA3513 29
15FA3520 29
15FA3522 29
15FA3532 29
15FA3534 29
15FA3536 29
15FA3538 29
15FA3540 29
15FA3542 29
15FA3544 29
15FA3600 29
15FA3602 29
15FA3603 29
15FA3610 33
15FA3615 33

Part Number Page
15FAC3865 33
15FAC3880 33
15FAC3882 33
15FAC3884 33
15FAC3886 33
15FAC3888 33
15FAC3890 33
15FAC3891 34
15FAC3894 33
15FF5814 69
15FF5815* 69
15FF5816 69
15FF5818* 69
15FF5824 69
15FF5830 70
15FF5833 70
15FF5835 69
15FF5838* 70
15HI8514 51
15H18515 52
15HI8518 51
15H18527* 51
15H18550* 52
15H18560* 53
15H18562* 53
15HI8700 53
15H18704 52
15H18712 53
15HI8725 52
15H18726 52
15HI8755 51
15H18756 51
15H18757 51
15H18800 53
15H18802 54
15H18803 53
15H18805 54
15H18806 53
15H18808 54
15H18810 54
15HI18812 53
15H18814 53
15H18816 53
15H18820* 56
15H18821* 57
15HI18822* 58
15H18823* 56

www.Faztek.ca

Part Number Page
15H18824* 57
15H18825* 58
15H18826* 56
15H18827* 57
15H18828* 58
15H18829* 56
15H18830* 57
15HI8831* 58
15H18832* 56
15H18833* 57
15H18834* 58
15H18835* 56
15HI8836* 57
15H18837* 58
15H18850 54
15H18852 54
15H18860 55
15HI8861 55
15H18862 55
15H18863* 59
15H18865* 59
15H18867* 59
15HI8869* 59
15H18871* 59
15H18873* 59
15H18879* 60
15H18881* 60
15HI8883* 60
15H18885* 60
15JP4500 41
15JP4500* 44
15JP4502 41
15JP4503 41
15JP4504 43
15JP4505 44
15JP4506 45
15JP4507 45
15JP4508* 46
15JP4509 43
15JP4510 48
15JP4511* 46
15JP4513* 49
15JP4514* 48
15JP4515* 49
15JP4516* 47
15JP4517 45
15JP4518* 44

Part Number Page
15JP4519* 46
15JP4520 48
15JP4521* 47
15JP4522* 47
15JP4523* 46
15JP4524* 45
15JP4525* 44
15JP4526* 47
15JP4527* 45
15JP4528* 45
15JP4529* 44
15JP4530* 47
15JP4531* 48
15JP4532* 44
15JP4533* 46
15JP4534 43
15JP4535 47
15JP4536* 48
15JP4537* 49
15JP4538* 46
15LM8520 62
15LM8530 62
15LM8532 62
15LM8536 62
15LM8540* 62
15LM8544* 62
15LM8546* 62
15MA9006 22
15MA9007 22
15ma9008 22
15MA9009 22
15MA9011 22
15MA9020 22
15MA9021 22
15MA9022 22
15MA9023 22
15MA9024 22
15MA9046 22
15MA9047 22
15MA9050 22
15MA9051 22
15MA9052 22
15MA9053 22
15MA9054 22
15MA9055 22
15MA9056 22
15MA9057 22

514.576.8037




Part Number Index

Part Number Page Part Number Page Part Number Page Standard UPS DeIivery Map

15MA9058 22 15QEB1515L | 17 15858012 20

15MA9059 22 15QEM1515L 17 15888015 20

15MA9060 24 15QET1515L 17 15SS8016 20

15MA906 1 24 15SM1515 17 15858018 20

15MA9062 26 15SM1515L 17 15558019 20

15MA9063 25 15SP1850 50 15858020 20

15MA9065 25 15SP1851 50 15888035 20

15MA9066 25 15SP1852 50 15858043 21

15MA9067 25 15SP1853 50 15858045 21

15MA9068 26 15SP1854 50 15858048 20

15MA9069 26 15SP1855 50 40AC7925 81

15MA9071 23 15SP1856 50 40AC7930 81

15MA9072 25 158P1857 50 40BP2520* 71

15MA9073 24 15SP1860 50 40BP2521* 71

15MA9074 23 15SP1861 50 40BP2522* 71

15MAQ077 22 15SP1862 50 40CB4801 35

15MA9083 26 15SP1863 50 40CB4802* 35

15MA9084 26 15SP1865 50 40CB4803* 36

15MA9085 26 15SP1866 50 40CB4804* 35

15MFA3802 30 15SP1867 50 40CB4805* 36

15MFA3803 30 15SP1868 50 40CB4806* 36 UPS and the UPS brandmark are registered trademarks that are used with permission by its owner, United Parcel
15MFA3804 30 15SP1870 50 40FF5814* 69 Service of America, Inc. All rights reserved.
15MFA3900 30 15SP1871 50 40FF5816* 69

15MFA3902 30 15SP1872 50 40HI8530* 51 Shipping Information

15MFA3920 30 158P1873 50 40H18540* 52

15MFA3921 30 15SP1874 50 40JP4501* 41 Faztek has strong relationships with several reliable shipping carriers. Please call Faztek for carrier recommendations.
15MFA3922 30 15SP1875 50 40JP4502* 41

15MFA3923 30 15SP1876 50 40JP4504* 43 1. Small Packages:

15MFA3925 30 15SP1877 50 40JP4506* 45 Guidelines for shipping via UPS

15MFA3926 30 15SP1878 50 40JP4507* 45 - Any package shorter than 100”

15MFA3928 30 15SP1879 50 40JP4509 43 - No skids

15MFA3938 | 30 15SP1880 50 40QE4040UL | 17 - 150 Ibs per box maximum

15MFAC3710 | 33 15SP1881 50 40QE4080UL | 18 - Any panel(s) with a girth size of less than 130”
15MFAC3720 | 33 155P1882 50 Girth = length + (width * 2) + (height * 2)
15MFAC3728 | 33 15SP1883 50 2 LTL Carriers

15QE1515 17 15SP1884 50

15QE1515L 17 155P1885 50 Guidelines for shipping via LTL

15QE1515UL | 17 155S8000* 20 - Skids under 120” x 90” x 86”

15QE1517L 17 15558001 20 - No skids taller than the width of the skid
15QE1530 18 15858002 21

15QE1530L 18 15SS8003 21

15QE 1545 18 15858004 21

15QE1575 17 15SS8005 21

15QE3030 18 15SS8008 20

15QE3030L 18 15858009 20

15QE3060 19 15858010 20

15QEA1515L | 17 15SS8011 20

514.576.8037 -91 - www.Faztek.ca www.Faztek.ca -92 - 514.576.8037



Notes Notes

514.576.8037 -93- www.Faztek.ca www.Faztek.ca -94 - 514.576.8037





